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Chapter 01

Unit01» 1, 2, 3GA Z4f |
~Grammar Check-Up >sBp.9

01 1)entered 2)strange 3)to go, skiing

)

02 1) discussed about — discussed

2) married with — married

3) beautlfully — beautiful
03 1) LIRYS0| 7H20)= w2k w2ty Haich (234)
) Zlb =30 SE=Z i GEA)
) Uitol| of OkSol| St 2471 B3t ATt (154)
04 1) He reached Gangnam Express Bus Terminal.

2) They attended the meeting yesterday.

3) She decided to go on a diet.

1
2
3

01 1) 1= o7 |42 Soiich
2) %2 oledsiA Sict
3) = A7IS El2f 71 ISt
* enteri= EFSAIO|S2 MX|AF 10| SX{047t 2Lt go= AFSA|2Z Fof
intoS Mok EX0{7t 2 4 QUCt sounde EEAPZH 20{2 2Ct wante
toRH™AIZL 22{0{2 2Ct go -inge ~atd 7ichak= ol

02 1)Rale= —¢—é 20 thsll =23t
2) L§ El7t= E7te| gRie 2=
3)2&M Eil*i 22 4= o< OFSCHY Bolch
* discuss, marry= EFSAIO|22 HX|ALR} B4 AX| §H=Ch look2 SEAE
Hol2 20t
03 *1) The leaves turn red and yellow in fall.
o)  (EAD (=09) (=4lo])
2) He hoped to win the lottery.

(501) (BAh (Z=lod)
3)Once there lived an ugly princess in a village.
(5=A101) (REEAD (BAD (F09) (=4l0d)
04 *reach, attend= EFSAI0|22 FX|ALR} 8| MX| QH=C}. decide=

toREAIZH =X{0i= 20t

Unit 02 » 4, 53A] FAt
Grammar Check-Up > SBp.11

01 1)for 2)laugh 3)sad 4)to take

)

02 1) He asked my sister's name of me.
2) She bought a red wallet for her mother.
3) Jimin sent me a parcel.

03 1)tome — me
2) to ring — ring/ringing
3) carry — carried

04 1) 1= 19| Zoi|| 50t S AS BHS0] FUCH (454)
2) = 12| T2 QmuoR BSUC (53A)

05 1) She saw him walk/walking in the rain.
2) I want her to marry him.

01 1) Juf= oftfolZoll R E M FHd|0| M2 BHS0f =&ICE
2) 4= B4 LIS A $ich
3) 1 Pah= 22|15 £2A ot
4) 3= LA 22 Hoatn St
* 45Al0f| AQ1 makes 384! 2& 02 HEE mf (make + ZFH=2X{0{ + for
+ 22 x0f) FEHZ 20t makeZt SEA| MY = SARIED FHSATL
Sx7 H0{2 2L}, advise= toR™ADE ESXZ 202 2Cf,

02 1) 2= LiollA| L 2iLie] 0lFS 201 BUr
2) A= OfmL|A| W2t X|Zhe A ERICH



03

04

05

LA A A

3
* 43 222 334 2502 HIE 0f buyks HXIA} forg Mx

OfE £rt 38 SIS 43A| SHOR HIE U= RIS B ZFESx017}
xjx= 0] Yofl 2C

1) T4 OfSttol LAl o= Bt S AUIERICH

2) 24 Fsbt S8l %S SX| 2

3) Li= 212 51042 L 0f2 7ho] 2utel=s i

*hand7t 484 8oz MY o ZHYSE0] Yol FXIALZE 1010k Sict.
X|ZtSAt hears SAFIS/SIMEAIZ 252 202 2Ct, AfHSAt havert
SSA 280 A @ S0t X2 H0{9| A7t £5Y AR WHEANE
20t

* 1) He made his daughter a white dress.
(F0i) (B8A) (ZE==of) (ZE=EH)
2) He made his daughter a diplomat.
Eol)(EA) (B=o)  (E=Z Eo)
*(see + SE0] + SALRE/SIHEAD, (want + SH0] + to2EAHQ| ojeo =2

==8

> SB p.12

01G 02@ 03B 04@ 050G 06® 07ofyou

08 to her
13 lent, to her

09 103 11©@,® 12her, a bracelet for her
14 called 15 herride/riding 16 @ 17 3, ®

18 @ 19 The doctor advised Tim not to drink too much.
20 She made a key holder for him yesterday.

01

02

03

04

05

06

07

08

09

10

1

12

Jd= AR 22 71 ettl/dizicl/ 24 A=/ =2 7|13k

* toRFAIE SH0IZ F5IX| Y= SAk= give upolch. give upel SX{0f
Al2lofl= SEARE 2Lt

L Lt ZEet HXhs Rhsl/Atmd UA|/ZEH/0|2] BE=A|/243]

7} 20{2 2Lt politely= SALO|CE,

il 2QIct.

*looke &=

_>;

Juel ofoLlis EF= Ae/M el A2/a5S
k= Zig E0fstict.
* likeol 2=0] xt2joll SAMHE

S/HEILA X|= HS/HEM

o A O
= 24 8lck

J= 19| 0F 52 A=5H/0kS0| A st=S/0ks0lA &
SEE/0IES AL EIEE HEUT /”f501 FUCL
*make2| ZXZ 20f Xi20fl toRF A= S == Bt

AS/0tS0| FHXI2of

U Lol EA8HE Tal 22 SORICHAIRIICH B BoRICH AT
e

* SHAE BX02 EAH= decideolct. decide2l 20{ Xi2loll=
toRFAt 2,

F5tx| ¢4

A4 O/} LivIE o2k A
242 2OUTH/LHIE B 22 St
* 2124 Hiof xf2l0| SAt

Rialol tos =} S,

{r

& & ol Ene?
* 4gAlof MOl ask= 38Al 2Fo= U2 o (of + ZFI=SX{0{)7t 2Ct.
= U0l A| = Bt o

=
* 4gAlof AQ1 givels 38A| 2EIoZ HER mf (to + ZRIS o)t 2Lt

Ol Jof|A ol THES ot A
* AlASA haves 2%

- U B3 wis A,
;T Ut Br3S 71 Bt

SAk= wanto|ct.

ED 2= J47t Of—'é f Mziairt
@ 4= M Ex= ;
@ Ui 27= a9 %2 Seletn 22t

@ 2= 12| OfLKol|A| 2Z0|Z PHE0 FULC

@ MollA| =32 HUIFHL.

® vl 22 MREHA shzt

* 2719, ®= 584lo|ct D2 384, B, @= 4820\t

* 4ol 201 buy= 384 2o ths o (for + ZF=X{0{)7t 20t

13
14
15
16

17

18

19

20

25 747 7|27|

* 40| MOl lendE 384 2Xo2 0

S mf (to + ZHE==of)7t 2ok

* £X0f my nameo| ‘g2’ 20|22 MHEAL called”t 2Lt

* X[2tSAt see= X HOIZ SAFEFE0IL BRH2AIZL 20t

@ z= 104 THol| U2 ZEJCE
@ M a0 HRITIoIA XS PHSof UL
B 252 159 OE M0l ths ESIUC
@ = 12| 217004 olHIYS ALt
® 71xp7t &
* @ married with — married

@ dinner her boyfriend — her boyfriend dinner

== dinner for her boyfriend
@ discussed about — discussed
® reached in — reached

= 19| LA 0f1 FHH| A S QRS0 =R

Aol =X34cH

CH/®AL=2Ct

* 384 220l M (for + ZFHEE )7t 2= 2 maket buyolct. give,
show, send= (to + ZFi==0{)7} 2t
@ L= TL47} ofelivbe S SR

@ Tl g M= 248 OFc
Q 2= a7t 2HICH 2S UYL
@ LH= A7t 3hsg L= 28 21Tt
B Lt= a7t AKIBHHA Lafsh= 248 SACH
* (@ to take — take
@ to write — writing
@ diligently — diligent
® he — him

*(advise + 2E0{ + X7 H0{(toBEFAN)2| 0} = MY, toF
BH2 (not + to + SAFIE)o|CH.

A2l

*{make + 22 0] + for + 2= X0)2| ofeO= #rt

> SB p.14

013 0206

01

02

e

= Il L= Z7(ofl 2ot 322 LIS S35t ST L= Eooll A
2t 315 Q4oiCt

ol

M

QIICE Oy LH= Lto| ATE 5§t HO| Yo =Z S0{7H= A2
. Lk= 11 AIZH0| OiL|0|Z HIRITH FA| & OJHLI 7t LIo| B2 g FT
LH7} ORECHE IS URICH Lis Lo BAES & 42 Sof| ZopRLt
* makes SXZ 20|12 SAIYH0| 20, feel Ct30l= YEAI7t 2Lt enters
EtSA0|22 FX|ALR} S| MX| QH=CH,

ol

0ol &, Bt =010] 270N 2 LIRS HICIZH 2712 Zoll Zo{=Rict. 2=
Z717} sttstoll gi2t7| Th20ll 2ok 271 AIRIRCE ] AMRO| LIEHEM
277t 29| ZiQIX| 201 BUTE = TS MUCE 2= AT
Z71S E1 LIEHEY S22 222 Jrh 2= 1700 19| Z40] obLlatn Fck
olHoll= A= 7IE 240 LEIRCE 1 £71E BXL 2= iR 718t = 2340]
09| £77jatn LUt AME2 2402 S0I7kM 22719t SE7IE 7|1
Lt = 2 ENE & RlofiA| 1 Ze2 SuiZict
*(give + ZFE=X0] + AHEX0]) E= (give + ZFSE0| + to +
a@%aow [0{oF Bict,

2!

o
Iy rlo £ 1
b
i
g
;

5 0O

)

it

2717 > SB p.14

01 1) a dog cross the street  2) him not to smoke here

02 | asked my father to buy a present for my mother. Also, | had my

01

02

brother clean the house. | made a birthday cake for my mother.
This party will make her happy.

1) L= ZotXI7H 28 e AE Buct
2) Lk= J0i1A 047 [0ilM ElE TIRX| Lata
* X[2tS A see= =X Ho{ Xf2|ofl SAFRIEO|LE CﬂXH%AM =ct
tell2 2%z 20o{ Xi2|ofl toRHAP} 2r}. toRHALe| 2™2 (not + to +
SAHEE)o|ct.

atsih

ﬂ.l
=3
i L

* ask= 282 2o{ xk2|of to—'?’—’gAP} 20, AAS.
Ai2lofl SAFEZO| 2t “~0f|A] ---
for + ZFHEX0f)2| Oj=o2 #Art

o
o
e
=O'I=l
X
B
w



Unit 03 » 2K 274 O]2H
Grammar Check-Up > SB p.17
01 1)comes 2)attacked 3)arrives 4) will pass

02 1) She goes swimming. 2) | washed my car.

)

1

3) | am going to take a trip to Jejudo.
03 1)isaboutto 2)will be 3)graduated

)

)

)

04 1)1 brush my teeth three times a day.

2) If it is cold tomorrow, | will wear a new coat.

3) The bus left five minutes ago.

01 1) U= ul ofHL|7H SOk W7EK| 01714 TiE2{0f Bk

2) =2 1940H0] sttolofl U= 0= shte 2

3) 17} Bet LY EAISICHH, L= T10i|A| 0124 & 2ot

4) Li= U7t LiAol= Aol @24 Zdojata SISt

* AlZHuntil), Z24(f)S LIEHHE 2AREOIME SIRHAIXZ DZIAIRIS ChAISHCE
A A2 DAARIZ E35HH, 0l2H(next year)2l Y g =
OJ2HAIRIS £2Ct

02 1)A: | GISM2 DHY O} R5HLI?  B: 5.
2 A: Ui Kl 00| AR P B: AL
A= O EQU U AHL? B HIFEZR oiS 2 Aok
* STUIHIZ 20i=H SIARIZ, TARIZ 0122 IHARIZ, DIARIZ
S0{2 0faAFIZ iRl

03 *‘of ~5l21 5lCH= be about to, ZHE|=/CH= be held2 LERA

PN K[ SHH 220t

. agos

04 *Hi=ci= S22 SMAMZ LIERHD, Z24(iHS LIEH = RAPRIM=
SITHARIZ} O[2HAIMIE CHAISHCE ago(~Hofl)i= THAHAIRIS EHA| £2Ct,

Unit 04 » 215

Grammar Check-Up > B p.19
01 1)has 2)was walking 3)iscoming 4)belongs
02 1) He is feeding the cat.  2) She was lying on the grass.
03 1) 1 QE|APt SO ST Qlct / 222 1 Wgto| Tk,
2) Je X2 mEjofl 2= Folct. / 1= 2 ol € Zolck
04 1) My grandfather is taking a nap in the living room now.
2) | was watching a movie on TV at this time yesterday.
3) I will be swimming at this time tomorrow.
01 1) 1= %2 579 ARS zta Qloh
2) D= MMES BHtS o 22 mat 21 QURACH
3) Z4lafl EHo| 04712 221 o]
4)

1) havezt ‘7kx|1 QlChe| ojo| o SxEIE o= & 2 gict.
2) metZt HAAIHO|22 IAZISZHO| 2tof B},

3) Sl ZIMET U= SE0|22 HITIAHS A0k

4) belong to= B%‘g%% == Sl= SALOICH

02 1) A: U OHHX|= XIZ RS Bt AAILI?
B: meto|ofA oIS =1 AM.

2) A: Hl 0{SAS 01| ol 5t U2

B: 2ol -9 /%001,
* SEIgEOR S0EH HAEMHOR IRIgEOR SojuH
IiRIgEo R i

N
s

03 *taste’t oS H= SXS LIE M= =
= o ojLtzn

2= QUX[PE, ME SARY me
Q= =XI0|L} 7R O[22

04 * ST (am/are/is + SAHRIF-ing), IAHTIHH2 (was/were +
SAIE-ing), DlixIHHS (will be + SAEE-ing) YENZ HEHFICL

4 4 Student Book

Unit 05 » TIZ{2tE
Grammar Check-Up
01 1)been 2)for

> SB p.21

) 3) lost  4) did
02 1)hasgoneto 2)haslived 3)has beenraining 4)have lost
03 1)hasbeen 2)went 3)saw 4) have known, was
04 1)

)

)

| have never played golf.
| have been here since 6 o’'clock.

1
2
3) How long have you been in Korea?

o

o
-
few

=0f 7+ &2 0| Ak

3% SOt HHof el T

222 Foi| o] SHLE7F UL

K| ‘S| ZEf S AULI?

have gone to2| =017} 2 == gict. (for + 712h), (since + S5t
0, 71E LI BAL ago2t 2l2At when2 SixHtE ot 4| &

wN

[

fr &orr
mr

o 2

to rlo

9

& W
-

4

*
ro fr

4y =
g0 [
ns

N

=~
o

02 1) Jud= G=0fl Zic 2d= X1Z 7470l Uk
— 4= =02 T
)= 10‘:3 Holl ME2 it Od= oFEl= M20i| &2 loh
— 2= 108 S MS0IM &1 Ut
3) 0IE Toi |7} 27| AI=RHCE XIS
— 0|5 S 7% v7t 21 ot
) Li= G4IE 2ot L= X8 a2 7IXn
L= E41E elofuict.

* 2pA0] of= AIEofl ARtSHA BiX
2ok HI7H AL 2= SHE EX

24
SAIE-ing)S 2.

= HI7t 23 et
QAX| S4c.

siri2(have + pp)2
a4 Liﬂjﬁxléﬂg(have been +

ik
N

03 1) Lto| OHHX|= K|t 3= O|F 2 7| OHIbA =9 AAICE
2) Jlde Xt EQ Hof| mEfof| Zct,
3) 1 Hoj| L= M3 MSO 2 dicts 2Urt

4) L= 154 mi2E 45 2T X|L ek

*since last week X|HFRE| XIZTHK| AL ElE US LIEELHEZ Sxjetz
last Saturday night= Zust 2745 LIEHHE 2 2AAKZ LIEFHCE,
since?} 0|11= Hofl= UM 21 FEol= SxHAZ2 7t 20

04 *Ti740] o AREOIM SxI7IxIel ZEl, 7
+p.p)Z BB,

|, 22, Zik= sirt2(have/has

Unit 06 » 2t7{2t8 O|2i2ts

Grammar Check-Up > SB p.23
01 1) had 2)will have climbed
02 1) had already done  2) will have seen  3) had you been

2 of Z0|H, Lh= 1Sstng E93is Zolct

EAHO ETR

oisd2 OF HitTD 23Het

)
)
03 )LH7} Hs
2) L
)

04 1 She had lived in Seoul for ten years when the Korean War
broke out.
2) By the time we arrive in Busan, we will have driven for five
hours.

01 1) L7t oF&loll oits o, 2= ol0| 2A=3H HiFCE
2) greb L7t Mot ChA| 22, O M| H SHtstA =h= Moot

*1) goto| 22| 7|F AIFo|1 a7t QIESH A2 1 0|Fof| Yoft oj=2
rAZ(had + p.p)7t 2t
2) Aotiof M| H 7k= 242 Dj2fofl Bt o 7joF BEE 4~ Aoz
ol2iet=(will have + p.p)7t2ct.
02 *1) 29| 7|F AE(had)2Ch £HIE 29 Z40] o 0|7of Yojt o2z
r4t=(had + p.p)7t 2t
2) ¥31E & ¥ 2| == 22 o2Ho 7toF ZEE 4= Yoo 2 njiA=(will
have + p.p)7t 2ct.
3) 2k749| 7|= AlR(were)=2rt of 0|Fofl UUT R S0{E= Zo|=22
7= (had + p.p)7t 2ct,

03 *1)2 0jzi&= AlM0|, 2)= T &= AlXO]Ct,

04 * 1) sk=2xi%o| ojit sh7t 27 7|1E Aol M0 AF 242 1 o|MEE
0|22 Az 2 2r}



2) O A2 251 =l f4tof =feh= 0l2 AIFo| =[0fof stz
D222 20t

LA Z25] 2= > SB p.24

01D 02Q@ 03B 04Q@ 05@ 063 07® 08hasbeen
09 hasbeenplaying 10@ 116 12Q 13@ 14® 150
16 @ 17 has been, died 18 until/till he comes

19 had already become 20 Since | came to this country, | have
learned a lot about the way of life here.

01 22 Ao 442 THEIC

* IS AFO|2Z STHAIKIZ 2Lt

02 mA sigf2 178940l AltEIRIC
* QAR AR TPIAIHIZ St

03 ofo{L|7} Zojl =S o, R2l= SolM &1 AACH
* ofHLI7H 012 AJFo| 2t7{o|1, Ol 5t U= SES BHS
UHTIbHo = 2L},

ﬂ?

Zo|=2=2

04 Lk= ofx| ZollA L 2172 FH2HS BHRTE MS0ll L= JHE 2Oot=X| R3=d,
QLFSHH 47t &S OFF O] 7| mhZolch

* (=] o
A2 22 1)

W ARE 0L
05 L= ofis HiRE JHE fMYsH 210 Uk
*since7t = FE EXol= S 20t

06 LH7to| EAIE wE of Boll= 047|M H 22 Al =h= Holct,
*LHZE047|M H 20| El= A2 0j2Hof| L7} mHLk= AIR0|ER nj2iizs
==4
07 @ o= o 295tain sty
@ %t o2l X7t 6152 BRI REIC)
Q Soigt op7|7t 231 Qod.
@ 1= i 2|5 Zert
O U7t =234 I, 0= 22|15 5t UAC

*® is cooking — was cooking

08 Il4= o|FEO| ZiCt JH= XIF 0of7[oil Ut
== oEEof Zict Rt

* apA(went)e| St #ixl(is)o] SENS LIEREZ SxHt= Tt ofof Stt “~of

2t 2ACHE has been toZ LIEHHTE
09 1= 1AIZHEO| DloteS X17| AIRBHCE = XIZ2E X1 QUCk
== 1ARFSH A% Tk & X1 T
* Tp74of| AIRBHA SRHTER| A% Ele SEE BE6IE 2 SRt aIEo=
LEFHCY,

10 =D 3= 7710l 7+ 2 Ho| gick.

@ L= x|t 2 St 18 otw X)W
@ LH= 3 S0t o] Al ztm ck,

Q Bui3 7|xH= ol it

@ = Z=20i 7t =2 =o| QlLI?

© Lt= OF=! 1 Atziol| Chah Z10i| 25t QU

* 2719t @= SRl 8¢ oM ZES LE @, Q@ 44,0, 0 gz

11 2 77| Hol %2 002 IRSS IH, 19| IYSS Lol szt
ol ui=Eiof HatE|n = Molc,
* 27k 32 AFo| Iiolm, 17k JYSS IR HE B ofie| Yol
IAE7E 91, TRISS LYH0] Slofof Eaisl= ARo| 50| o=
njafeiz7} 2cf

12

L7t 25 o Yol mRE H|7t 21 Ut
Jld= 59 S0t §7H Solck

LH= 1999 O[2H= 07| A AT QiCt

* Stz 220l (for + 7121, (since + EXfst
TS HEE 5122 since FHoil &o| & = Uct

=

13

LHY |7t 23 22)= HollM MRS Zo|ot.

Li= W HI7E 2R F EX| SSsich

*if7F SAPES 012 = SRHAIKIZE O[2HAIKIS CHAIBHRIEE, SARE
O[ZHAIRIE 2Ch2 ZRBICE

o

Ol

7 7|Z AlIE(didn’t recognize)=2Ct & 0|Fol| Lojt 2oj==2

AZhHez Melct sinces

rr

14 - 2=2 sHEsich
- OfAlli= 2FUCE
» OJMISE] 7l SH3iCE
* 59| dM= SMAIMIZ, ofM|| HMl= DIAHANIZ EEi5HH, O{HIRE
XIS7HK| A% 2H&dsiths A2 SME s Zost)

15 O T= X2 ORXIXIOL, Ot0ISS Hi2|1 AFS 2t 2ol
@ U 1R 2| RS ofHRILI?
3 T 21 Hoj| o] RFHE ML,
@ L= otza|Fto 2+ &o| ot
® 1= mLty| Foj| o] Y2 B Holct.
* @ have you lost — did you lose
@ has bought — bought

@ gone — been
® will leave — leaves

16 D =2 ofxl o[y %5t QUL
@ 118412 i gto] ek,
B 1= WY Moo Mt Zo|ct,
@ Et2f 5t 27172l M Hlo| SIS ¢F5tn UC
© L7t LHY oFRlofl Yoists o, ofmiLl= gl
* tastes} ‘~&t Oto| Lickak= o|n|Y o= Zisss

o

4]

=

o

7 Zo|ct.

> et

=
AE

u R

o

17 27t =2 x| 2'40| X|tct
= =231 St =2 JEE AT
= 1= 23 Tofl FUCH
* oA 2 SO E2 HEIE AU

ot 2 Mz e JiM SneiEE
EBIBIC} ago= FUS AIE U]

fLi= 2A0|22 TEAANZ 20t

ek

=1

n

[
T

18 * AlZuntil/til)2 LIEt= SAPE0IAE SIRHAIRIZE OIZHAIMIS CHAISIC
19 *QIE7} LiEl mi= 2t7{0]1 ZE2 11 ofX0fl Al2tReEZ AJRZ 20t

20 *since} 0lne EE2 MAAMZ, FH2 SHRAZZ LIEFACE

A& 7471 7|27| > SB p.26
016 02@

01 Li= Xlct Z20| ADPEIS BIST AUNUS 1, 22 HES Wt 1 7k=s
ol DI04 37| AR F1T0lAA 2 Zolgich ol ZEAlR 118
1120194k Li= ZEA A7} LS oA Jlof 8| Zofor x| B3tk bl
0 Lt 2 Hofl o] ZBA0] AMBHACHD AR 20| 7[2fo] Kt
* BILF Fl=E w2 A7k 213 S0 SHo|aR HEIHS was

making)o2 4t B oj=0| & %2 7leg wors a2t o ol

0|22 nriz(had lived)2 2t @ ZS o] 0F%| ZHAIGIA| 220HM
D[2AIKIR! will attendS MoF 3HX|2F == 0] AlM|7+ 1710|122 would

attend=z £ct.

02 HRCHAZX|Y o2 B2 njEkel HI# SH|(UFO) 2= 7IAHS0] A0f RiCt.
FH ARIS2 3 X[0| 0|2t v SHS | ALE 0N, 20IM AlE
EfXIGHA CHE MZIZ di2d Ziotns oot “19451H0ik= 19 ot HI7|
5ch7t ol XS0l ARRFACE T OS2 2BiC) E CHE A2 I A2t o]
MAOIM CHE XFE2Z A6k Fo2h= 20Tt o =2 SloflA AR20] 0]
Mol M THE MIZIZ S7ERI= 2EC MXI0f RFMEX HROH 2R /IS
e o L Weks edm S ol B22int

* 19452 Hust at7{0|2 2 k7 AIN|(disappeared)7t 2tof St

A&ad &7|7| > SB p.26

01 1) have been 2) has been snowing 3) had already left

02 In 1990, | was born in Sokcho. When | moved to Seoul in 2000,
| had lived there (in Sokcho) for ten years. Since 2000, | have
lived in Seoul.

i

01 1) g3t = X|fslol] 2230 252 259
— 52 Y & S 2=t Hejolct
2) 01Xl =£0] 27| AIE3HCE XIS = o5 =0| 211 Uk
— OfHISE 7l 0| 231 U]
3) 2= 5A1 10201 MS2oll EXRUCE 1 7[Xk= SA Fziof| mkict
— 7t M2ol| =A1RE m 11 7|Xk= ol0] miktct,
*1) 1 Mol ZEshM XIZ = ZESH AEfo|22 SR 2 B

{4 ) 2

T

7|go|ct.

5

o
o
e
=O'I=l
X
B
ol



02 *1990\H2 HusH 17

2) OfH| =0] 27| AR M= Al 2= S0|22 SxARIbTe=
EHSICH

3) a7t EEREE 1] AIFECE O HA 7|3 HUHRHe S 2 e s
THIEH

10|22 aAA|M|(was born), 2474 AIZ21 20005 0| o]
1047t Atooz nrt=(had lived)2 ESSICE 2000 H2E] X[Z27HX|
A& M0l A ckn ooz St (have lived)2 &35,

Unit 07 » can, may, must, should

Grammar Check-Up > B p.29
01 1) Kevin will be able to read and write English.
2) Kate had to go to the hospital.
3) Paul ought not to buy a new bike.
02 1)wasableto 2)needto
03 NH=E=&EE *'646}7I ?lstod Mg Chstof St
2) $2 L2 22zt Foll XES0| SRl
3) Miel2 11 olopr|e] 2 £0t5HR| YeX|= 220t
04 1) Kate cannot (= can't) be a Korean teacher.
2) You must not cross the street here.
3) Paul didn't have/need to borrow any money.
01 1) 72 B0l e & 4= ok
2) AHlo|E= H{lol| 7o Bt
3) Z2 MZ2 XITHE Alof Bict,

02

* can2| olz= will be able toolx, muste| a74= had toolct. ought toQ]
f.

£ ought not too|t!

1) ABIS TS E 2I9IM 7|A4E 4 AUCE

2)Hiele O ¥XES E0 2 eIt glrt

* couldE w

03

04

was able toZ, doesn’t have to= doesn’t need to2 HIF0{ &

A O
= A0

* must= “~afiof Btk et “~elofl SRIBICHE 2|nfstH, may not2 “~OoFdXI=

SECHE onjgic.

* '~ 2] gith= cannot (= can’t), ‘A2 ~5tH ot Elct= must not, ~&

o7 ACHE didn't have toLt didn't need to= Esiict

Unit 08 » would, used to, had better,

Grammar Check-Up

01
02

03

04

01

would rather

> SB p.31

1) would like  2) had better 3) would rather

)
1) had better finish  2) would rather not swim
3) used to be  4) Would you like

Huea °‘£I— ChA| 2L xf2k2] EolM TVE E= 20| Wk
2) 91|0I = XA ZOIX|Q! 20|25 S o272 Lt
3) Algl2 oFE Y™ Hi= Zdof| AU=Sic

1) You had better not be late for school tomorrow.

2) I would rather not sing a song.

3) She would/used to play the piano.

1) A0|E= Sl Zo o530l 717|S st
2) He LY EMEo] 7h= 20| Z2ch
3) L= S4tg 7h=L xh2t2 —’.‘—°‘° 7HC.

*would like to= ‘~&l11 ACt, had betters ‘~at= 20| ZCF, would

6 4 Student Book

rather A than B ‘Bat=L| Xi2t2| AtZICt2k= 2jojolct,

02 1) HE HAH SHIE ELle 20| E2ct
f2| Hictoll A S22 51X e
U740l Hof WAL,

| & EAZSUI?

* ‘~Bh= 240 ZCPE= had better2 Mot 510, would rather cH2oll=
%AF?JC’*OI 2ok Btk 2 HE2 wouldet used to BF £ 4= QUX|TH
at7o| MEHE LIEHS mi= used to= Mot sttt {would you like + AL
A=~ AL ER= TS0,

2o =t

1=
9= &
= A2

=
b [E (!
)L-?-

03 *would rather= ‘zf2t2| ~312ICY, used toe (@AHol) ~512 3HCY, (be use

to + SHADE ‘~0f 2A=3IcHek= ojojolct,
04 *‘~3IX| 9= 20| ZCH= (had better not + SAFS), ‘xl2t2| ~&1x|

or= 20| Lit= (would rather not + SAREE, ‘0] ~5kE Rcks
{would/used to + SAIRE)SZ HHFICL

Unit 09 » R-Z-Al have p.p

Grammar Check-Up > SB p.33
01 1) must 2)may
02 1)should have 2) must have 3) shouldn't have
03 1) A2 H4E 5K Lk0{of Lt
2) E2 o4g dojuS0| S2ielch
3) Mel2 Hof ZAlcHElol M L&ERE 27t it
04 1) Ann may (= might) have lost her way in the forest.
2) He should have kept his promise.
3) Kate can’t have met him.
01 1) Ho|E= o= Fojl 2| LUTH o)A £& Uo| LoitSoll Seict.
2) A2 Staofl =2ict 2= = YoiwtSX|E 220t
* 330 EZBUCH= must have p.p, ‘~#EX|= Z2C= may have
pE ZEHBICL
02 1) o2 x2S AoiHRict Jld= & o 2|2 7I2%0{0F Rl f
2) S2 Hof ARl SHRCL 252 Ails| SRSl SR
3) MIgl2 Tl Bo| HojM HiEo| Wk, JE= 4 Hol 2 | LUA0{0F FHC.
* ‘~gofof e should have p.p, ‘~&S20l S&IgICHE must have p.p,
O 3

¢
o
Ral
na
3038
2
_9,

HCh= shouldn't have p.p2 E8isict.
03 *shouldn't have p.p= ‘~8IX| 240{0F AL, can't have p.pe ‘~&g 2|7t
gictak= 2jojojct,

{010 RCtHe= should

04 *‘~3HSX|= 2ECtE may (= might) have p.

CHE can't have p.p2

'U'c

LA Z34A] 24|

01 had better 02 don’t have/need to 03 must not
04 cannot (=cant) 05@ 06Q® 071 08 @ 09 used to be
10 would liketo 11oughtnotto 12@ 13@ 143 15Q@
16 | would rather go to the library than stay at home.

17 shouldn’t have told 18 should have saved 19®@ 20 @

> SB p.34

01 *'~5H= 20| Z7\Ct= had better2 EBICE

N

ol
rir

02 *'~ don’t have toLt don’t need to2 EJSIC}

]
e

o bl (e

03 *'Hi= of Elck= must note2 EHBICE

04 *'~2 2| gitt'= cannot (= can't) 22 EJSICE

05 7l~S0il ot A2 AFMY

Ak 2| gtk

* 2%t F0i|= must, 2t £=0fl= can
;

can’'t2 AFESITt. have to= ‘~3f0

QUCHARIIO) SSICHAMRIXIE RECY

ILt may, 248t 285 S22l

Pe oleg Lpetict,

06 - Liot &4 20| Hahe?
+ 3= £50| 9ok =

*~sHEiR?= (Would you like to + SAHE
had betterz Zaisict,

st Zofl if2E 2ol E7ct
~7), ~oh= 0| B2t =



07

08

09 =S

10

1

12

13

14

15

16
17

18

19

20

T2 S SHEE Bk O4= B2 =S S0 SZ8UCH
* AU BH peHC},

iy | =
‘~gig0ll SZ.IcHE must have p.p= LE

A2 AC|EE YR = 220t

® 2= £2 DAYK|E 220

@a= ’é‘OiI QISX|E 22c},

Q) OS2 Aln USK|E 22LC)

@ = 7<IE.l 7bs =},

® Oz AUR|E 2EL,

*527|9t D, @, @, ®2 may= =52 olnjsta, @2] mays 312t ojn|sict,
Olofl AMzpo| ULt J2iLt XIF2 AR0] UCk
— 1ol 2S0|of| AM2HEo| UL

* 0tA9| MEHE LIEHH mh= used toS AKZSIC

L= MESIXIE H7IS Aol

*want to =would like to

U= %A 2 AjZh St AlYs st ot =it
*should not = ought not to

@ L= 747101l 71x| = 20| EZC
@ L= xf2t2| asatsX| 2zt
Q e ARG 5tH o Fict,
2= 04710fl FRIEHH Hoi of #lct,
® 252 Il s =2 & Tt et
*had bettere| 282 had better notolct.

@ Li= oletES E 4 291,

@ 7e hojgaie 2

Q AHlo|EE Hois =

@ U= U B2 M= Eich

® 252 2 44M7IE B 4 UUCH

*®, @, ®, ®2] can/couldE ‘~&t 4 Qb= 522 olojstn, @Q| can2
‘~oll= Eot = si2te Q|olstict

ruzl-

OFII= 9_5 3 MJE J0i1A 00 Bt

@ 72 X2 £HIZ 3ok Sict.

® [_-I‘— x.“0|0 xl__rl.Ol()” EEIO-IEI.

@ 152 ZEr2 ZASHM CHR0{0F SiTt

O L= 2001517| 9lsh HIZHSE ALSsHoF BiTk
*®, Q, @, ©2 must= ~alok St 9|25 9|

S2RiCPE 25t 252 olnjaict,

5t1, @2 musts ‘~oi|

®a=sHBois e .
® JE2 o7[0lM S7E o1 Aoz o =ik,
S207|M E7E g et elct
® L= —'?'—E'_‘El L&ES & S0{0F Bt
@ grlo| FOiTEE U= Ene?
©® 2= HFEE A3 201 70} Sich
*must not2 ‘2 ot Ect, don't have tos ‘~& ZQ girkak= 2jojo|ct,

*‘Bat=L| XI2t2| ASH= 20| WCH= would rather A than B2 ESsict
Lh= JH0l|A| AANYS Fok XIZ Lis 22S F3I8ih Lh= JHolA AH3YS

SHX| 2U0{0F FACH

* ‘~5tx| Zhtofof = shouldn't have p.pE LIEHHT

M2 o ES ot Atk Jld= 23 HUFH0{oF ALt

* ‘~ghojof L= should have p.p2 LIERACE

rr rIr 5
_>,4
ru |
A
o H
m
|'|

w12 Sralx) 2/0(o} s,
@ JHElel -2 S0 Qi T OfXIY EHB0l ST

* Q= 294t can't have been(~%g 2|7t @1EH2 must have been
(~30l SZQUCHSR HHF0{0F SiCE

O A2 Yol AL 712 Hct,
@ 712 afHol| LACE,

@ Hel2 afof| 2 QHLHRA0IILCE,
@ 22 7ol 22 Mfmtr
® AolEE 715S0 2 &

* 1p719| MEflE used toBt £ 4 Qrt 2k wouldZ used to= HERo{oF
sict.

ERNT I

_Jls% 7nl-7_ll- 7|27| > SB p.36
013 02Q

01 ZAMOJ=2 Hicte| Alo|H MRAL| a*iil"*tk = 5 Hm2 225 AolAct,
ZMolE2 ZE HITHE ES3ct MYUS2 18 SHiFich 10| 2Il=
MRIFOIACE 2= o= XFE FHES + AU 2= dHEHES
AHRX|SE Old= 08 Pt Rf2t2| 10 M0 JCh OE Tlsty| 9lstod
HIHEI2 = J0iA M&olA 712 olSCte % S DHS0| Eatn QFHCH i
ZMol=2 TS 7|8 5h7| fI5tof £|=2| 2g THS0{0F FiCt XSoll=
SSoHX| Rl M CIAst 02 SE52 ”*“01 Woh oW = e eEint
*'Bat=L| X2t2| ASk= Z40| WCF'= would rather A than B2 ZSiict

02 1S ESstai= 72l M2, di= a7t s PRIcka 2zl X|olb=
£EE S30f 3t nalk= vzt 2= 22 EXITH A 20N Bold 4
AL fLFstH OS2 tARCH EN 37| mf2o|ct &S najo| 2= 9gt
Z=T40|1 Zol= 12~150[E{0fl OIZ 4= It of7| Jm2i7t elfjoid wio| fAl=
o 900Z!Z 0|1 Zok= of 40|E{o|ct Dal= ZRlsH EYX|E 22X|g
Hi7F TS X 2o 2ds 4 4 nt
*‘~5l{oF Bttt = must, ‘~& 2 gltt= can't, ~YX|E 220 = may2
LIERHEE
Med &7 > SB p.36

01 used to, had better, doesn’t have to, has to

02 Susan: (Yesterday | watched TV so long.) | should have done my
homework.
Kevin: | shouldn't have played with my friends all day.
Susan: You can’t have done your homework, either.
Kevin: But Ann must have done her homework.

01 A2 nt7ol| AYEO|RACE = RHAIQ| =T AIRIS ZHE IS I

JaiM Je 2Eg ORIt O TIREE Ttes g ASict I-H
Tt AlES of= 20| EZCt. 7Pl 2 =Rt IXIg DiXk=
( {7{ofl) ~Ck= used to, ‘“~3ta Mot would like to, “~5

}
ZCH'E had better, ‘~& 227} ¢ict= don't have to, ‘~3liof siche
have to2 LIEpACY

>E
=
9_
o
o
n

02 *‘~§H010F§HEPE should have p.p, “~3tx| 24010k 2icH= shouldn't
have p.p, ‘~&2 2/7} gt can't have p.p, ‘~&#30l SUCHE must
have p.p2 LIEHHLE,

Chapter 04

Unit 10 » $SEHS| A|Z]]

Grammar Check-Up > SB p.39

01 1)was parked 2)invented 3) will be invited 4) taught

02 1) The lesson will be explained by the teacher.
2) The small village has been destroyed by a hurricane.
3) Children are being taken to the zoo by her.
4) Customers are served by waitresses and waiters.

03 1) L= amf ng3x0f Qs HES H1 QUL

2) HslEe| Mxm7t g 0| RS0 2UE Zo|ct,
04 1) is surrounded by water

2) will be respected by students

01 1) Ui Xk= ottx|ofl s 22| T ol FRI=IACE
2) Tt oficiZ2oll Qi LHEAS LT
3) FH2 mEjofl ZciES 2ot

0
o
e
=<)'I=l
X
B
~



02

03

04

Unit 11 » 4, 53A1o| £

Grammar Check-Up
01

03 1) 4= Ee22H 302

4 ddde Xl'd Bl7joll L2lolA| 32 TI=XIAC.

240|1 ZoHUgEl= 240|192 +SEl(beSAH+ p.p)7t
U= 2FO| +SEH= (ESAH+ be + p.p)OIch

20|22 SSE7H 2fof Bict.

L= Bolct,
4)%%*1%8—&‘5%4 EgEL,

Sef SHS IS 1} SSefol SEHOIE Foi Ki2lo) ST, SAIE (beSAf
742 AHp.p)2 3101, Ol beSAte] ARl SSef SASl AR L,

*was being interviewede 2AZISE ~Selo| 1, will be sent= DIHAIX

SEEfo|ct
. SIHAIA| SSEHQ! Cis + p.p),

SSE| 2%0|H, ‘~2 S2IM0] k=
= % 2SERQIwill be + p.p)= ESSICE

= S 20|t '= O[2HALH|

SEf

> SB p.41

given 2) was allowed 3)to buy 4) for

)
) They were told to go straight by him.

) 100 paper cranes were made for her by him.

) I was made to keep meat in the refrigerator by him.
) | was given a pretty doll by my father.

E= A pretty doll was given to me by my father.

2 J|Cte THafs BERS Hiop)
2) ©2 ®2S0| ofol=0i| gIoH Of{LIS0l| | Z=04ZIct.

04 1)was heard to sing 2) was called Jinny

01

02

03
04

1) 21 2ek2 ot Xof 2fsh OFSol|A FF0iRCh
) = 220 Sfsh 0fdi7h= 248 52t Bkt
3) 250]| 2ol S Ak= 20| EUCk
4) O] MR Lo ofsh AHES RIeH =R Ek
T AZAOIM HPEH0IR +SEIE 2hS 1 ZEESE0] Yo S M=
givet to, buy fors £ct 2aAt 1|-=1(She) ot sRE B Zojo=
+SEi(beSAL + p.p)7t 2l0f 51, X|ZtSAte| ~SE 28 toll = SSefolA
SARIEQI 22 H0{7t toRFALZ HHHCE

N

TXIAE Med,

1
2

J= aS0lA 2 712t 23ick
=

= Tl Z013 10001218 BHS O] 39U

3) 3= Lol 1718 YRmo| BRsfetT AR,

4) OHHXI= Lol ol 1542 ZAtC

* 584 2N2 S0iE F0I2 5l0 $5EIE BiE + glont,
ZE=xlofe} sjE=xlol = o ake}

S7l0] Molo1 XEISTOIZ0! SEEHE OIS 4 U1, AlIEAIZ SEA

Mo SSefol A S H0{7} tosHALR HERICY,

*be asked= 2ztoj| w2t ‘HE;

1o
N
A
ial
rr
1}
{ID
fujo
ne
da
i
§\=
1z
g
n

* XI2tEALS] 2SEh= (beSAL + pp + OSEABRIZA SEf0|T, 53
20| $EElE (beSAH+ p.p + 252 &=0f) oIk,

Jz

Unit 12 » 092 7}Z| £~=Ef

Grammar Check-Up

01
02

03
04

01

> SB p.43

1) were canceled  2) looked after by  3) made of 4) be held

1) The problem can be solved by us.
2) The bench is covered with fallen leaves.
3) The old letters were thrown away by my sister.

2) known to  3) was married to

)
)
)
)
1) was built
1

is filled with fish  2) was satisfied with her appearance

Y717t Q) 2ol FA=UCE
oF Ol0|= w2 7toll 2fsh BAES RIUTt
o] sateA= Ho= BRSO

4) OA |2t A|0] O] A0l 22 Zo|ch

* I |7 HAEUC k= 0|22 ~FElTt

EH

=
=
=

OE

2lof 5t, SAtS| +SEi=

8 4 Student Book

02

03

04

LAl 2350 24

0

06 was made for me by her
08 is being painted 09 will invite
13@ 14@® 156 166 1706

SAIE +SEHZ IX|1T SA FEll= a2 £t be made ofE ‘~2
HSOIX|CHE 2| A sl ak= S20|H, ORAIRH Ao ‘ZHA|=|ic et 20|22
+=El be held7t 2fof stk

1) 2= 21 2dE E 4+ Utk
2)UPSOo| O HRIE
3) L] oisHe 2t
XEAP} U= BXo| S+ 5E
20| M be covered with2 %Ef
thrown awayz £rt,

rEA |~-I
30
=]

+be+pp)z MD1 cover= $~SEH
ATt throw awaye= +=SEoilA] be

*‘~0| MIYXICHE be builteld| 19300] 217022 was built2 2ct,
‘~0f| Al L2X|cH = be known to, ‘~2F ZESICH = be married to 2Lt

*~2 715 A Qb
s,

be filled with, “~0il 2t&35iCH=

be satisfied with2

> SB p.44

1@ 023 03@ 04Q® 05 should be taken care of
07 was made to study English
1020 11O 12with

18 discovered, was discovered

19 was allowed to study abroad 20 will be held

01

02

03

04

05

06

07

08

09

10 =5

1

12

L= 1715 d8mof

— 27| Liofl 2fsh

* =Seli(be + p. p)i
slez2 aAAA 4=

| HERHCE,
HETol| 2Rt
= [ beSAte| AME SSEH SAk| AlR0]l ¢
Sef(was kept)7t 2t

tof
2 UME HHBC

2elo| dmt= 159| ofsf HERRACE

sixetz ol 4+EE= ¢have/has been + p.p)olct.

L i
LJr|o

*
o

T IUolA SIALS BiLizkn
— L4 0N SAIE BiLfEks 22 SC
*(SAH+ 2H0| + to + SAIRE)O| $5ef

2r3ict.

&holct.

2D T= 39| ORIEIOIIA| S ZOIS Ab UL
— 3 2Zol7t 12| {AIEITE SUsh 0l 2lsh TU=IUCE
*buy= 2HEX0IS FOI2 5 +SET 7HsEHH, RS

forg #ct.

= {01 A0l TRIAL

Jud= 1 0|2 S=otof gt
— 1 0p7|= 19| EAES ghojof Bt
*EATTL s BRI +SEiE SAE SEEIZ

['olI

10X, SA e a2
=4
= LiollA o] E41alE TS0 FACH
— 0] EA|12= LIS flal ol 2lsh RFES0IRC

*make= AYEX0IE

F0{2 Bt +~FEHTt 7kSsiTt

OHHX|= LIoilA| Fois SFst2t Al7 1A

— Lk= ofHiX|ol| 2fsl F0otE SHalof Mot

* AIHE A makeo| 252 Hoj= $SE{2 HEE [ toFFAIZ HiRCH

=0 oa| x
aJs=2<2 8 Y

&
=2
i=]
r_E
|m
> N
o
_°|,_
o
N
T

— 22 HYH2 s 9|3H ‘|11|°|E7} oHX|__'._°|E|'_
* SIS $-SEf= (be + being + p.pyolct.

= Qleo] el mtefof =oiEks Zdolch
— QlEli= J4E MY miE|of ZCHE Zio]ct,

*{will be p.pye OI2HAIA +SEf0|22 SSEH= (will + SAFRIE)O 2 HHRICH

0| Jte| X7 Exl= 20| 1ol 2l SZH=IUCL
* X|ZtSALe] £=SElE= (be + p.p + toE™ANSITHEARDO|C

1A 7HE2 O X[ol| 2l5H Tl ol| Al Z=047HEH 2 043 2 LI/ =04k

* 4FAOIM ZHEX0IE 02 5lo{ SSERS B 0, give, show, send,
hande 7FE=2x01 2ol XA oS 20t makes ZHE=Z0{ Aol fors
fct,

+ = Tl A HRict
+ J= 19| E30i REESiTh

*be disappointed with= “~0f
pEEatcholch

0l AL3ICY, be satisfied withe

~0f



13 352 39 dS= HIRAUT
— J°| A2 IS0 sl HIRSS LU
¥ SA U= BER SAIE $SEIR TX|1 SA He a2 ok

14 1 =2 ofdl| ZEsol s MZ=UC
* Z20| FEEACKE 2lnjo|m, yesterday7t U2 DZ DA SSE7H 2ok
it

15 = 1220l Z|Afol| Cle == BEUEX|E 220},
* 7t 22 HINEX|E 220 = o0jo|H, ZSAPE U= EF #+SHi=
(Z=SAt+ be + p.p)2 2Lt

16 (D 2= 1992400f MZOlA EfOfitrt.
@ 1 A2 Liofl oJ3} RIBiCHs 2B 2 =it
3 M2 12l0l CFS sfofl 28 Zolct,
@ 3= 20| SRYA PA FIES BRiC
® B0l 28 Y=8 UL

*©9| Frt= 582 2jnjo|7| miE20i caught® Mok St

17 D 1 10|= xtofl XIQACE,
@ 14 7|Et Xl 2ol 2017+ @ik
@ a7t ARYSHE 22[7H E3CH
@ 0 Lt = LH7H oS o Ot X|ofl 2fsH AofFCt,
® 1 xk= Lt2| ofS440l| 2sH MIRF=EIACE
* (@ was ran — was run
@ interesting — interested

@ was heard take — was heard to take
@ s planted — was planted

18 =2 184801 Z2|Z L |0jol| M 2 S LZAZUCE
— 30| 1848 Z2|ZL|0tof| M LAZIACE,
* UASICEE discovero| 1 UL E be discoveredolct.,

19 *(allow + 2X0{ + to + SAHE)2| +SEl= (beSAt + allowed + to +
EArASY0 T},

20 *'™dri'= holdolm, ‘HalchE be heldolct.

L& 7471 7|27| > SB p.46
1@ 020

01 1+ok= SYotd|al7i7t 24X|olch 1492 F2|AET SRIBA7HRE
DT0HS SORCE 16M7| 20 270k AHQ! ERIIS0| Qs HalEez,
Z2EZ ASO0l QlohM of=Z2|7t Ik, ORAOF H 0l ZIoHATH 20M17| St
Zoll T70k= 0l=0l =U=UCE DT 0H= OFAOLLE HO[2] 0f2] E3j0 M=
St 3Alo|tt. 2EH0ll= tEEe 170t o=, B=, U, Ql=UlAoL HIEH
X|Hol| M dikEct
* AT S04 20|02 SSEHE M, B n7opt AvHE Zoj22

TSEHE MM, (@ D70 MMEE 0|22 +~FHS 20

02 9QI=o| ofztoi| QL= EFXIOFER2 3M|7| 0|Foi| X|01Z! OIS 2 MIZlol|lA] 712
OIECHR EZ M B A0 T O Ef7|2| §F ZiZ7tol| 2lshM
AAIUT, 20 HO| SRt 24MGH= | 20010] ZFCH EFX|OFER ol&3t
SR, AF RISH0] Q1= OFa2t 0101 19| ARIAHR OHHE F257| aHA
Mt
* ELX|0Ft0| ‘BAMEICHE 520|122 has been described”} =[0{0F i,

Med E717| > SB p.46

01 1) invented a telephone, was invented by Alexander Graham Bell
in 1876
2) elected Roh Moohyun president, was elected president in 2002
(by us)
02 Yesterday, a car accident was reported. No one died, but 100
people were injured. They were carried to the hospital. Everyone
was worried about them.

01 1) aiid Tgjlo|f Ho| 1876'H0l| T3t |5 WHRCE
— T&P7l= 1876 0] AT T20| ol 2l LH=IUCE
2) Ral= 2002E 23S HEHC = NS
— =882 2002 0] (R20f] 2f5h) e o2 ME=ACE

* 1) Z=0{Q1 M| 20| Ho| “LHRHCHaH= 20|22 SSEH inventedt

oo} &k, F0{Q! telephoneo| ‘UHE|UCHEH= 50|22 S~FEH was
invented7} 2ok Stct,

2) 0121 We7t ‘“ME3iCH et 520|122 SSEH elected 7t 240 5t1, 204
L250| ‘MEE|UCHE 50|22 was elected 7t 210f SiTt.

02 *‘2==Uct= was reported, ‘2AS E3CHE were injured, ‘SARCIE

were carried2 st

Unit 13 » BHAF B8 O| 2 AL + toH At

Grammar Check-Up > SB p.49

01
02
03

04

05

01

02

03

04

05

1)to find 2)togo 3)to meet
1) to not — notto 2)finding — to find  3) taking — to take

1) is difficult to see a shooting star in the city
2) he should get off the bus

1) ZI01E= &m0l &X| Ltk Hal3ict

2) Ui AE2 ChSol £oi2 shof &X| 22ct

1) My mother told me not to play games.

2) My hobby is to make model cars.
3) It is interesting to learn a foreign language.

1) IHE 2EE S0l 2= A2 X
2) Rel= 0{C|Z 7jof EX| STt
3) H0IE= ZEolM £ BHIS 7|CHRiCE
* ol 7101 [to] U282 Fofl= ZIF0{Q! to ™A} 2f0F SiTt SAt knowe)
EJHO-] {5tS a0k 522 (where + to2™AD S| FEHTt Q1o 511, expects
l:'xi*]_ EJHO«’E Tlo}[l»_

50
S
ful

1) 42 LioiA| 172 BOIA Zolx| Lakn Bt
23N NEER THe U S WS AT
3) Z2 FLiCtol Fojeis DA w2 ZEc

|
* toR ™AL 2™ (not + toRFARO| T, SAL knowe| 2X0{ A&t sHot
=] (how + toR™ADC| HEf7t 2ot Sitt. decides toREHAIE 2X0i2

1) EAOIN EESS B 22 ofic
2) 22 ofrloll A BAS Lf2x| 23ttt
* tOREAIE 012 A0 (It ~ toR AL Bz At (ol2Al +
tOSFARE (22 +20{ + should + SAIRE)O2 101 £ 4 ct.

M

* decide not to be late= ‘~0fl X[2{51X| 7|2 ZASICH, what to dos
‘RS X2 SHAMBICE

* A2 otx| Y2ta'= not to play gamesZ, ‘~ah= Z0|Ct = 2o 2fEs
Sh= toRTALR FSIBICE F:0{ AEE St toRBA= (It ~ toREAHZ
LtERHTE,

Unit 14 » TEAPY S4fat HAL 84

od T =

Grammar Check-Up > SB p.51
01 1) marrying — marry  2) hear — to hear

3) live — live in  4) take — to take
02 "® 2© 3@
03 1)isto 2)to
04 1)che Zo] Mg =stet7| lotod 22X A0|22 FRICL

2) L OS&2 Ri2kM $0AL7} A
05 1) She is saving some money to go to Europe.

2) Kate must be wise to do that.

0
o
e
=<).I=l
X
B
o



01

02

03

1) 3 et 28R ofoIRict

2252 1 ANS S0iA 7l

3) Lt 4 FHo| Tk

4) Blef U7t o] Al E2im Birtet, L o Bl

* (beSAt + O FANE OF0IL} O=S Lighin, 2ol 38
=0li= toFA} 2lof Bit. 2 i

FxIUBS| SEf7} 2lof Bict,

N of

Al excited
2a At live in the houseo|22 (to &AL+

1) 2tHe 22517| &t
2) F0IEE Hoi A2 SAIZ|7] 2ol el
3) OFRE= HO|X| o4rt,
* B Ra[5l7| +2S SE6hs easy to cookSE 0]0{x{of 511, ‘Hof M
EHA1717] 2I5t0d(to improve ~) Eal| SEUCH = S22 0[0{X{o} St
to be seen2 (beSAt + toRFARC| ojn| & 7H5'S K£Bict.

1) E2 £ Z OJA+ Z ofFolch
2) A2 A 7IXHES EF7| 2feh L™ Eol M miktch
* be going to= (beS AL+ toRHARZ HIL0 £ 4 U2 ~&F of|Fo|
2k= S20ICk in order to= toRFALZ HII0] £ 4= QoM 2AE 88
EX{(~517| flstod)2 SEBick.

o

04 *to celebrates ‘'~2 Z35t517| 16t0{'2H= 5201, grew up to bes ‘Ai2tM
~0| E|ck2k= SEo|ct,
05 *'~5t7| Y5tof'= to2™Ate| 2AE 88 & SXg S5t ~ale Ag EL'e
toR ™ALL BAIY 8¢ & WS S5ttt
; O
Unit 15 » 2| ZFSAL, AFSAL
Grammar Check-Up > SB p.53

01

02

03

04

01

02

03

04

04

1
1

tocome 2)help 3)snore 4)look after
do —~todo 2)take — to take
oH2 L7t 2 7Ictale 2g Bt
dal= oA QHEE 7iMeatn AIZCE

Z£2 150| MEXIE 7H4E Zdolatn 7|chRHe

3) finding — (to) find

1
2
3

Ann felt someone watching/watch her.
Jane made him do the laundry.

1
2
3) Kate smelled something burning/burn.

1) LK aujoli o raim
2 gAg 57 o FHI2.
3) S 7} ABHH TS T HS SUCH
4)ELS 147} 10| HRAE SRS AZCH

* SAjol| M2} 2xZ 2ofo| He7} LKLt askis toSHAL ALISAL et}
haves SAIE, XIZHEAL hears BRHZAILI SAIMSS 2xi74 HOJZ FiBiC,

QABHCH

TSMmHL

1) ORI Lol 21442 Crsfetn 2stict,
2) Aol 017 T1L49) ZOFXIE S2lMol a7k AlZiC,
2 EopFct,

3) A2 LHZE AR XIS = 2
*EXZ 02 tell2 toRFAL AlISAL get2 toRFAL help= SAFREOILE
x::xi*}é F|otct,
MR R
SN
it

= 584 270|H, SAtof a2t S Hoje| HEHIt Ch2C se
Oll-f SRHEAL haves SAIYY, expects toREAIE SXA E'_Oﬁ

* (feel/smell + 2X0{ + SAFRIS/SITHEAD, (make + SX{0] + SAHIE)2
SHEHZ FSISICE

1) The water is too hot to drink.

. H =
Unit 16 » tO—rzéu‘l' T
Grammar Check-Up > SB p.55
01 1)tobe 2)fresh enough 3)too
02 1) so big that he can't
2) so fast that he could
3) Ann has some problems
03 1) 352 4R Xt s7M7H E 4= it
2) £7H2 OFF Y™ AoiLEM SHEOIE = 4 JUALCH
3) I ©2 of= 7 2
1)
2)

10

2) Ann seems to be honest.

42 Student Book

01

02

03

04

Unit 17 » toF-7dAFe] 2fof4t

Grammar Check-Up

1) 1 QlEYE ARES| PIOiI Ll A 2ot
2) 0] SRE DIAIZI0) SE5| Adit
3)0] 22 142 Z0}M XISKIS0| STiE 4 ok

*(seem + tOFFAD, (H8A} + enough + toRFAD, {too + SEAYRAL+
for+ SXZ + toREADS| HEfZ MQICt

1) A2 LR 7{M 0|HS YUS 4= gict
2) 22 ZF0IM 0|7|7]0ll BE3| 2| SRC.
= E2 013 a2 g2 AF0IM 0|2 £ UL,
3) M2 EX7L U= A 2ot
* (t00 + H2AVEAL + toREAD = (s0 + HEAY/EA} + that + 0] + can't),
(H2AI/EAL+ enough + tORHEAD = <So + EEA/EAL+ that + 301 +
cany, (01 + seem(s) + to2™AD =(It seems that + F0{ + SAD

*(s0 + YEAW/EAL + that + 01 + can'He ‘T ~3llA ---& 4= giTt, (so
+ SZAYEAL+ that + F0{ + can)2 ‘{2 ~aHi M -8 2 QICF, (seem +
OE™AhE ‘~0l Zd Z k= S=o|ch,

—AE

& 4 Qlft= (too + &
LHE}

BE T VORS
ZtE (seem + to'='7‘ﬂf>§ LtE]

AL+ toREADE LiEHHT, ‘~Ql 2

FOlRf AA|

> SB p.57

01 1)of 2)for 3)to
02 1)Annis happy 2)Annwas happy 3) to join you
03 1) nj2] AEg MIRCh] 252 st
2) EO |:}O cgon:{ 7 7’°*E|-
3) Mgle 8 ZME HE Y7IE S|Ysit
04 1) seems to get along with Jane
2) is easy for him to translate the English book
3) is careful of her to drive slowly
01 1) HoiQlSS SCi 2= TR
2) 20| HIZE X|7|= 22 ofHch
3) A: 2|2t Zo| Z7E st AL?
B: 2l 5t 404,

02

03

04

LAl 2350 24

* Al2te| MES LIEHHE= E2ALkind Holl= (of + 2XZ)2 ArEstD,
difficult Floli= (for +=2xz)2 AFEStict want to play football with
use| BH=22 mlst7| 2f5h play football with usE 442kt want togt
ARBStTt

1) i si=st 24 2ot
2) Q2 SH=ESHE Zd Zic
3) A: 22l Fats B Z 7{ok. 2|2t Zo| &af?
B: ™2t 77 Ao,
* Ched(to + SAFYE)2 28| AMIQE Z7{LE 01F 2] AIMIS LIELTT
2tZ3i(to have p.p)2 2SAt2| AIMECHO0|F2| AMIS LIEFHTY, m2tA
Z0{ + seem(s) + toR™ADE (It seems that + 301 + S SA, (01

+seem(s) + to have p.p)= (It seems that + 01 + 1Y SAHZ H20{
£ 4=tk | would love todilAf toe to join youollM toBt 7| A2kt
Aot

*(wise + of + BXZ + toR2 ™A= ‘~SICi ---= HHSICE, (seemed +
to have p.p)e ~RE 2 ZUCHZ sHASICE (hope + toREAhE ‘~2
s|asictak= S2olct.

*~Bhe W ZPE (seem + tOREALD, ~7} -
+ 257 + toRFAD, ‘~Eict = t%oFrl
toR™ANZ EHBICH

= (easy + for
| +of + 257+

> SB p.58

01® 02how touse 03 friend to talk to/with 04 of him

05 cry

06tostudy 076 08 @ 09D, Q3 1005

11 tired enough to sleep 12 too difficult for him to answer

13 go swimming with you

14 seemed that Ann was angry with me

15 seemed that Paul had had a bad dream 16 @ 17 @

18 Ann asked him not/never to leave her alone.

19@ 20@



01

02
03

04

05
06

07

08

09 E2

10

1

12

13

14

15

16

17

O stoty L 2EsLYS
*{of + 2XZ))S toRFAIe| ojn
wise, careful, silly Sat 22

r"rio_>

easy Floll= (for + 2xz)0| 21 f
* O|2A how FHoll toRFAIS AtESSiCt.

* toREAP} 22| HAt a friendZ= 4—*43}:

0l0F7 |5t 2h= 2|D|0|= 2 toF AL

oA
- dzl= 32617 s GOIARKE AT
* plan o= 2X0{2 toRFAL

ED o2 I-H o HEoZ me ool
EI (I

® 252 ChA 2 20|t

@ T g F7Hx] 1 Y Bt Bt
@ Blef oA} sl2ip, B2E o B3| 3

@ Zoll= ot ot = 4 ULk

® o= o2 2ol ol2IES € ollFolct,
* 527(9t ©2] (beSAl + toREARE of

ol @)= 7H=2 =i

sllaj= 1147t M3tz ojop
* X2t AL sees 22X Eoii SAF

@ 2= ofc|2 Jtop &x| 220t
@ Zi= ofafristol 747|2 ZMHCE
Q) 745latzio|= 9= 2 o3

@ L B2 mz 2 M4T} gl= Zio|oh,

© Ltz ofmiLof#| =217] 9ish 22 =

* O ~5t7| Hlstod2h= o '=’APE1

@ (where + toE&Apo| 2x0]{

Li= U miEsA 512 52 3 4 ek

*(s0 + H2At + that + F0{ + can)2 (&

HHRO| £ 4= 2ACh

22 U of@iglA 7t cEre 4 gict.

BHE= T B

*(s0 + E&At + that + 30 + can't)= (too ~ toORHADZ HIF0| £ 4=

Aok

A: L= 2|9t Zo| $=5t2] 7t HL?
B: S, L= slet 20| £=AHat2] 7ha1 404,
*toRFALL] BHE 2 T57| sl toRHAA toRt E7|n

LiollA 2tk et 2 Z2uet

—’F—01 + seemed + toRHEADE (It seemed that + F0{ + A SAHS}

#Z2Xolct,

%L_ [,uu E'_ :Po-n:-| 7 7lon:|.

501 + seemed + to have p.p)e (It seemed that + Z0{ + had p.p)2t

@ = Liof#| 0§ Hois SEslatn

@ 2= a7t SHo|| tistod 28s

Q@ L= J0i|A 20l 252 di2{eatn Ak
@ 114= 0iA| 2% TX=2 AlZC

® &= a7t oe|E A= g =
* A4S A haves 2%{z) HOZ SA

@ = LS of2iAf cistol] 2 %ﬂ:.

@ 32 olopIsitiLl L= Bistx
@ a4 T 4AIE S F=E Eo|
@ 1= 1A mLfo} 2| Sc,
© 92 olxis TS,

* BUY o2 AL Fofl toR Ao + SAHHY

OE
OI'

/B:!em ALYO2I AL
2 B3f2{2, tos A 90l kind,

o talk to/with& £ct, ojuf ‘~2t
of] ZXIAF to/with7F BEEA| Qlo{0f

MEIZ LIEHNE niceZt YLD Z toREAL| o|o|4 F0i= (of +

=Y l_' LIHX|= 25 HAME Holct,
@ (decide + to'="gx})2| =2x04
g Q) (It ~ toBEAR2| F04 91%-’, @ Hol o9&

=2At+ enough + toREADZ

i

HIEf

18 o2 J0AH 2HE =Xt T2 LFEICL

* 1R 2HS (not/never + toREANS| HElZ &c}

19 [EZD A0|E= 3xo] 77| sl +7HS Bttt

0] :,-AE SICHL = of2| Ao

Q@ L= 0] et ZHZES SH0LA OfF 7| sict,
@ o= souwm Attt
@ el= w2 A| sl wzlof 24,

M
© a4 2ol = 27RE0| % ALt
*H719t @ toR ™AL 2AIE &

EHHo
¢lo
o2, @ HAIN S8 %90, @

<—.—01 + seemed +to have p.py= (It seemed that + Z0{ + had p.p)2t
Z2 solct,

L& 7471 7|27| > SB p.60
01Q 0203

FI|E= HlHA0| 0FS0[UC. = OFSCH2 AH0(210t = SHts 7HX|n
CHACH OfH SH2 AlISE MZ ARSI 2 %% f OIS SHME2 AMES

MZ 0[5 2EACE HiHA= ZAFS HEIHCE dlHAE FT|=0A|

ZAAZE MM 71 R HRIE MZSH=E TtSatn 2FRCt J2qLt

FI|E= AR Aol O = 0H & JHE YR TJ= aG0A

OE AMCHEX| et WX ZAPE S7|40] 47M a5 ot J2xt

FO|E= JWE Myttt ZAPZE 35 3o 2 Mds ot sks2l A

A= ZAAPTERIIER Z0] US 4+ A=F JL7H SHG| A= A2

S A

* AISA makes BX2 H0iZ SARYS

R
o

X0[Q1E M= MIAOIM 7H 5175 S2E 5 siLtolct. 2 2,000012]2|
XIO|QIE | 7H F20| MoflAf Atm QUL & CF2 200012|2] X}0|Q1E HE=
F2 70| S0 MCh A of B AIZIE0| 2e A17| 2lst0] O o] K|t
MAIXIS mialBict Xjo|E ME|7F 2159 MAIX|2 Ho[Q! OFM LIRS X|7l=
242 oLt XI0|ME HE7} BEEl= S 97| ol AHESEAISS MES0|
T A 4 U= HAS OHEST|2 AlEskn Qlot.
* (Y toR2=ALC| o|n|A =0l &AL hard7t ko2 (for + 2XZyo= Mr)
B =4 ~517| Yslof'2k= 0|22 HAE 20| toHA gt
plang toREAIZ 202 F5ict,

ch

Med E717| > SB p.60

01 1)tobesad 2)to have lost some weight

3) Ann has a boyfriend

02 Itis possible to go to the moon. We have to be strong enough to

pass all the training. Now it is too expensive for us to go to the
moon but someday | hope to go to the moon.

1) =%k F|0|E7t ZOIXIS 20iR0]. x| 1HE BHet=dl £T =101,
2) M2l: Lk= ofdl| %2 Rtof. 2= o 2iish Bi0]. £EH0 HiES0| & 20iE
74 Zto},
3)afial: =i oo &t Hxtoto|et FHag 2ol Hm QUof. HollAH| HXEITIH U= A
7}0}
* #|0|ES SHRE A2 J7|2E Wsh= 20|22 (seemed + to + SAHHE)
O=F M7 A7kS OHGE YA|EC}H 01X AIE0| Z01E 0|22 (seem(s)

i)

=
+10 have p.p)E £C}. Hxf QHo| FXIEITIH k= LI80|2 2 (It seems
that + F0{ + SxiE SAHZ &ct,

. E}E 20| 7ks3lctE (It is possible + toR&EAL ~), ‘~& 01E ZE5
CHe= (88AF+ enough + toREAL, ‘HF ~3liA & 2 glthe
(too toRFANZ EHSICE ~517|5 S|UBICl = (hope + toREADZ



Unit 18 » FAR| 7|2 7Hg

Grammar Check-Up

> SB p.63

01 1)going 2)Helping 3)not telling 4) writing  5) to meeting
02 1
03

)
)

1)1 Z&e 1 =50| EY7k= 2ig 2a 4 it

2) E2 TIAs L5tX| 20kM D|QtstA Azt

3) 22 Tt U= A2 A eldollM ofF FR6ICk
04 1) Her job is guiding tourists.

2) Kate enjoys talking to/with foreigners.

3) Ann couldn’t help crying.

01

-}
> o
g
=2
B |
m
N
2

N
o
il
o

i
N

[
i

mr o rg
f

o rlo
ne
r=)
1l

S
E3
2

OH
gl__l

e M
3
- 1lo

on M
[t
pall
2
5
i=]
o
&
10

rlo|m

O wWwN =
[ 2
fun 2 rlo ru re
N
i}
o
o
ol
A
&2

%)

*
g
0 08

=

1o

=
ChSoll= SAPH=2CL

El
&=
[}
e}
9,
al
g
Q
=
e

0

02 1

| MQIC} *~&h=
Zo|cholak= o2 EE0| Hof AYS she A2 SHAIR toRFALo|Ch

*
N O
02
=
N
9
2
u
>
©.
2
rm
4>
]
l
ell}
i
Hu
m
4>
4
®
o
z 3

03 *<(keep A from + A= ‘A7t ~5h= 2 Ct, (not + SHARE= “~5iA|
o= A, SYAL F0I= o= Aoz st

04 *'~3}= Zi0|cH = HOZ A0 SHAO|Z2 (beSAt + SHADZ HEH5HH,
‘E7|cHeks 59| enjoy= SHAE SX0{Z FsiCt ~6IX| 42 4 glrkes
{can't help + SHAH=Z FBIBICL

Unit 19 » to S ZALR} S THAL
Grammar Check-Up

01
02
03

> SB p.65

tobuy 2)making 3)meeting 4)to inform

)

close — closing  2) meeting — to meet  3) to leave — leaving

)

) m

1) izl Mg Chte Zig WUX| g Zolct,
2) szl MIQlat BHatE ZiE 9lX| e Zdolch
3) &2 JHol|A 22 At F7] {50 HHCE
4) £2 JUolA 2 Al F= 2g O0HRUCE
)
)
)

04 1) John regrets calling Paul.
2) He tried to write an English novel.
3) | remembered to take some medicine.
01 1) OHHX= LHA| A 247HaES AL SRAICHT Ob&SHANCE
2) o2 FS ttes g 2Rl
)
)

= EM
3

4) F410] BiHE Cistofl ieto] 5i7H=lX| EUSS L=2lA =of FAYLIC
* promise= toR &AL finish2t avoid= SHARMS SX{012 FSict 2oy
~o}A| =0 RZOICHS SEek= (regret + toREADZF L9t

70IE= E& PiLt= s T3ich

02 1) Y=2S ot FAELI?

2) sfizl= EQYUo| Melat ghtr|S |t
3) Lh= watME ZHMRX| QAT Lh= 222 Eeh ol s U A 7|AdLtch
bS OHA A S 712
1o = A=

*minde S¥AL wants toR2EAIIE 2X0{2 F5ta, 2
7|43ICHE =5k (remember + SHAD 7}

03 *(forget + toR™Ah= ‘~& 22 At (forget + SHAHE ~8t HS

= =
UCH'E SEBiC (stop + toRHAD= “~5t7| flsto] ”FCY, (stop + S¥Ah=

3|5t (regret + SYAD, ‘~5ta{ 1 OHMCH = (try +
tOR™AD, ‘~& AHE 7|5t = (remember + toR™HADZ EFISICE

12 4 Student Book

=of 22, 2340 F0{ %8, A finishel 2]
t

nit 20 » EAL] 2JojAf Zofe} o[

01
02

03

04

01

Grammar Check-Up > SB p.67

1) her  2) having kept  3) his
1) her being a famous singer

2) his/him having told a lie
1) 27k 2 Holl otz =[Lte?

2) A0|E= ME2 TS A= Zofl sl 4lo] ok

3) eh2 1 Hutxloll chall =S WE 22 7|ASHCh
1) Ann was surprised at his coming home.
2) Harry was angry about her laughing at him.
3) John is proud of having won first prize.

1) 2= A7t == S S0feHR| eCh

2) o2 ok2 X|7I s XAzl Rt

3) 2ld= a7t il TR= 24S A0i8ict

* AR ool =0l ARZ0ILL SXAS ARESICE MX|AL of FHoll=
SYAIS MEah=t|, Li82 SBALS| AHPH2SAte| AIMIECt 01X2| AIMIS

02

03
04

LA A A

LIEHHD 2t (having ppIO2 At
e

1) A2 27t RS TatM SRICH
2) A0|E= 7t HALE siA Folsict,

*{remember + having p.p)e ~&UH ZS 7|25ict 2k So|ct,
* be surprised at, be angry about, be proud of= Ctgol (AR2/2%{Z
rS

+ SYAD7t 20t 20| 012t SHALL| ojn|& 017t ZoH FX|AF CHSol
Hi= SEADH2Ch

> SB p.68

01 time making 02todo 03®,@ 04® 05@ 06 making

07 tosay 08 to water
12 not helping
question

01

02

03

04

05

06
07
08
09

10

09@ 10® 11 her having graduated
13 going 14singing 15 for not asking me a
16 @ 17 @ 18 his’/him playing 19@ 20Q

A: Ol47H ZI7E AHE Z40] of24RIL?
B: 8, aldE 2TE MHE ol EIE ARZIS B0,
*¢have a hard time + SHAhE ~3t= O Sl AZIS 2L

i
YR
e
o

- AOIELE £HIS SHX| LRUCE JlE SHISHs S AofHRCH

- AEl2 SHIE 51| AIRRICE

*~Bhe A4S Yot forget Foll toR ™AL 21, start Foll= toR &AL}
SYA 2F SH0Z 2 Uk

7|YTIALS EHlohs A2 A2

2 AS ZCH
* SEAR} tOREAPE 2F FOIZ 2 4 Ak

=3

= enjoy, give up, avoido|ct begin2
[t to2 ™AL, plan2 toRHAIE EX0{Z FSict
+ J4= OFElE B A2 ARRICH A0ieic/Zotettt/EHE E0tpict.
+ Ji= HTE A= A2 ARRICH &0{3ICH/Z0IRIT/EHY Z0teiCt
*start, hate, like, love= SHAteH toRFALS SX0i1=2 F[5tH, decide=
toRHAIRtS EX{0{=2 F St

*Lah

rm

Ag F3l5tt= (regret + SHADZE 20t
*~517| fIsto BECH= (stop + toRHARZE Act.

o 22 7|d5lcf = (remember + toREADE £L},

rir

~5}

OfA| Lt= L0l A o2 B TSHX|2E L= HEHE —IX| §224Th
= LE= Of| TIH0l|A| TSHS Stad 1 otk
*~5l2{ 1 oML k= 50| =™ (try + toR AR 220t

E2 AlYsk= A 2%t
@ TLo| mlgte ® MAHE ofdists
@ o2 mEjo|A 25 BHRE 2

d0|Ct
2 7loig
@ AM2 M 22 130 HX| UL

Zo|ct.
{Zct.



1

12

13

14

15

16

17

18
19

20

@ 11010l BXt AH= %S S L
O rel2 SHoM als 221 Qlct,
* 2719t D@ 2F SHAIH, O SRS Mol Sxj=ALo|C
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® drive — driving
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L5t | Qs 2SIt £ AISS [Tt XISt SF Eo|Lt & —I
ZHISOIC}. 22 MIZ7} HIFERoZ Xf2t7| AR EH Mot B8 MZ=
UF 7|7t SO A2t FHe=rh a2t & ME= 0| E mi7ix| Al X2tk

* 57| Qe =HGITHE (try + toR™AD7E M0 1, begine toRFAILE

SIS SH0(2 HBICE Untilo] HAAIR MHODR ChEoll= (0] +
Sibt et
Med E717| > SBp.70

01 1) taking an English exam  2) to bring the English textbook

3) to go to the dentist  4) to meet Kate

02

01

02

Kate enjoys watching comedies. Her dream is to be/being a
comedian. She makes us laugh. We can't help laughing. We look
forward to seeing her on a TV show someday.
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Unit 21 »
Grammar Check-Up

01
02
03

04

01

02

03
04
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> SBp.73

1) disappointing  2) boring, bored  3) falling  4) polished
1)invited  2) living  3) weeping/weep 4) stolen

1) S0l HAES 7ot QUE AIRIES L2 HIRE UL

2) 2= LA E Sglofof ofa M1 A ‘Lolut HICHE SUCH

1) | saw a policeman chasing/chase the thief.
2) He had the roof repaired yesterday.

1) A O3l 1 al= OfgL?  B: AAaigiof,
2) 24942 SHISS XI=P] Yok TS XIFE SoIgict
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* 2R0{(PE 3 Yt RIS’ S5O BAOIDZ (see + o] + SHRAY
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Grammar Check-Up

01

02

03

04

> SB p.75
1) Thinking they might be thirsty
2) Crossing the street

1) As/Because/Since we didn’t
2) Although/Though he got

1) 2= AHQIOIS 23t 4 B30 TR0 47 LEE RS Ol 4 YUCH
2) Li= O mheloll SRS 1 L 27 ol SR A ks 2 Hoc,

1) he got off the bus, Getting off the bus
2) she lived in Germany, Living in Germany



01 1)Lt= 50| 250 %2 72kn Mzt
2) Ak Y2 Ak B9 ol 251

SATES OIS ) DX HAAIE Mt Fu0 B4e| Fop7t 28 o
ing

17] W20l ZSolA ot ZE FUCL

F0iE glelct, oix|2fe = SAFEFO -i

02 1)=Rak= 47| T20i| 0i BH7F DTt

B2 x| o
2) 2 HE B MRS WOIK|PH TR0 BHESHA| 2Tt
*EAPSS SAPR HEE gl 20| 12 23S FHAAE M, FEO|

F0IE SEE F0i Xl2lofl Lot oix|gez EA}E ZEo| AlHlofl StECh

03 *EAES siAlE o= o, 0lF, £, Y&, Boid&ol sigsh= TH&Ale|
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Unit 23 » F-2[af{of & BAFLE D
Grammar Check-Up

01 1)Talking 2) Written

02 1) (Having been) Painted in a dark color, it needed some bright
lights.
2) (Being) Imported from Germany, it was very expensive.
3) Having slept well last night, | feel very good today.
03 1) R ARZS3td|uwsl 2CHH, OMAOIRIER2 O50| &g Ta2| & HH6HK|
25l
2) Lh= 11 @32 Tofl & =2 =o| 7| mhZoll ChA| 2o AX| ik

04 1) Not having brought a pencil to the exam, | had to borrow one.
2) Exhausted by final exams, he went to bed early.
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3) Having lost

01 1) Ll 2o} Ha} 512 iRIA 710|142 MLt
2) 1 HX= ATRI0f2 M37| TR0 L7} 247] of2iRiCh
3) Lt Ofk| SCHTSHE 20it{2iA Lol Tisie 4 gict,
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Grammar Check-Up
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01 1) It being a fine day
2) Judging from his accent
3) The train arriving at Seoul Station
02 1) Frankly speaking 2) taking 3) Considering  4) closed
03 1) HiZo| Al XX REl= HE ZS Al Y2 LT
2) U= =M ALMOIA| =28 R3st7| Hof 21 Mg Hosim 24sHof St
04 1) doesn't ask a question, The teacher not asking a question
2)

Generally speaking

01 1) M7} 313tat7| T2l 2l Abistal stof Lizt Zdolch,
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07 Not wanting 08 Havingspent 09Q@ 100G 11Q 12®
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18 had/got, painted 19 A boy waiting for a train asked me what
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time it was. 20 Not having received an answer, | wrote a letter to

him again.
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> SB p.82

01 1) Talking to my mom on the phone, | heard the doorbell ring.

2) Not wanting to cook dinner, he ate out.
3) Having lost her dog yesterday, she still feels sad.

02 | am interested in soccer. Yesterday | watched a very exciting

01

soccer game. All the people in the stadium were excited. The
players were tired but did their best.

E2D HIE Ol= SARI2E 0476 Fota =7ict

02

1) Ltz ofmL|et HMetZ Sateh=s S0 simto] ga2l= A28 S]UCh

2) 3= MYEE 2|5t AR 27| w20l shofl L7k HACH

3) Tl ofR| ZOHKIZ LoiHR7| TR0l 01%5| SSHC

FEAES BAROR TS (e UM HAAS Maksin 280 Z459)
Z0{7} 22 1 F0{Z QMOHCE OFx|ate 2 SAFAF) -ingE 2QIct.
EARC| BH2 (not + BANE MM, S| AR|I7H FEC| AFLCH
0| A2 A=Y EAR(having p.p)2= 2Lt

*‘~0f ZHA10] AUCHE be interested in, ‘S5 =2 exciting, ‘S25H|
=2 excited, ‘XIZI'2 tired2 EHSICE
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Unit 25 » g, Bl g, 2|43
Grammar Check-Up > SB p.85
01 1)as creative 2) more foolish

02

03
04

01

02

03

04

4) the coldest

2) faster — fast
4) most — more

3) the most stubborn

1) hotter — hottest
3) more taller — taller

1) more attractive  2) not as/so comfortable

1) The bus was as crowded as usual.
2) Paul is the most curious student in our class.
3) Sam is more selfish than | thought.

2

1 a2 Zo|Fo|ct,

HCHE 0f2|ACt

3 = Jue| stmoflM 7HEt Ejo| Ml fAo|ct,
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*(the + 2|43 + in)2| YRt =I0{0F 511, {as ~ as) Afo|ofl= RAtS| R1F0]
ofo Bttt tallol HlmF2 tallero|td, (Hlg + than)e| EEH7} =|0fof Stct.

1) MI2l2 AH|0|ECHE HEd=0|X| 4ct.
=#0|E= Q=L of oiZ{olct,

2) 1 Qxb= O AntErck= E HOtSICt
=1 9X}= O AniPhE HOKSHK| Q4ct.

*(A not as ¥x as B) = (B H|g than A)o|1, (A less &F than B) =(A
not as &= as B)olct.

*0b3 B0 (as + ¥F + as), ~SolM 71E -5t
‘~HC} O --3P2 (H|mF + than)2 2 Easict,

‘2 (the + ZAZ + in),

Unit 26 » 22} H| 20| of2{ 71z| &4

Grammar Check-Up > SB p.87

01 1) much 2)bigger and bigger 3) more and more interesting
4) The more, the more

02 1)shecan 2)wider than

03 1) 1uo| M2 10| Murt A v 7

04

2) OF2H0iE M= A2 FoiE M= ZiECH W O ofCh

3) M7 HEg4-E fel= o 0lo|AT 0| 1 Art.

1) Paul will send it to you as soon as possible.
== Paul will send it to you as soon as he can.



2) This tower is twice as high as that one.
£ This tower is twice higher than that one.
3) The more | study, the more | want to know.

01 1)0| 532 M=t A2zt &N 3t
2) a9l =2 MA of K|z Uct.
3) 1 0lop|= B S0|29X|1 Uk
4) Lii= Bl0| 745 o Blo| FHXI Hof Bict,
* H|@ES Z=5h= A2 much(@M)o|1, ‘A o ~§Fol2ks £o= (H|lug
+and + B|22)S 2Lt (the + H1Z, the + HRE)2 ~&+2E
---5lCH2t= Kol

02 1) A0|E= 7ttt e a%tg 8¢ Ho|ct

2) 0| 22 X ZEct 4 Hi7t Sk

*as soon as possible = (as soon as + F0{ + can), (His=AL + as + ¥ +
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03 *(HihAL+ a5 + BB 23 + as)= ~ach - ©f -8, (much + tlmg
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~3icheks Zolct,
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+as + S8At HF + as), ~EE O -5l (the + B S, the +
Hma)o=z HH}

Unit 27 » Z|%52| of2] 712| 84

Grammar Check-Up

> SB p.89

01 1)students 2)cuter 3)the happiest

02 1)smarter than 2) smarter than

3) other student in my school is as smart as Kevin

)
)
)
03 1) 0l M&olIM 71 2elE S 7125 & stutolch,
2) E2 XIZ7HR| L7t BHt AE F 7FE 271 AH0|ACE
3) O 7k ARITHS ZISEK| 2SIt
04 1) This is the most interesting book that | have ever read.
2) Kate is more famous than any other painter in the world.
3) No actor is more famous than Kevin.
01 1) 22 22| stuolM z|12| st = 5t Holct,
2)

=
FOIE= 22| oM T ofH AHECE o HgCt
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3) 22| Stuojl M 2 ofE ShiE ARITHS EESHK| ik
*(the + 2A3) = (8|12 + than any other + Tt HA = (No other
+ B BAL~ as + 23 + as) = (No other + B4 AL~ HnF +
thano|ct.

f
8

03 *{one of the + 24T + B4 HAPE 7H ~8t A B2| SiLE, (the + ZMT
+ that + Z04+ have ever p.p)= ‘XIS7Hx| ~gt 2 Sof| 71z -8, (No +
Tt AL~ as + ¥3 + as)= 'O ~& ---BHE K| QITHE SiAISITH

04 *(the + Z|&3 + that + Z0{ + have ever p.p), {t|i1Z + than any other
+ Bt AP, (No + B AL~ H|@F + than)2 2 #BIC

LA A A

01 twice as expensive 02 he could 03 as important

> SB p.90

04 smarter, any other student 05 stronger, Kevin 06 less strong
076 08@ 093 10Q® 11 more and more popular

12 one, the funniest students 13 the best movie, have ever seen
14 The higher, the colder 15@ 16 @ 17 worst 18 better
193 20

01 2 EXI= @ 0|7 1 M2 ot ojck,
= M2 0 EXR[ECH b sl

16 4 Student Book
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*(A not as ¥3 as B) = (A less &= than B)

70|E= LIECH oS o Bo| 7Hx|1 Ak
*many2| Hlu=2 moreo|ct,

S3h2 22| 2oA T2 ofd M4-RCiE of Fstct
* goode| HlmZ2 betterolct.

O Lol ME2 120t S o Hisct

Q 'si2|ZE = XIZVHX| L7t 2 2 SollM 7HE S0|2 2 Holct,
O ol Mol M 7k 17| U= E F2| stitolct,

@ M of 2xsHx|n ek

© #HolEL 22| goflM 7hat ZI=sH Aok,

*(one of the + Z&F + 2= BADS| HENZ At

Ao|E= FMECH EW o =sict

== o=

*H|nZES ZxsHE L2 alot, much, far, evenolct.

*EE O ~SF2 (HIEE + and + HlZE)E M0, populars 28F 0[42]
ZE&A10|22 more and more popularz £ct.

* J1E ~ 5t 9| BILF = (one of the + ZAZ + 24 HADZ LIEJHCE

*XIBIR| ~St A B 71 B2 (RI4F + (that) + 301 + have ever p.p)2
LtEHHTE

* 8 o -3 (the + HIF, the + HImSZ)2 = LIEHHCE

262 0| ol M 7H ofd={el Aol
S22 0] Ho| o2 ofH A ECtE o of2ix{o|ct,
2SS oiZFo|ok
@ o] o] o] A= AT DHZX0|X| R4ct,
©o0] &o| o] A= ZHECH IHZXO|X| Q4ct,

* 2 dZHlmo|=z Ct2 25t o|n| 7t 2| Lt

=
=
=

@ o] M2 X ML
@ o| M2 A HMeCt BTt

® 0] M2 X FMEct x| it

* (A not as/so & as B) =(B H|mZ than A) = (A less &3 than By

0f7|= 22| 0F20lIA z|2te| Algolct.
*badQ| 422 worsto|ct.

2242 L=t mjoteS of & FIC,
*wellel H|w=2 betterolct.

A: LH= of= QIE|Y T MH|A0] 71AEEK| ZHSIX| Z3H04,
B: #tE4-2 Zof,
*(the + Bl 3, the + H|W2)2| FEHZ 2C}.

20 Halplete auel talpteters Zx| el
= 2140| ofallato] 29| ofajfatict of 2c
@ Aol S| stmolA 74 BEA0| 2t SAYolct
= 22| 8tmO] Of{H ST A[0|E0HS BEN0| sHRI= Blct

QA2 7ks3 5t THS| LT

@o| Altte X At S B Mok
# X A2 0] Alo| = v M
© 472 20| T2 ofE SIYECHE o BHHC



28| O o 3= +THACH HHSHX| it

A These shoes are twice cheaper than those ones.
=Those shoes are twice more expensive than these ones.

25 747 7)127| > SB p.92
013 0205
01 s2HA= MRAQ| 0FS0(QiCt = :LEIA S BoIM 7+ £E34a,

HRA0| HZS C2 ME0|A HEFCEL 2= CH2 o MECks Mint J=

S0 2R MES M Wl g7l BXiE M UFSEI |lgolg 1 oict a=

ESHBANE 2= ORI S| o7 |= FCk O= 2 ARE MEe2

7H=E i3t

* (H|m3 + than any other + B4 HAHE ALZ50
ooz fastests faster= HRELY,

ﬂ
X
[

o

F

ol

9&

kJ

02 7HH[Ql2 w2 M=o ut MM XX oz BHSO0TICt a2 ot
QIBHOZ S0IMM £ AE0 ®7HE 4 U0k 7HH|I2 A, AHuIAET,
ZISHoll S0I2UCt. ofH AlFS2 7t Qlofl 2izketd], 250]
CHE AIFSTIE 7HH QIS HX| 2247 | 20|k ARE2 FHmielo) 2ize+=

*Hng Axes muchE M caffelne° Al 2= gl HA|2Z as much
= g2 (the + HI the +HlushHez

Med &717]

01 1) longer than any other river
2) (other) river in the world is longer than
3) (other) river in the world is as long as

02 London is one of the most beautiful cities in the world. | went to
London last summer. The more | visit London, the more | want
to go there again. | went to the British Museum. It is the best
museum | have ever been to. | saw some mummies there.

> SB p.92

01 [EZD L2 iAol 71 71 ol

1) LiZ2 MAlel cte o ZECoiE o ok
2) M2l ct2 ofE Y& LigZEct of ZX] gt
)HI71I°I CHE ol Z Lidats ZX| gt

Z|42 = (B3 + than any other + &4
~ B|1Z + than) ={No (other) + 4= HAt ~ as + ¥Z + as)

02 *71&t
-3t
<3'E| o=

N@Zi%olﬁ = (one of the + ZAZ + 24 HAD, ~&4E ¢
2 (the +H|2Z, the + Hl13), XIZVIX| ~8t A Sof| 71 ---5H2
A + (that) + ’<01 + have ever p.p)Z ZEsi3iCt,

Unit 29 » BHAMY-S o|T1= LA}

AP = (No (other) + B4~ A}

03 1) A: 147t Hof ¢

AL

Unit 28 » T2 + and/or,
Grammar Check-Up

01 N)ynor 2)or 3)are 4)like

> SB p.95

02 1)If you study hard 2) If you don't wake  3) I, well as Kate
03 1) Y= xlat, J2fH L= TlEskR| g Zolck

2) HHs| waat, JE‘II oW Lh= U7t she S OlHE 4= Qick

3) A0IEE ABlE M-S SHX| UUCH

04 1) Not she but he can speak English fluently.
2) Not only Kevin but also | have/eat lunch.
== | as well as Kevin have/eat lunch.

01 1)Z0IEE ALI= L‘IE ST

)
2) E0|Lt & £ & B Ho| oAt =2Ac
3) MiQlnt Lt = ot sHdolct,
4) 7|Hkegt opj2t LiE

[ll|0
o
o
@
e

* AFEE2AL neither A nor B, either A or B, not only A but also B= Bofl
SAe| £ Ux|A|7|0d, both A and BE S 24 SAIE ARSI
02 1) ZRE Ayslshat 1aH He 22 gxig e Zolok
2) X|g Lojutzat 2| te™ L= &huol| =& Zolch
3) Z|0|E®at OtL|2t LIE 0] S 27|15 |
¥ <E‘§%‘§—E— +and) = (If + F0{ + SAD, (E‘é F=2 +on ={f + F0{ + not +
SAb, not only A but also B= B as well as Az HHR0{ £ 2= QUCE
03 *(HHZ + and)=~afizt, 22{H -8 Zo|ct, (FHE + one ~alizt, 21X
2o &t Zio|ctek= SEo|ck

04 *'A7ztoiL|2t B'= not A but B, ‘At otL|2t B="= not only A but also

BLI B as well as AZ Z3iBiC}

y

{FEEI—E—E-
Grammar Check-Up

01 1)that 2)whether 3)what

02 1) Do you think who — Who do you think
2) What do you know — Do you know what
3) did they eat — they ate

03 1) if/whether she will take English lessons
2) what he did last night

04 1) | wonder whether she will join our club.
2) Who do you think he trusts?
3) Do you know who designed the building?

> SB p.97

01 1) 92 Z0| 1242 70| Fckn MBI

k:
2) 22 AlztoflAl gRiET7E QleX] SFsich
3) 4= 117t D0l R4S AL FT ASX| OpL?
* AL thinksel 2x&2 0|Z0fof 522 thato| Lot 5k,
OfIX| 2F3ICH 2k 20|22 whether7t Loict, 2aHA
Ot ?'2H= £20|=22 whato| gict,

DAL ‘~.OIX|
O Al

=}
T et
o | (=1

TA=E ALTl

02 1) L= L7} -T2} Ofof7 BT AZLBILI?

2) L= 7t 2US 57|12 YEH=X| OfL|?
3) L= 250| Aoz 238 HAUE=X| Oh|?
* O2AL Q= ZHHOIRE2 (QI2AL+ 0] + SAHL| 002 Mot FHo)
SAP}thinko|™ Q|2 A7H 2% o ofofl 2ct,
*Ag 52717
B: Lk= 1471 Hof 8 ESXI 227104,
2) A: 1= ofzlidtol] £AS #L?
B: L= 17} of Aol R4S x| S22t
* ZIHO|220(| M 2|2APZL gle™ (if/whether + 3201 + SAD, QI2AI7} Qo™
(QU2AH+ 0] + SAHL| 002 20}

04 * 7IEo|222 (if/whether + Z0{ + SADLI(QI2AL+ 301 + SAhH2|

=

Ol MX|2 FHEO| SATt thlnkOI‘?j OIZAPL 2 oh ko= LE2CH

Unit 30 » SAPES O|= &AL

Grammar Check-Up

01 1)when 2)Now that 3)so hungry that
2) because of — because

> SB p.99

02 1) will have — have
3) don't like — like
03 1) Alo|E= 2EMo| 237 w20l OfnRESR EEE ot Zuch.
2) 2 AlRlE FHIsHoF 37| w0l ofRltofl A K| 7H0| AACE
3) A2 6MRH mok=5 X Rict
04 1) Paul will graduate from his university unless he fails the final
exam.
2) Although Kevin is not tall, he is good at basketball.



01 1) AH0|EE 164 mf =2 BmM47} E[Q4CH
2)ae 5% ofZt 2ot7| 20| AHZ2 MP3 E30/015 A 4= QICt.
3) M2 Bi7t S TIkM 0= ZI0IEX| HE 4= ULt
* 147} 164 I 2h= 20|22 when, ‘7t =2 2317| Ti20f'2h= £ojl22
now that, ‘42 {7+ IkA 0= ZI0|EX| HE 4= UCHEH=E 20|22 50 ~
thato| &gtct.
02 1) aS2 Alzto] e ATS 2] 2 Zo|ct,
2) Hlo|EE EE Zol5t7| 2ol 47} 7HE Eotskes S J0f|AH| FUCH
3) U7t 1 S ZOtsHK| o™ L7t a2 2o At
* AZE Z=719] BAREOl| A= SHRHAIM|ZL OJ2HAIRIZ CHAISICE because of
Foll= BAZE 21 because FHoll= (301 + SAH7H 20, unlesse if ~
not2| 50|22 FHoil don't7t 2 4= gict.

03 *as= ~&h7| R0f'2k= 50|13, sinces “~&17| W20’} ‘~0 2= 2=
oz Mmolrt

04 *unless= ‘~&tx| 2H=CtH0l2H= 50|11, although= HIZ ~0|X(2F0[2H=
seolct,

Lia! Z3A 2 > 5B p.100

01 Unless 02 Both, and 03 Neither, nor 04 only | but also Jane is
05 had breakfast, she went to school 06 3 07 have 08
09and 10or 11 Who do you think

12 Do you know who answered 13Q@ 14@ 156G 160
170 18Q 193 200

01 U= SIS ERX| b=t 3lojof &2 Zdo|ct
*if ~ not2 unlessz HH0{ & 4= Qlct.
02 FH0|E= AlE ZO0tstal LIE AlntE Z0ISiCt

=#0|E2t Lt = Ct AlItE Zotsict
*'A%t B & Cf'= both A and B2 ESisict,

03 70|E= 1 Yt £O0I6HR| =Lt A= 1 Hsts £0I6HK| =Lt
=F0|EZ AEI= O Hsts Z0L6H| Y=Lt
*AZ BT ~5HX| ZCHE neither A nor B2 E3siCt

04 Lp#gtoplat Mel= oft M4~0|ch

* A as well as BE not only B but also AZ B0 £ 4= o0, SAe| &=

Aol YXIAIZICE,
05 oH2 stmofl 77| FHoj OFElE HUCH
= o2 OFElIE 2 Foi| stmof ik
*before A, B= after B, A2t 22 2|ojo|ct.

06 - Li= 1147} 2X| o 28X maCh
- Li= 7} 9219 & of2aictn Azttt
oA} ‘~OIX| OFIX|'S == F4A} I} SloF 511, SAL thinkel 2xg
OIBTA ‘~24'S S5l thato] 2},
07 20| OfLIZ} Lii7} B ZES Lo} B},
*not A but B Boll SAje] 48 YxIAIZICH

08 Ilf= O50| O ARS SUEX 235HRICL
* ZAbwonder Foils ‘~QIX| OFIXI'S k= F&AL whether/if 7 Melct,
09 *'~afiat, 22 --& Zo|cH e (HHE + and)= Edisict,
10 *‘~3li2h, JZX| o™ -8 Zo|CHE (HHR + on= EHSICE
11 *FHo| SAPtthinkY HP 7|2 20f MOl o|2AH= 2Et0| T Qtof| 2Lt
12 * 2APt = BAO| IO ER2 (Q2At + (F0]) + SADHQ| 0f=O =2 ALY,
13 DLtz a7t =l H:f
Qe Eo| oo 2
Q@ R2l= azlo| 285t ’éé"—,‘OIElE Ag gouct,
@ Y7t 258 k= A2 F235ILt.
® "ol vt a8t 2§7101I M FCHs ZS AL
*®, @, @, ®9] that2 ®&At0|1, 32| that2 X|A|ILHEALO|CE,

PO
ru'|5 0
FQ
i

14 22|= 47t 2= 27610 AXHE RiCh

*though, although, even though, even ife ‘~0l= 75t '2H= 0|1,

if= "gret ~o|H'ojz2k= SRo|ck.

18 4 Student Book

15

16

17

18

19

20

HO|E= OF=7| mh20f|, Stmofl Z 4= UCH

*since, because, as, now that2 ‘~0(7| i20f'2t= 50|11, thoughe ‘HIZ
~0|X|gh ~0f = 275t k= S0|Ct.

@ Ui a7t ofclof| AtCha A42i5t|?

@ UE =7t s Z0K5H=X| ofL|?

Q LH= a7t OfREEIT QR 233t

@ L= a7t Hoi Algloll Sigi=x| 22c,

® Ui ollcieo| st Z40| £o10[2tn MZH5H|?

* FHo| SA} think 2 ZFHOI220f A01 o|2AK= 22 O /o 2Lt

@ Li= a7t HEE = 2 201K 2351t

@ Ye 2217t 7{7|ol| 21| 2t Z4QIX| ofL|?

QL= TVE £ S0 2HIE & Zolct.

@ 2= HiZo| BriH QIE5HX| 42 Zolct,

® 152 2US nix|m ATS 51 2 Zdo|ct,

* @, Q= BAIEO|ZZ D[ZHAIHIE AKBE 2 2T, B, @, B Azt =719
EAFEO|Z 2 O[2HAIX CHAl SXHAIMIS £20

@ ofmiLi= L7t Zoll S x| &S F2A 4 iich

@ 4= ojRol| OHASE0| T4V | 20l SEC.

@ M2 Ho| Mg SFAAIF|7| lsH FHLITHR 24Tt

@ L7t X= SCtol| TE7E 23t

E2 3% oi2|7t 2237 | 20| E7E & 4+ it

* 2aiA ‘Ao MHE SHAAIF|7| sl 2H=s 50|22 OIRE LIEMLY

because, since7} 2o stct.

rr
it
P
>

@ T= 104 HHERE] 047]0flAf Am QICt
Q@ A2 7IM7I2} OZX| 2O L= Hiol| 22 Zo|ck.
B ALIEE ALz 2TED} QAESIV|E RGHK| Qh=Ct.
@ = GAE AX| 2P 225 2 ol
® 0470fl lofa}, 22{H Li= QHEEH Zo|ct,

* neither= norat 27 ALSSICE

@ ot 4T ZIE6HM 2Zig & 4 Qict
@ 1= Hoi Aol Zoi%y| 2ol &= CHE Foi AIRS Hiof Sict,
#:l‘: ?§01 AIZOlIA] HO{RX|ZH &E CHE H0o AIRS BtOF BiC,
Q) Z2 0kF 7t 1mbM ol ZH0lE TS 4 UL
@ L= GRI orom TVE 11 AES 2 Zdo|ct,
O L= *é = sl 2 AIYollA FCh.
*now that2 ‘~0|7| m&2of'2k= 520|122 thoughet 242 2jo|7} oLk,

L& 7471 7|127| > SB p.102
016 026
01 MRALE sHs9| MOIRL AS2| SRIXIYUCE HMIPAE 12| OHHR| A2=AS

02

SR} 71 50 2= Al ks SXIAPH SIRICE 1 Folo] Al ot
OfLIk xfle] 071 Blth, T ot AIRISS BB 5K AlCtSt ARISS o
Z9ICt 10| 271 B T =37k 1B SLPY SHSS HHS SO

ARYS0| RS S17ILt 244 S MERIH S FRUc
1o
ssolc

r_".ﬁo

S AU

*2|512t2 Si7Lt 44 0f7|B0|2}s 0|22 ifE AIZsHOF BiCh. unlesss
‘Bio} ~5iX| QH=Chat'0|2ts Zo|c),

RF2 7HA0|H YSTOIM XAIxo 2 wYE 0| 2EF2 215 ESH
ZC}. eliLkstH T2d0] EfEe| si=2 X}SI ME ol S+57| mf

QlZto| BHE 3EIZ R IR0 2E S0 HO| AZiCt 0]Zd0
QFEZF0| Y2 MAE o F{ZIct B2 LiatSo| O3 aEiExs AP%ERI
oz -GHK|TH MEF| 01T5| O SEIS0| Ho| {lC

* because of Foll= HAL because Floll= (F0{ + SAR7H2Ct

X&ad &7|7| > SB p.102

01 1) Jerry lost his wallet, he bought a new one

2) Jennifer went shopping with Kate, she had a sandwich for lunch
3) David studies hard, he will fail the math test

02 Kate : What do you think this is?

Kate : Do you know who gave it to Ann?
Kate : Then, who do you think Ann likes?
Susan : | don't know if she likes either of them.




01 1

) M2ls XIZg 2oiHRich J= MER XIS Mok
= H2l= 39| Xizs AoiHE7| tEo M22 XIZE M

2) Mum = FHo2 MERXISE HRACH 22{1 LA HIOIEE}A IS 24Tk
.

*

02 *

= Hlo|m= A O|E9t £TE 71| Toi| o= MELIXIE HAUC

3) HiolH|E= 3RS Hals| siof Bict. 2HX| o™ Ji= 48t AIR0lIA
=0 Ao|ct,
=dlojslE= &

= [X| Q=ChH 45} Al&ofM Zo{E Zdo]ct,
because= 0182

5| BHE S
LIEHHT before= 20| ZISEl= =MS LIEHHCE

AT U= ZHHOIRER (Q2AL + 0] + AR Of 22 MX|2H FHO|
SAPt thinko|H S|2APH 27 e ool 2L

Unit 31 » 2HA|CHRAF who, which, that

Grammar Check-Up > SB p.105

01
02
03

04

05

01 1

1) that 2) whose 3)are
1) which/that  2) whose  3) who/that
1) Look at the house whose windows were broken.

2) The taxi driver who/that took me to the airport was friendly.

1) e LE20lA 245 X|Tlofl chell S01= =o| UL?

2) Lioi|A| 280l 7h= 2 712|174 & I Al 20| HF HRtct

1) I know a woman whose husband is a professor.

2) The book that/which | read yesterday is Pride and Prejudice.

) Ut 8 BT OfRbt Lol 0 ettt
) Li= R=8 ohm Qi Rfol 3012 2 47} YICt,

=TT

3) L= ZFE AlYS Hol= A4E2 21 Ak

*

02

AH20|H which/thats 0| mf =2 LAHHADL 0| = HAALE
Qto| EAk= MEiALe) —r01| CHHAEOIM AR HEg 5t
AP ALRY M= Whose

A HEAFE0| M 320 2 %% = t‘lﬁ" {71 Ato|™ whofthat, M3§At7+
=g
X

—r

=2
I*Ii“:f 27
2ot

1) Li= OfL|AE S| 2iefo7} £ 2 2l= Fo|ct.

2) Lk= L7t 7I|E YXIE ofXlol|A| Afmizict
3) R2IE ASE 1 0 U2 i< 0|27} UACH

*

03 1

77 TACIEAL CHE OIS SAL 292 BACIEAL CHEOls FARH2C

) 2 FE 2otz aziel RalE2 A
— REIF0| 71T s =Hofzt

2) 1 SjA| 2T A= 2RO O LIS SRR HirFct

*

05 *

— LI2 250 = [|2{ClE 11 EHA| AL ZIEEC
MSALZL AF2(the house)o| T BACHEAIEOIA 282 (ts) AgtS stez
292 ZAEA whose2 AZSITt, M3AZH AZH(The taxi driver)o|z
A CHEAREOIA F0i(He) A& 5122 2 TAICHHAL wholt thatez

Unit 32 » $2|5ljof T FA|CHEA}

Grammar Check-Up > SB p.107

01
02
03

1) What  2) which  3) whom
1)what 2)whom 3)that
1whois 2)whichis 3)that 4)whom

04 1)what 2)about whom 3) which/that is

05 1) (which is) made of wood surrounds my house
2) What is in her bag is a magazine.

01 1) LH7} OfX| Zoil A S 232 TSHCE,
2) 0|2 Lo Z177t Ak= ZiE0|T P
3) JL47t XIZARIS] Sh= 0FS0| 1 ZF0lM ofZiCh.
* 2E0f| MEA} QLo H MALE “°*o}— A CHEAL whatS A0,
BHACHBEAL 20| I*XIAU} Qlom thatS 2 4 97 whichLt whomat
7ks3iet

02 1)Lt XitoiZol U7} 3t 62 2 ick.
2) U7} Ssjot & oto|So| Ut
3) 01242 U7} XIZ7HR| 2 Y&t 5 letel Yatolck
* Z0f MMAD} IO DR whatE MT, (HIEIAH+ EZHAD] Sefola
SEADHARIOIS2 whoms £, M8} 9/0jl 24Z0] Y282 thatst &
& 9lct,

03 1) 2igolet of7Ista Q= A= = Sdlo|ch.
2) Li= Saiiet x|2fofl XI5t =A| &4lo|ck,
3) Lh7tofx| 2 Litl= =20 Aok
4) L7t x|k Z=edof ”“—*té‘a% Lol A &2 S5 &l FAIC
* 5x{Z] BACHY AR} (32 2AICHEA f +beSAhe 420 7Hssict.

04 1) 0|2 L7t 7kX|31 40f Sh= Zo|ck

2) O= R2|7H YFE vi<o|ct

3) /9| Ee7l= L7902t E2l= 261 etofl Ut

* the thing which= whato2 H}320{ £ 4= U1, ZACHEALZ L FXIAL
SX0| AES g 0 MRS BACHHAL o2 Bl 4 QXD HX|AL FHoll=
A YA thatE £ 27t glea2 whomez £t called the Milky
Way7t HAHa galaxy)2 +A15t22 a galaxy2t called Atolofl= (RHAICHHAL
+ beS A7t A2k=l Zdo|Ct,

05 *Z0{= The fence0| SAt= surroundsO|m, ZHAICHEAREO| MEHAL
The fenceZ $Al6H= X2 LIEHACE F0t= EICHEAL whato] o=
E(What is in her bag)Z LtEFHCE

Unit 33 » LEAH|ELA}

Grammar Check-Up > B p.109

01 1)when 2)where 3)why
02 1) in which, where 2)for which 3) the way 4) when

03 1) L7} efofit Tol sfalAielo= nralsigict,
2) L= Ut R2iol SRS RYS 23 WXl 28 ol

==UE XE= x= K

04 1) Tell me the reason why you are late for school.
2) The village where we spent our summer vacation was beautiful.

01 1) 22U L7t stmo|l 77| Aofsts dolck.
2) R27t SnHES A 5 A= THHIE LEiFAHL.
3) Li= a7t =0 7t 2! 0IRE 223t
* MEAt &AL o where, AlZHY mf when, 01R T whyZ £},

02 1) L7} Ak= DFS2 OFF Zitt,

2) 7t 28t d=22 F' U= 0lF-

3) 0|zd0] 27t 1 AHEIE nE WO
4) AN Lol 7|X7t EAtsh= Alztold

¥ BAEA HXIAS] ZX0] AEs % 0 HXIALS BAHEAL HoZ Bl 4
QACE (FX|AL+ BAHHAD= BARARR 0] £ 2= QUCH M3liAto] hgio]
2 1f the wayLt how?t 2X[2t the wayet howes Z0| 2+ U1 E S

f fok Ak,

I..

03 * BARAES MYAIS +ABISE BARAPES shAlSH S0f MALS sHAISICE

2
=
=
[}
©
L
)}
n

04 * M3At7}0|R(the reason)olH why, Z4(the village)ol



. L) o| 914 01 U7t oiITlofl Bt L FESo] ChS 0l 22I5 YWEE
Unit 34 » Jr—|-7:”)\|-__| od * M5 = oAb 2] o5k &t
MEAL7E AkZKMYy brother)o|m ZI|CHEAEOA SX{0f 3ts st of
whomo|Lt thato| 2ct, 3HX|2H A& 8ol A th 2

2
ro
i3
>
£
=]

Grammar Check-Up > SBp.111
: 02 Ui 7S YofiEl AL4| 0B 2T LI
W Mmatn BISMER SRRAED SN * MBA}ARNGINOIT BAIRIAIEOIN 497 8E S122 whose?t 2t

02 1)which 2)who 3)where

)
) [=E1Y S| H
P! S0l = g =0
03 1) Jufis Lioll TLdel FSRSE Dok 5947, Lie xS Solol wop xigiet, | | 00 H7H 0PSO SUUE ks o ZR4ch o .
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1) where | was going
2) if/whether | had gotten a job
3) to say hello to my parents

Yesterday | had a blind date. He asked me what my hobby was.
He said (that) he liked playing the piano. He asked me if | could
play the piano. | said (that) | couldn't.

‘L= oA XILH?” — = Liol|A| OfE A X|Li=X] S Uct.
1) ‘L= ofrof 7k QUL?" — = LioflA| ofclofl 7t Ql=X] 2k
2) ‘He Zlge TR — d= LofA Zlige TR=X| S0t
3) ‘o SR HMA| o M= "
— J= Lol A R2EA RS Mei=al2tn 2RO
*OIRAITL U= QIR E2 (QRAF + F01 + SAD, AZADL gl Q2R
(if/whether + 2201 + SAD, ZHE2 (to + SAIE)S| HElZ 2L}

* HMEo| 7SI (say + (that) + 0] + SAHS| FEHZ #r},

Unit 40 » Z7}AJ81 1t7{ 1pr{etg Sz
Grammar Check-Up

01
02
03

04

05

01

02

03

04

05

> SB p.131

1) had worn, wouldn't have caught = 2) were, would enjoy

3)is

1) | were you, | would study abroad

2) it had snowed, we could have made a snowman

1) HI7t 2| =i, Rel= Sof 2 Hidl.

2) Ra|7h = LofHtCiH, stmof X2 e Hidl,

1) If | were a teacher, | would not give my students any homework.
2) If we win the game, we will get some prize money.

1) were  2) would have got

1) AOIE= AFE YX| YUCE 47t 2IFE YA, Z7|ofl Ze|X| LUtS
Ellc|.

2) 252 0f7]0f| UX| etk 250|047 (of ACHH, THEIS SZ 4~ AS Hid,

* A Abalat ghthele Ug 7REE nie 7 o R(If + 301 + had p.p,
Z0{ + would/could + have p.p)= LIEHHT, SxH AM T} EHHEl= US
7hEE mle 7P atA(f + 301 + SAke] S, F0{ + would/could +
SAHEE)Z LIEHHCE

1) 27t oixt2tH, X|o0jE g Hid|,
2) L7t BRE S5 JCtH, 22 YXig HUS
3) HI7t 20, 252 Foil A2 o]

* Bx) ARADL Bl US TPRE T 1Y 1, 244 ARMDL Bl
AUS 7FS t=r P I 2= 2 LIEFACE SARHLE O|2hof| et 2 stalot
MBS TS mi= PR STH(T + 301 + SAte] #AHE, 0] + will/can +
SAFEE)Z Lietho)

1) U7t 2t L= o= Lzt S5E Hid).

2) 0| 2X| Y0IM R2|= =AIZE T + QAT
(e}
M

=
==0| 2, R2l= =AIRME UE
)

* PO if7F M2 SADHEE Yo2 LRCt AMY Sixl= 7HEY
t740|1 RAH Dp = 7P D RAZE LIEHACE ZIMHo| ZFHOIH

TFEE2 2, 2dgo| 2ol 7rgE 2 3Folct

* P = S Akdat Bioi == 22 JbEet, 7HgY aiiEE 2t
Abalmt githel= dS 7hgeitt

* 7pEE M= (If + 301 + SAte] IHE, 301 + would/could + SAHE),
7P Sl (If + 01 + SAKS] SIiE, 01 + will/can + SAHRIE)2
FE= 22t



Unit 41 » | wish, as if without/but for

Grammar Check-Up > SB p.133
01 1) were 2)had met 3)had
02 1) it were not for fast food

2) it had not been for our teacher

3) he were a lawyer
03 1) Zk2 ORX| ot 2|7 toll 24Tt T ZdX{E Ustct

2) |-1|7f QUACHH Ltz mHIE 2 2 AUANS Hil.

3) LH7t A1 olo| ct BYCHH £ Hid|,
04 1) They talk as if they didn't know each other.

2)

2) | wish | had had a camera then.

01 1) = ZEo| okich 1= oRx| ZET!
2) AIO|E& oighg THAX| kT O ﬂ
3) Lh= X7t Qict X ATL QIoH £2
* as ifet | wish7} 0|11 ol Af Sy Al-élf H
Oz AAAMISALS] 2AT), 0t AtAa Eieiels U 2t
&A= AF(had p.p)= LIEHACE

02 1)mWAERET} gicke, Qs o 2ZE H,
2) 2| MM=0] YUCHH, k= A0 HoHS He|
3) AP T MSAP}ORLICE = 1= 0FX| B! A2 BSBict,

*{Without/But for + AL, 01 + would + SAFIE) = (If it were not
for ~, | would + SAH

&yo|m, (Without/But for + BA}, 01 + would
have p.p) =(If it had not been for ~, | would have p.p)olct.

03 *(asif +F0{ + had p.pye ‘O]~ ZXZ, < wish + 30 + had p. p>_
‘~0|RACHH Z2 HIEl, (Without + HAL 301 + couldn’t have p.p)& ~7t
ARACHH, -8 4= AUAS Hld'2h= Solct,

o2 Ust mhi= (as if + 301 + SAke] ), 1A

04 * SR APALT} il 3
S 23 M= (| wish + 0] + had p.p)= LIEtHACY,

Aretmt Hiehsl=

LA Z3A 22

01didn'thave 02 hadstudied 03®@ 04@ 0503
06 | can't play the violin 07 something happened to them

08 Without/But for &= Had it not been for

09 he were a millionaire 10 she had seen a real penguin 11 ®

> SB p.134

12@® 13 Had | known your address, | would have sent you a letter.
14 hadn’t broken, wouldn't have bought 1536 16 Q)
190G 200

17 wouldn’t have been 18 is
01 * XY Atol| CHEH BICHE 25t M (If + 304 + SAHR] IS, Z04 + would/
could + SAIEE)OZ LIEHCE,
02 * 1p7f AbAof| cht BiCHE 25t i (If + 204 + had p.p, 01 + would/
could have p.p)2 LIEHHCH
03 AR A2 H=ESHR| QiCt,
= A2 A= XY S

* B} Aol chet ke 2

i
2
rr
S
Q
wv
=
+

A
2
+
O
i
1
=)
el
o
L
0
tu
£
A

04 A: =M X=X}
B: OH—IP-, gJ CH oloio

* XK Abeol] St BHHES 2rEt mi= <l wish + SAte] AA{E)o = LIEHHTE

05 Hek2 2Foll XMalf ACt = U Trolct,
Q W7t 2t L= 114E =2 Hig),
* BIx) AT Bl US Woh= 210|122 TP oHA (If + 0 + SAte]
A, F0{ + would/could + SAIREHO = LIEFAC,

06 Li7tHio|22ls & 4 Qe =2 Hid|.
=Lh=Hio|221E 2 4= loiA RZolck.
*(I wish + SAte] 2AH)2 ZMEH SxH | am sorry + 301 + SAte]

SArFHar 22 solct

B &

07 352 IS0I OfF U AOJLIX YT ZHxf Sl
= Aba! ofet 20| TSI Lofiict.

*{as if + 01 + had p.p)= =4y
7}0 l:l:ol[l>

A (In fact + F0{ + SAtQ| 27 at

24 4 Student Book

08 U7} QiQCHH, 1= o] ZRNES Zolk|X| 23S Hig|.

*If it had not been for = Without = But for = Had it not been for
09 =2 WOHKIXP7} ORLIX| T BHORRIXIQN Zdx{E LSt
US Uk 0|22 (as if + F0| + SAte| ap7{E)o=z

*
o
2
=
1z
i)

T
4
m
rr
I

10 o2 Timp ®7IS HX| KT OFX| TNt WS B 23 2ot

11 Z0H EollAM Y& LEMCHH, st A S EXIX| R4S
* ZFofl wouldn’t have missed7t #Qicoz 74 niritz 2E0|Ct,
w2t if2oll= had left7t &gt
12 U7t 7HEE QLOIHBICHH oA & AHLI?
* ZZ0il would do7t Ao o= 7pgH at7f 2Fo|ct, mats ifZofls lost7t
gt
13 U7t ol FAE ARUCHH, 1
* 710l M IfE A2kt ha

14 Ut Zie 7ix) eilcted, = o2 g

=Pt 1 B 20| ti2) E e 7

* K| Dl TR nleta o) 2t
sxoz uiFrt,

S20|ch ZEHM SE2 TFF oM

15 ZHE7} oM, 22[2 Q1M CHE Zio|ct,
*If it were not for = Without = But for = Were it not for

16 [EZD £2 172 ZOt5HX| ot a2 LioflAl FUCk
Q) E0| IZS ZORYCHH, 2%IS LIoIA| FX| 2t Hid|,
*EIME s P AR 2 HHR0| & 4 QICt XM £Ye
TN BHoR, W2 BHOZ LIEHHCL
17 W7t &t 2Xofl HUCHH, Stmol| X|ZHsHK| 44 Hir,
* 7bg apjtze (If + 304 + had p.p, 01 + would/could have p.p)2
LIEHHEE,
18 LY M7t stEtstH, f2l= slolze Z Zolck
* 7P SRl CIf + 301 + SIS SAL F0{ + will/can + SAIEE)S=
LIEHHTE,
19 @ L7t au2tH SmHE Eiy),
@ 27t ettt 22l sol2g 2 Hidl. (SNt aHElsHH 22l= slo12dg
2 Zolct)

snfg

@ 250| I ZME0| UCHH Z0HS HiG,
2|7t =0| UAUCHH MAg HRUS Hig|.
® 271 HIUS SIX| LRUCHH, SHE B 4 AAS HIG,
*@ have been —be @ W — is = will — would
@) like — have liked @ had — had had
20 Do) HMEHSE AUJICHH S Hi|,
= W7t 0| MatHs S S/ 20| R0t

Q@71 1 A28 E=riH =2 HIG,
=l O ARS =X ZotN s2HX| g Zolct
Q) 20| UACHH, IS AOHLX| RIS EiO|.
@ 4= Ofx| BFQ1 A S
=AM TJld= 357t ot
® L7} 20i2 3ICHH, Li= DA LS BE 4 Qg
= L7t SO01E SHX| RoliA ZEA _L::EH
*® couldn’t — can’t 71 Tp7{= =M
Pt 22 Zeolct,

-L [II|I1]
:
'
£
=

L= 7ML 7|127| > SB p.136
013 02®@
01 S2EL MA0 HHIIC 1 Xi&0| Al0[gict, T S5t ofnfE Xishsin

d=5=
ol 2 Ar%rs; Sx1517] 1510] 1B ST 10| TR TAAKS A5t
48 52 HOIUCE T MBHS0| HAS HOLIS XS {25t a3t

FEZ17E U AESAL FR77E 30| SAE EX121 51, O e

312 Wt NS 2 WLz AR 25| =20
*if 20| (F0f + SALe| 2HF)0|=22 FHoll= (would + SAFIE)0| Z[ofof
sict



02 =5 SZ2 28 ML X2 ZEAZICE ol E70 257 S22 MSoA 2) A2 R XSALES BEE 22 ZOkRIC
TR 7HH2 S40E do7ICt oS S, L7 Al2kH 2Zs A 2ol ¢ — #Elo] 2hS7|E Zotsh= A2 2 KSKiolct
Zo|ct CH2 SR9| 2F SZU2 MS0lA & o &sich. RS2 We| I 3) $T2 ofH A0l S5 T
MEE =7 sich. 2 & Hofl OFAOlolI M R S2H0| MRS HHAZCEL =7 — £ZH0] OfH| E& THAE X2 AlZ0IRACH
SU2 Aol Ao HE £= QiCh ARIS0| ZHE ME ZHXIX| §LRtcHH *(Itis/was ~ that ...) ZZTE2 =50 42 22S It is/waset that
AIX| YUUS HOICk XF SACSRE| XS BS5H, 5120] 021 # Atolol 511 2o Linix| 22 that Holl S0
Hi2t 82 £ /30| No{of ik, 04 *‘8A ~3t= 242 OLITH= not always, IS 5 &= ~8icF= none of
* SRl ARMDE BHHE| = LSS JFEE DiA, T AP BHHEl= LHES 7 them, ‘=CHA'= (2I2At + on earth)2 ESSICE
DHRAZ, 7tsH = SAlLE Dleli= 7P STHZ LIEHHCE
i C % AHZE
e 27171 . Unit 43 » £ X|} AHE
01 1)1 had had an umbrella Grammar Check-Up > SB p.141
2) | had something to eat 01 1)So  2)Neither 3) did
e a‘good A . . 02 1) have | been 2)fell a gingko nut 3) he comes
02 He acts as if he were a prince. He always wears a bow tie. If | 4) does he agree with me
were him, | wouldn't wear a bow tie. If he had been friendly to .
. } 03 1) She was very wise when she was young.
us, we would have elected him president. 2) Look at the old castle which/that was built 100 years ago.
3) These are the glasses which/that we bought in this shop.
01 1) BIZk Li2ln AL L= 0] ST, 04 1) will | forget her name
— L= 0] stt URUCH Z2 Hidl. 2) Neither has she.
2) Lk= vi7t noh L= S Zi0| OFR = it
— L= B2 20| & ASH Z2 Hid|
3) LI Sot2 Solsiaiet ahs & x| 23l 01 DA:LE RS 2 =00t B: Uiz 2k,
2) A: Li= 48t 23l B: Ltz Tz,

—UeEEAHEH
* S Abaln) g
tithek= 82 (I

3) A: Jl4E O S o], B: o= Tzl

=
= L2 (| wish + 2501+ SAte] 2t4a), 71 Atalat S ) _
w * 20| ! RS (S0 + SAb+ 00, SE20] et thEre (Neither +

ish + Z0{ + had p.p)=2 E&istict.

02 *'DR| ~Q ZXMB'2 (as if + 0 + SAte] AHF), ‘Trof ~afH, -2 Hid'=

7P TAFA(f + 301 + 2pE SAL 0] + would/could + SAHR), Bkt 02 1) Lk= J2A| OFECHR 40l 7H2 Ho| Z3 girt,
~QACHH, -t Hid'= 7P AR + 20 + had p.p, 301 + would/ 2) 28 siLi7} HotFCh
could have p.p)2 E3#5tct. 3) a7t 07|12 93 gLt

4) 2= LollA 72| SolsHx| b=t

*EEREADE EX|EH (FEPA + ZEA + F0{ + SARE), B4 2ARIL

SEX|=|H (BA HAR + AL+ F012| 00| ECh SEX[2H FA LA
Z0{7h CHEARY M= (BA 2ARE + 3201 + SAHS| 04=0] EiCk.
03 1) d4= oS o iR EEFACE
2) 100 Tofl X|ofZ! zHE He 2otk
3) 0|HE2 2|7} 0] 7HAH(0l|l A L+ etZo|ct,
* EAPHOIM (FRO{(CHHAD + beSAD, S5{2] ZIAICHAL (ZAHHAL +
besSAh= 42f0| 7Hsaict

04 * 2ESAD} EX|E M= (FEPEAH ZEA+ 0 + SAHRE)Q| 0f20| =11,
EX20il chet cHE2 (Neither + SAF+ 301)2] ofz=0| ECt.

< 0 0
Unit 42 » 272} B4LE
LA %ﬂ’" 24 > SB p.142
01 did go 02 was a bag that | bought 03@ 04® 05 did have

06 always 07 None, liked 08 09@ 10@ 11 flew the bird
12 have | thought 13 does she go 14 Neither could 15 So did

Grammar Check-Up > SB p.139

01 1)does 2)did 3)do
02 1)Notall 2)Both, didn't
03 1) was Kate that/who went

2) is model cars that Kevin likes 16 ® 17 @ 18 The woman who is drinking coffee next to me is
3) was at a restaurant that/where Susan met Tom afamous actress. 19@ 20 ®)
04 1) Babies don't always cry.
2) None of them went to the library. 01 AEl2 ofx| Helnt SZ-2oil Zich
g b sl il b :
3) Why on earth did you do that? ~. IS of) Molat S22i0f Mtz 2k
* SAPE 0|22 (did + SAIRE)S = Lt
01 1) 22 150| %xeh= A2 S=Ct.
2) 2 HAS soa| IS Blct, OF: SIS BR) SRR ES AU
3) LH= 130 AR0jA] RS Ath B: L7} oA 1 AEoliM At 22 FHto|of,
* = o { B
* dOBAIE MA SAIE ZZH=r, 301 BiR B4 does, AR did, 2Zst= U(a bag)g It waset that Atololl £ Linixk= that CHSoll £c
YUY BN SeE doB Mgl 03 EZD A0l=S 574 20 Y= st
02 1) ofm BHYSS Z7 Mol 24T, CHE BIMSS 7Ex| UL, @ Li= 27t 2t 248 xl et
= DE SMME0| Z7 R0l 2 42 ofLIRCt, @ a5 =hiHo| M43 ChE|ofl M HYUR 0|t
2) Q2I5 & £7E I8 UX| 2YC) O ol b= 2z JHL?
* DS ~5h 242 OfL|CHE 2 2H0[22 not all of 2 LIEKHT, neither Pal= BES =8 28
of= ®H| 20|22 either of ~ notoE LiERHTE © 1= SIS ot
= *E719t Qs Zxo| doZ At D BHES tes ZEALQ) Q2ES
03 1)7lol=E 222 Afaf #matzo] Zick, BICL XEAL @ BII0RES Bio £EA 6 QS AL -

— EZE Al frmoplof ZF 242 Ao|EST



04

05

06

07

08

09

10

1

12

13

14

15

16

17

2D 1€ 2571 HERQ1 742 oL UCt
D Q 25 5 =7 FEo| opiich

Q@ ase Aot

@ 52 A=0| ofL| ULt

©® 15 &% B2 A=A,

* H7|9| not all of ~= 28 2xjoz ‘StAt ~0|

et G2t 22 ofojolct.

A2 ot|chak= S|k

= HEA2 OH-IEP.
*'SAL ~ 5t 742 OfLICHBHe B8 2MO 2 LIEHoF 5122 not alwaysS £ct,
22| & 57E 150 S ST E ot 2 SOleR| YUCH
* neither of = none of (Fi&| 2%)

[EZD 7|0|E7} o1 2doiH{2! 242 HiZ Fo{=Ho| Ut
O™ k= L &ES| Zolck

@ Ltz 37t Hri2tD Mzisict,

@ LK Wit & 1 Hg ek,

@ 2Nl= 2ot 7ie E3ckE Zo|ot,

©® L7 APIE fsk= 22 HIZ M22 MP3 Z20/ofo]ct,

* 2719t ®= (Itis/was ~ that ...) Z=F20ct D XIACHEALQ 2XES
0| HEAL Q) ZAHHAL @ HAEE 0|Ti= HEAL
S8l IS} # SPE Rl 22 Hu= Fot
@ 252 ofd| M2 ML= B0kt
(©F=(vI=FSIN[=X
@ =2 Mg o,
® 7Ao|EE= M2z E20| rt,

*©, @, 0, G gz dool, @=

2D 7|0|E2} A2 OfF| SH2|2t +EHE &
@ ofx| sH2iet 472 HSHollA THt 2
=

o

o

Ch.

etEAte] doolct,

dl=2oll A 2Hgtct
Flo|E2t #[El0| ATt
O Alo|=2t #|Hlo] ofx| HISTol| Al HE2 sii2|et +ZHo|AC
@ ofH| #o|=E2t AI0| SHEIet TS BH 242 HMSTOIMSACL
© Alol=et #glo] szl S22 HMSTOIM BHt H2 O{HIRACL

F o =]
*(Itis/was ~ that ...) ZETEL SAIE 2x& 4 Qict

=

o
=
el

Ny
ot

1 M7t ot
* ZABA awayZt EX|EH (SA+ F04)2] 042:0| ECf,
LH= L7} ot
* BMEAL neverZt EX|EH (ZRSAL+

Azt = o] gict,

01 + SAHER)S| 0fz=0| Ll
= 79| FEts B 71X| gf=nt

* EH2APE hardlyZt EXIEIH (RS + 301 + SAHRE)S] 0fz=0| E}.

*EMR0| et tHE2 (Neither + SAH+

Z0f)2 sict,
A: 1= O Ao ARtk Azigo]
B: 4= Jal.
* 2H20]| Chst CHEFR2 (So + SAL+ FO0HZE it
® 2= TVE 2= 50t ol S3ict
@ Ltz 1142 Yo X2 AR 23O
@ 2= LA SAJoll 0|20l US H2tm URHCH

@ o] A2 MIQI0] ARSH= HXloICk,

© =0l SRE 1 ofxts 0fS HshEc

* 22 TICIZANS MRHE 4 et

@ o= okS0f| J1ctst S8 5t

@ 1740]| 0f7|2 2t

Q@ Ltz OHE 0f7|M 2 Zioj2tms BE K| LTt

@ x| 2lofl =4 5t 0| UL,

® BAIt07|12 21 it

*EA BT EX|EH (R BARE + SAH+ F01)2| 0420] EIXITH F0{7t
CHEALY D= (BtA BA + 0] + SAHQ| 0f20] €Ik, @& Here it
comes?t %= ESO|C

Fo| et

26 4 Student Book

18

19

20

LH SOl 7S ORI U= 0fXk= Rt ofHtolTh
*(FZ LACHHAL + beSAbE M2to| 7Hs3ict.

- O52 1 S0l M7l X|7|2 7|5t ek,

- 27+ Atof| T 0ixh= o< OFSCHRICH

* expect CHS0l HAES o|mie F&AL thato| M2F=|4T, The woman
CHS0ll 2424 T7CfBA thatiwho7t MziIgict,

OA: L= F7phEes.  B:Lb= 1z,

@ A: 4= shdo| ofLlo, B: 1= Ty,

Q7to| mXHE HIL=2 gLt

@S2 M2 Ht= ULt

®ul7t 2Lt

*@®B: Soldo.— Sodol. @ B: Neither isn't he. — Neither is he.
3 He did made — He did make @ is wrong — are wrong

i
o |

A& 7471 7|27| > SB p.144
013 020
01 QiZto| Mzu} opAZ0l RIS Fi 24 HI2 X7 2utstolct ofE

02

Mg 870

A7 IFEEl= MAIS] 71t LI2S0| B7ish= Al EDH 2E S0l 2iHatnin
ZI3CE 0| N2 2ATIA HIE0| 718, 8+ £, J2|u O dZfet 7=
2559

%30l chet §BS B7MI717| 20Tk 715 H2IHSS M) 1.50/A
X7 712 A4S 5211 Al2 50| 0WME HES S 4 /rkD L

* 22017} the world’s poorer nationso|=22 does — do7t E/0{of St

L= ofS mf StohHX|2t ol HAISH] 7k gict 1 HAlolls et 8

HAIBH= Z{0] Lo RUsH 7[&0|UCt. AlBe| W2 Ui 2Ot R2l= 1S
T2 HSs0IM B2 252 £ 7 QU OS2 R2THHITR Tk Ze

UX| 2F2 DIE BES| B HIFED QUL SOMHXIAM HAlSHs 2t L=

He ML E107|S0| SR A2IE E= XS SORIC SOHXIAME

S0P7hMCH L= Ol 0|52 HHAIS aff &2 0| it L= ol 22t HAIRE

e 723 9lx| R Aolct.

* D R2AE0M (01 + beSAbhE A2kst 4= Qoo When (I was) youngol
ofot stk @ brightly= were shiningg 4415k 2101 enough=
ol to2 Aot to get lost)2 4415t Qict. w2k brightly enought
ol @S HRAPEXIEH (RESA+ ZEAH+F0] + SARE)S

ofo= #rt

> SB p.144

01 1) was an English book that Kate gave Paul yesterday

2) was yesterday that/when Kate gave Paul an English book
3) was Kate that/who gave Paul an English book yesterday

02 Kevin : | will never forget the kind people that/iwhom | met here.

01

02

Tom : Neither will I. It is in the country that/where | want to live in
the future.
Kevin : Sodo .

[EZID 701E7} of x| Z0f| | FoixE ALt
1) A: HO|E7H O M| SoflA| & 2 RAOIALI?
B: HOIE7t ofm| Z0fA| & 242 H0o{240[2A04.

2) A: F0|E7}H ol A ojRg & 22 AMIUL?
B: HO|E7t Z0i|H LoiHS & 22 0|01

3) A: OfR| Z0f|A FoiRS & A2 LAY
B Ofxl| Z0i|A| Yotz &= A2 AH0|EROL.

{x5h= £E2E It waset that Aojofl £ 2&9| LIHX| 222 that FHol
ct.

\J

An 0

* EM20| st tHE2 (Neither + SAt+ Z01), 2R20]| thst cHER2 (So +
SAH+ F0PHE Ea@ f B0l Z=5t7| lshAi= It iset that Atojol
in the countryE &1 2%9| LIHX| 222 that Fofl ECt.



Unit 01 » 1, 2, 36&}\—! _IIE__ZOI- > WB p.2

01

02

03

04

05

06

01

02

03

04

05

1) &40 2) (F2) 2of 3) == 01 4) (7)) 20f 5) =2=xo|
6)2x0f 7)(FH) Ho| 8 ==

1) SAL 01, A0 2) 04, %Ah =2=x0]  3) F0l, SAL (52) 2of
4) 20i, SAL (F2) 2o{  5) F0i, SAL 2=o]

1) sweet 2)friendly 3) attended 4) arrived at  5) reached
6) to buy

1) listened — listened to  2) about — Atx|

3) talked — talked about  4) with — Atd|  5) into — Abx|

6) ok 7) anxiously — anxious 8) ok

1) Her mother hopes that she will marry the man.

2) The pizza that she made smells very delicious.

3) Most of the children in this village attended the same school.
4) Once upon a time there lived a poor farmer in the forest.

1) His grandparents look healthy.

2) Traveling abroad requires a lot of time and money.

3) I would like to discuss the problem with my classmates.
4) Shall we enter the coffee shop?

1) 2= Xk F2ol| SS2ol| AAUCEH
2) 252 27| U= w47t E|UCE
3) R2l= 2|0l St 5 B BT
4) 19| Fol= 2tetg 2= Zo|ck
5) J= 3ol 7h= 2ol SRk
6) Lt2| Ot K= EllLA b= S E71AICt
)
)

7) 39 A2 2 M52 2HATIE Ao|oh
8) OS2 E{0| X712 SIS =0t YUCt

>

* AL SALFHAS ROFE 2A0{0IC}, 32 Hoj= F0i8 25 M3
0, (C)AT, HEA, Z2A, toSBAL 2IAE0| £2 7 0f Kr2lo] 2T,
= x0f Rf2lofi= (A, 103 BAL, SHA, 2IARE0| 20,

EED 14 2SR ESich
1) #ALbolle B2 EF72 SE50| UCh

2) Lto| oISt L= EAIHolM & o AMg Wit

3) 11 Ok 02= T ZS04RCH

4) J149| HEAo| B2 HIE7| ZEAt == Z0|c

5) 1 AHEL Wt S0 s75ke 2 Eolstict

1A BE2 (F0] + BAL+ (A1), 284 2E2 (F0| + AL+ ()
H0f), 38A 22 (F0{ + BAt+ SX0)Z 0|R0{X ct. there is/are
~0llAf there= 017t OtL|2t RE=2AIZ 0tF21 520 ICt. F0{= SAtis/are
Ch3oll Lt in Kenyas 4=4]0{o]Ct,

1) 2 #Aol3= g3stct

2) 49| iz 42 CchEctstA| 2olct.

3) 22 350|390l ZAIGHCE

4) p2 HEMS0| QIF I2XIFEol =S

) Lio| 222 ofAligtol| MS0i| =2H34CE

6) 12 otZ2|FIo| A 2 HLIZ S A |2 2™

* 22t At taste, look Foll= 20{2 HEAIt 2Ct attend, reach=
EFSAIO|22 SX0{7t HIZ Hofl 21, arrives AFSAI0|22 CHZ0f FX|A

at/ino| 2foF 2x{0{2 2 2 i} decide’= 2X0JZ toRHAD} 2LF,

u

1) 2 SAk= 7I=xte] 2hg Fo| A S

2) O SMMES OE9| & A0 A E2l5tm QUC.

3) 1 29| 3l2S0| 1 A=ol| chshAf oloF7 1t

4) Lto] QlL|= = Rt ZEE Zo|ck

5) Lto| ofHLIet L= 115 27| fIshM 1 =2 ZHER Sofuch

6) LH7F O R|| At 1 F2h74= of< Wit

7) 349| Eael= 20t S8t

8) Lto| 42 Lto| EoMHX|Z HUCH

* listen to, talke aboutol HOH Qlof SX01E & =~ UCt. discuss, marry,
enter, resemble2 EtSAL0|22 FX|AL g10] 2X0{7} HIZ Fofl 2Ct,
2ztS Al taste, sounde E0{2 APt 2ct

1A B0 + SAL+(210), 28A BEFO0] + SAt + (F2) H0J),
3A BE(FO0] + SAH+ FX{01)0] Heol SWA| BRI THAS SRt & E

B YA @ 27



06 *requires "Z25iCt, would like toes “~5ta Ar|

Unit 02 » 4 5341 24f

01
02

03

04

05

06

01

02

03 *1

04

05
06

AUCH'= there lived a poor farmer® LIEFHCE,

F', Shall we ~?& ‘2|
~areks

o|ck
> WB p.4

5) him
5) shouting

1) to her

1) made 2) famous
6) bandaged

) 1= 10| ool KIS
) 2= 2 @t AjolSlcks 38 2T (58
) 10| B@He T0j7 0f M2 goatn AIZiC (53A)
2) 20| SmE 0] 42 BIS0 Z3I, (43
)
)

2) forme 3)of me 4)to my friend

3)togo 4)warm

1 30} F=UCE (45AY)

2

3

oy =i ]

3) inventing — (to) invent

5) remembering — remember
7) to sing — sing/singing

1) for—to 2)to — for
4) safely — safe
6) steal — stolen

The sun gives light and energy to the earth.

| had my nephew grind coffee beans every day.

The doctor advised me to take the medicine three times a day.
She bought her parents two pairs of shoes last month.

1
2
3
4
We asked her to give us some advice.

| heard them make/making a noise in class.

We saw him enter/entering the room.
4) We found the book interesting and useful.

)
)
)
)
1)
2)
3)
)

El

1) B2 g & Hoil I Hoi|A| ofzte| =
2) Lto| O{{LI= LtoflA| B FoHE

) 2 1—’F—°‘Eh
)
3) U= Lol & Ikx| 22 si=
) Li= Lt
)

MBS AL A
Ztt

4) LE= L] TF0l|AH F2|A0tATES M

3 AYE2 J0iA S1E SiLt st R

Sl 222 38A 202 HEB [ lend, write, give (to + IS X0Y),
r =X 09), aski= (of + ZFHEXI0)o| HEfZ At A

Al 2YOR HEE W= SAF ORS00 TRIAL gL0| ZHE=X{017F 2Ct

1) 2= oto|S0fA ¢ %
2) 1 Y¥slk= O offE
3) 19| -ﬂrE'éS :17}§o| 2oi| 7h= 24
4) H= o] £ g2 o r—spﬂ FXIsHoF
5) = =27 oM A2|X[= 248 SQUC
6) = 19| Q2| SCHE
* 3A 20 ZFEEE0] ool fors A= SA= makeo|ct, 58A 2xoA
A=A makes EAFS, X|ZHEA} hears SAFES0|L} ax}gx} allows=
tOR™APL S Hoi2 20 SX0{ SXZ 2H0{2| 2At 5 me
WAHEAD 2 Ho{2 2L},

%01 FUC
o

)He found his grandmother a seat.
=0 SAt ZEER AZEE0|

2)He found the movie interesting.
0 SAE =A0 =SHA 2
3) His parents made him read this book.
o SAL 2xlo] =SXZA 2o

4) His parents made
=01 SAt

him atoy car.
FESEESI SIS =RE N

eSS

1) JudE 3149| oiSdollA Hi2e 2al
2) Lto] ofpLi= 2l X2 22/
3) 2= 39| OfHRIZH O 7 |AIE Eslk= A%__-J Fct.
) R2l= SAIES Qs X|H0f Bict,

5) L= SPS0lA O 7AlES 7|45t shof Sict

6) Jld= 49| XS ofc|ofldrt EERict
7) 252 ME0| £ £0llM efisks He SUC
*ASA| BAS 35A| 2RO 2 HIE [ tell2

S HES

N

P2 0] ol TXIAL toS A,

cooke forE 0t AlSAL haves SAFE, helps toREAILL SAIYE,
XIZHSAH hear=s SAFIE/SIIEAL keep2 EEAZE EXA B0{2 2C,

=xjoiet 2 Hojo| WAL +SY M= UHEAEXZA Hoj2 20,

*advise= 2XZ HO{Z toR=EAP| 2L}

*askie M7 20{Z to2FAPE 21, finde 22 H0i=2 YAt 20t
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Unit 03 » B2l 2t7{ O|2H

01

02

03

04

05

06

01

02

03

04

05

06

> WB p.6

1)ended 2)make 3)freezes 4)eat 5)invented 6)is

7) will get ~ 8) snows

1) will graduate 2)go 3) baked 4)gave 5)is 6)will be

7) tells

1) will arrive, = 11 7147} Ok 2= 9iF| Zstol| EAISHK| 23 QL7 /
arrives, 11 7447t Zstof| A I 10| ™ = St 3o| 22 = Zio|ct
2) will attend LH= 7} Ch2 2ol O 3lo)of ZAIEER| 22ct /

attends, 17t CH2 2ol 1 3|90l ZASICHH L= 22 2MEt Zio|c}

1) is sick — was sick  2) was — is
4) leaves — left  5) will do — does
7) will sleep — sleeps  8) going — is going

) 3) will be — is

)

)

) As soon as she comes home, she will lay her baby on the bed.
)

)

)

6) don't — didn’t

The science teacher said that light travels faster than sound.
We will provide poor people with food and water someday.
4) Korea exports many kinds of cars to other countries every
year.

1
2
3

) She hid the necklace in the drawer yesterday.

) My sister is about to leave for France.

) She takes an English class twice a week.

4) If we have time next weekend, we will play baseball.

Il
2
3

1) ZZHASHHS 1799H0] Biict.

2) 20| Zo™ U0| JHHATIC (WRIHE HEH o))
3) 22 HM 0=0llA 2ict,

4) 22l= FHg He S0l 2 Y3tE £ Aolck

5) = ollci20] H7IS WHEHCHD L3t

6) Lto| ofi{Li= F=lo| z|Mo| gholat LESHAICE
7) L8| L= ok 2ol 72-%3* Zdolct

8) L =0| 28 f2l= 27|

S Et2{ Z Zo|ck.
1=,

*1)5) W’“ AH'O IHANIZ, 2) 3) 6) FSHE AR, 24ed, K2 HIHAKIZ
HESIBICE 4) 8) AlZHafter), ZZ4(if)2] EAMROAE SXHAIMIZE DIZHAIKIE
CHAIGHCE

1) 2= Lo nS3us 948 Zio|ck

2) =1 SHMS2 AF0f 5YUS ol Zich

3) Ral= ol 77|19t e TRIct

4) Z2A= 1884 0|=20fl AtR2| oiAME FUCH

5) Ef¥2 x|t oF 1098 =t

6) S7| SZZAY0| o] =AM 2 =2 Zo|ct.

7) L= 347t Liol|A| Zlale ZE mi7hx] 12t ofF Y= SHR| g4 Zdo|ct,

*1) 6) next, soon2 0|2HE LIEH= FANTO0|S2 Oj2HAR|7H 20

2) 5) BixHe| AR, AAHS Ehat STYAIRIZ M1, 3) 4) FHE LiEH=
S yesterday)Lt QAR AR AZAAHIR Rt 7) AlKuntiD2l
AP M= SRHAIKZE DIZHAIMIS CHASHC,

* AzHwhen), ZZ4(if)2| 2AFEOIAE= STHAIMZ OZHAIRIS CHAIBICE SEx|gH
whenzt if7} ZAPo|| A0 O[2{ARZ Mo Bt HAPEOIA when2
O|2AIZ ‘HAI2H= 5201, ifs ‘~QIX| OF-IX'2H= S50|Ct,

1) OfX| 2= OFRXITH XIZ2 OFZX| 4Ch

2) 2= o2 mf "'-‘H} ZIEEH ElTtat o)

3) Li 1|7} 28 Ra|= ZojlA 2HapES efg Ziolch

4) Lto| OfH = 2—r ol LAZ mLppCk

5) J= =S stttk AdS & Zolct.

6) R2I= 0fAlE 114] 30201 AL BX| AL

7) L= 7L &S 7K 2 Fofl AUS Zolct
8) Lto| QL= 2 F EQYUo| EXtE 7UE of FHolck
* yesterday, ago, laste} 20| AE LIEHHE L2 DA R 87| A01Ct
LEO|L A2 FHO0| HAAMYAX|2LE XL STHAIHIZ 2Lt AlZHas
soon as, until)o|Lt Z=24(if)2] £AFE0| M= SIRHAIRIZH OI2HAIMIS cHAISHCH

* ol -2 MiFsttt = prowde ~with ...2 LIEfL D, ‘~of -2
£E3ICHE export ~ to ... 2 LIEHHTE

* hide2 A2 hidolH, be about to= ‘8 ~at2{1 sick2k= S2o|ct,



Unit 04 » ﬂﬁé‘l'%l > WB p.8 05 1) She lived here 10 years ago.
2) She has lived here for ten years.
01 1)isplaying 2)were taking 3) will be cooking 3) | have never met her since she left Korea.
4) were arguing  5) was washing  6) is leaving  7) are studying 4) The actress has been famous since then.
h h 3ol 2 | - I 5) | have been to Australia once.
- (15; 5:15eII52) IS) bae\gg]r?gs piar liare playind S Shis sincting 6) She has been reading books to blind people for two hours.
03 1)was planting  2) will be playing  3) are making
4) was preparing  5) is playing 01 1) &7= 2002 =0f S0l O 1717+ QURULCE.
oal Lol AZS 2t 2 2) 7= 20024 OI—.—E Sh=oll A oh 2177} QUct.
o ;; o::-_ ;Hél Azs 72:: :E:q_ 3) Lt| OfHX|= FElofl & 71 =o] ck
3) Lio| of{x|= 2|7t SIS I 22 TR|= Z0|ACt Hae Rt oZR F Ulﬂl 1A0|E 7I=2Lt
4) Lto| ofX[= 2|7t 10| AlRAlol =X o UstAk= £ Zolch, 5) 3= Rl 2 = 02| DYOIS FIRC
05 1) When | saw her, she was talking with a man. 6) ISE L2 Hofl AMol XWDHH
2) She is writing an email to her friend at the moment. 7)3% 2t U= OFA= SRI0f EXI5H] eUTH
3) We will be baking bread and cookies at this time tomorrow. 8) L= oidl 1 2 ML?
06 1) My grandmother is taking care of my sister now. 9)3 g2243 EOLHM Ak
2) Some famous singers are singing and dancing on the stage. 10) of| o[22 7% ng—l At
3) When his mother knocked at the door, he was listening to music. *1)5) 6) 8) IHES LIEILE= 2AF in 2002, last, agoet 2l2At when2
4) He will be studying in the library at 3 this afternoon. ?XHQJE—E’J e & %*\Ef 2) S[nceé ‘~O|ZRQ o2 2 SixfA= e}
&t7ll £t 3) have been to= “~0fl 7t 2 =o| QlcHak= 5201, have gone
toe “~0fl 7kn glctak= Ssolct 7) stz el 282 ¢have/has + not
01 1)Lto| of=MS X2 M= oizstm Q/ct + p.prel HEHZ £ct. 9) (for + 7|Zh, (since + EX3t A|7})C°E_Mo“:f
& = siis 1 ) DpHof ARFSHA BIRH7ER] Al ZIEH S01 S2tg ZxE = SRtz
2) Lto| 22H2 L7t 2ol Dot mf Ast ANk zlssi(have/has been -ing)2.2 LIEHHCE
3) L ofElol A0|A Mi= OFElE Q2l8t U Zolct.
4) 1SS oA O] 1 ZA{o] HHA =REFT QAT 02 1) Azk=3E HMof| DloK=2 X|7| AIRRYCE = 0486| mof=2S ZICt,
5) Lto| OHHX|= 1 MIxt Z=0|4lCt. — A2t= 39 S O|ok=E X RUCh
6) 10AICE 7|x7} 2 &grst Zio|ct, 2) = 09| X|Ze Lo = 0%8| aZS 2w K| Uk
7) R2l= MEX| Lolof Bict HH SHES0| 017|M SEE st Ack — = a9 XUE o
*1)7) nowe= XIS LIERH= 2to|n, Sxfo] US st mj= SRIZIsHSI0| 20, 3) Lio| Z22H2 L7} 0f%S [ MIFRE=2 O|AH7HAICE 2152 OFE! 747 of] ARAICE
2) 4) 5) AHAH(met)7t 2 7Lt yesterday, at that timext 20| 2tHE — LIo| REDH2 L7} 01RS TRE] MZFZ0llA A1 A
::fEftHi z:gl °'°;4 1;10 Eoo ;I %Fg )7tomDorrova|rgoLr}n2|} %E SIEOH% 4) Lto| a2 e Mol F=ofl ztch 2= XIF #4710l U
EUéEH f e Lﬁloﬂj Lieka L ‘R)Aét e nEelEolE REE e — Lto| HEM2 H=of 7t Qick
5) f2l= ofd| HICE f2l= o1T5| Hiaact,
02 1) 1= E & et &2 72 ShtE Jhx|m Qlch — R2|= 0fxl| 0|F 2 Hisuct,
2) LIo| HSM2 X|Z OFEle R Wint FAS o1 Qlct, 6) Lto| M2 199901 FOiE 7H2X|7| AIRC O= OFXlE Hols
3) 1142| of0|S2 YF Yol F ¢ HH XSXIE 7HRI1 =Cf. 7t2zIct
4) 2 AAS2 XIF S0IA oS st Qlct — Lto| MM2 1999HEE H0iE 7t2X|AICE
5) = U7t B 7qmle) 715 2a QU 7) A= 302 Tol| 7|XHE 7Ick2] 7| ARRC JdE ofFs| 2z Tkl
6) 1 7Aml= &0l Ect. dct,
7) 1 It X7 = LY R74e] Zolct, — J= 302 S 7IXE 7Icke| 1 QU
*1) 2) haveZt 7HX|ct AR3ICHe] £ M= SISO £ 4~ x|t * at7q0f| AEFSH o] Sixhol|= HatS = mf Sxit=2(have/has + p.p)=
‘Bobol £ mil= X %@E%—’.‘—‘RJEL 3) HhEE= SXS BHE M= LEHACE STHRIZOIN AlSsl= S5g 228 = diﬂﬂﬁxl%‘ (have/has
SIAIRIZ MI:t 4) at the moment= ‘XIZ'0J2k= 0|22 SxfTIdEo= been -ing)o2 LtEHHLCY,
£}, 5) 6) smell2 ‘~2| YAS Lrteks SXS LIEH mie ZIsss & 2
QUX[TH~SH AR} LICFEHS S e ZISSS £ 4 gitt. 7) belong tos 03 * have been to=‘ ~0f 7+ £ =o| Uk, have gone toe “~0ofl 7tz
TS 2 4 = SAlo|ct, 2ictak= So|ct.
03 *1)4)= 2AZIMH, 2)= D[2hZIMH, 3) S= SAHZIHHOZ LIEHACE 04 1) 2= U Tofl ZaflAlof AR
e e _ 2) A: He= Foll M=ol 7} =2 &o| u?
04 *7i7k2 Dj2fof Lot 2Py el Hiet I 0j2 Chl FRHEHSS ALt - B: OIL, Li= 7} & 0] gto],
QACk DT ‘~Sh= F0IRACH ~3t AACK, DA ‘~ot= 5
Zio|ch ~5t1 QUS Zdo|ctatm sHABHCE 3) fal= XIHsl 012 IHAZLE @2 JiS Qls) RiCk
4) Lto| = oA o] S=of HERICH
06 *'~2 SHCHE= take care of, ‘B& =35I = knock at the door2 5) A: L= 0C] 24T L7
S B: o0l 21t} 0l
6) Xlt A2 0|F 2 =0| 20| Lzl Ak
7) Lto| FSM2 olo| R 2 mikct,
Unit 03 » Sizl{2tg > WB p.10 8) Lio] ofpiLii= iR St2o2 SolRL?
= SIS *1)4)8) T4 LIENKS 2AIT} o2 At whene SIRIRIZ O 8171 £ 2 Bict.
i ZH SHH| M
01 1)was 2)hasbeen 3) Ijas been 4 has rai‘sed 5) raised 2{;;;5%% li%y&“fg;ﬁ%g;gﬁgﬁ% [ﬁésgln;%}%;gg%?
6) attended  7) hasn't arrived  8) did you write  9) for 5) have been to'= ‘~0il 7} & =0| QIc} ~ofl ZiTh $UcHak= = 74x| olo|7t
10) has been raining oict,
02 1) has played, for 2) has lost  3) have lived, since R~ o L siieiEol B AL
4) has gone 5) have been, since  6) has taught, since 05 ﬂmoﬂ ktxtoHM 04;\}5;;;' 71@51 %Qﬂ %LQL ngQX}}iEL%TJDD é}ié@q‘
7) has been waiting, for
03 1) Lto] ofo{L= FHoi| Ql=of 7HA o] UC.
2) Lte] ofmLl= 2l=of| Zhuck
3) Lto| Z7H= 1997 0|2 $H=of ULk,
4) Lto| =7H= 19970l =0l URALCE.
04 1) has taken — took 2) don't — haven't
3) import — have imported  4) has stayed — stayed
5) gone — been  6) snowed — snowing  7) leaves — left
8) has — did




Unit 06 » Zt7{2tE DO|2its

01

02

03
04

05

06

01

03

04

05

06

> WB p.12

had been
had bought
had never seen

2) had already left  3) will have been
5) will have visited  6) will have finished
8) will have worked

1)

4)

7)

1) f2l= XIZ7k] 10 St 0] RS0l &3 Urt.

2) Ral= M22 0lAt 27| T 108 St 1 ofS0llM HAUC
3) & H LVIX|H 2= 10 St I 0tS0lM Ak= ook,
4) EO|» Hlj} (=i} OI|:|.

5) Tam SH20] SRS M YXY EOF B 1|7} YKL,
)

)

)

)

1)

2)

6) LH7EX|H U2 LY H|7} 2= Aolch,
was 2) has been

had 2)has 3)will have 4)had
had 8) will have

1) James told me that he had been in Germany for a month.
2) | had never seen such a big waterfall before | went to Niagara
Falls.
3) By the time | leave, | will have been in America for two months.
4) The engineer had been fixing the refrigerator for two hours
when | hung up the phone.

1) He found that he had left his umbrella on the bus.

2) | had already heard about the movie several times before | saw
it.

3) My grandfather had passed away before the Korean War
broke out.

3) had been 4) will have been

1
1 5) moved 6) had
7

1) RAl= U7t 24 E UEHS of 25 St ot

2) 2 HI7 = 27t =23 of o|0] migtet,

3) Lol JiE2 ok ':’OIW' 27k itof| UA| == ook,

4) 1= FH A SIHFEIE QlojHEICt

5) 217t CHA| G=0 7*11}”4 74710l Ml 1 k= dolct,

6) D= LY 2% SAI7HX| o] Z2REES Bokx|A| & Zo|ch

7) L= 222 digio] 77| Tofl ZL2|XHE & Ho| girt,

8) Zl'— Lol 2E/ o 047|M 3537 2251 =h= 4dolch

* A9 Bt 7|1E A OIMRE JIE ARIIK| SEQ| t2, 2t A3, A%
LIEf = 2t 2(had + p.p)2 ESSHH, GITRE A *6%01 ajef 01L
Aol &=, Zat A, A4S Letd of olzi=(will have p.p)2 ESSHCE

1) 3= Xl A2 Aojl oFgct.

2) J= Rt U2 0|2 otmbA] Echol| RACk

3) L7t 12| gholl S04242 I 1= OIS S2F otbA] EcHoll AUCH

4) 27} LY WX| Qo™ U7 oA ZlcHoll UA| El= 4do|et,

*laste 1474, since last ~= Stz o S MOt 1Al Bt 7|E Al
(entered)=2Ct 11 O|FEE ot MpAARZ 2L} LI (tomorrow)o|

E|H 37} 0R2 0] YF0| =E2 n[2HAZ2 2Cf

1) L7t Hakol| =xBHS o O Pak= o]0 AIRKRHCY,

2) e XHEREH M FONEIE Ysict

3) OL47} $tAIZH B BEE 51 5AIZE S0t ZE5H= Moot

4) A2k OfM| £2 STt JuEE Jmi7ER| 22t of7 |5 2 Xo| SiRACt.
5) Lto| Al=L 5t FMof| QMO 0|A} ZiCh,

6) Lto| OHHXli= AZ0| 51 Hof| QIO O|AL 24T THASIAICE

7) Li= TISHIE 97| Fof| o|o| F50] Al2bHCt.

8) I3 & 20| =™ = 1 SO LIE A =l Mojct,

*1)4)6)7) 2742 0f= B AIFECH HA Aojt U2 DAHRAZZ 0t 3) 8)
OEE AIZKSt0] Oj2f2] of= Aol B El= A2 D=2 MEP 2) 3
AIES LIERHE 20| 1S Tis SIRHRAZZ £C}, 5) UAHE LIEHHE BAR
five years ago7t U252 W72 #r,

7

* 2= ~8F2 (such a + 8AL+ HAh| 0f o2 0t hang up2 HIE

Bfals Zolct

*'EO0PIAICHE pass away, ‘Yot = break outo® ZESSICE
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Unit 07 » can, may, must, should

01 1)152 s sl =2l

02 *'~ 2| girtE can't, '~& £ US Zolcte
d it

04

01 1) making — make 2)can — be able to 3) to not — not to
4) take — to take 5) has — have

can't) 2) will be able to  3) doesn’t have/need to
5) have to  6) (m)ay

02 1) cannot (=

(o)ught to
May 2)hasto 3)oughtnotto 4)needto

T S 2 2 Welo} & Zolch,
U silol N JRSS SRR of Eick
ol HAS HeleHE Bt ot

)
)
)
4)
03 1)
)
)
)
) se Fa 2 gict.
)
)
)
)
)
)
)
)

il
04 1
2
3
4
5) Hi= 047|0f| OfR_SES 2™ QF ECt

He should not ride a skateboard here.

The factory will be able to produce cell phones.
He may not have an operation.

4) They must not perform magic tricks.

05 1
2
5

She doesn't have/need to take notes.
He must be our homeroom teacher.
They will have to miss the dance class.

06 1
2
3

ul
i
4
i
0
&
)
S5 w
=
i)
n

t need to TI01IE SAIE0| 21, ought to2| BE2
an2| o2iEe will be able too|x, mustel 0jziE2

* don t have to, don’
ought not toolct. ¢
will have toolct.

will be able to, ‘~& =Q 7?
DDO(

°*E} doesn’t have toLt need to, have to2| S|222

Z0{ + have to ~?)2 £},

oesn

03 1)zt =S Lol= Ine?

2) 1= SFshs ol TEsHor sk
3) fal= HRE watoz mariH of #ct
4) 252 O AIF Zntol thah st 2ot gict
* can0| 51242 LIEtd A mayet HHof £ 4= U1, must7t o|FE LiEt
22 has to2} 0] & 4= Ut} should not° ought not to, don’t have
toe don’t need to2t 0] & 2= QlCt

*will have to= ‘~afjoF & Zdo|ct, must not2 ‘~&tH o Eict, don't have
toe ~& e Air¥, can'te ‘~Y 2| gitt, ought not toe ‘~5HH ot
Elctolct,

Unit 08 » would, used to, had better,

would rather

01 1) has—had 2)not rather — rather not 3) cutting — cut
4) skiing — ski  5) Should — Would

02 1) had better not 2) used to go  3) would rather, than watch
4)is used to walking  5) like to drink

03 1)would rather 2)used to 3) had better

04 o| S M2 (ofEof) 258 2

)

)

)

)

)

) (==

) 358 (ool et

) Ol= MZE A0l =2iE she o 2=aich
4) ZeAEle PETHE BIt o ARSI

)

)

)

)

)

)

)

1 =2 it

2

3
She would like to interview the president.
You had better not run on the escalator.

| would rather do the dishes than cook.
4) There used to be a bookstore around the corner.

05 1
2
3

06 1) We are used to speaking English.
| would rather refuse the proposal.

1
2
3) You had better say sorry to him.

> WB p.14

> WB p.16



01

02

03

04

05

06

Unit 09 » 2-5Af have p.p

01
02

03

04

05

06

01

02

03

1) a4 =2 & 2o 70| &C}

2) Lk= xt2t2| of7]ol| x| 2= Zdo] Ect

3) 1 7le 4RE X2 ol AFZEIC

4) 2= A7|S ERZ X XIS EHX| 2h=nt

5) A2| & FEFAIRIR?

* ‘~3l= 240| ZCPE= had better, would ratherel 2&2 would rather
noto=Z #rt ‘~ah= ol ARREICHE (be used to + SAFRH), ‘~5H2 3iCt=
(used to + SAtRE)| FEHZ Lrt. ‘~5tAI2L0127' = Would you like to
~72 20,

*'~3IX| §H= 20| ZCFE had better not, ‘~oteL| xf2t2| ---shCh =
would rather . than ~o=& #rt ~o 2 SUCHE (used to + SAFRIED,
‘~0fl A&FHRICHE (be used to + SAFRIE-INg)Z &L}, ‘~SHAIZINR?7E
(Would you like to + SAIS ~?>9§ 2L}

1) Lie G2 Z6HX|Tt Hal= 2 £0t6HR| =Lt Lhe g2leL X2tz

> stk
2) O|Lt= OHHXIQE X1 LHAIS ZEXITH B 04 JHX| Q=L Ol HAIS 5t
7k et

3) £2 LHY7IX| oflMl0|S FIZ3HOF SHRIZH AIRGERI= 44Tt = Y&

ollM01E M= Zd0] ELt.
* used toe ‘~52 LY, had better= ‘~ 0| Zct, would rather ...

~&i= A
than ~2 ‘~&l=L| XI2I2| ---31ZCt 2H=s SSo|Ct,
% <used to + SAFEE)0| T719| MEfZ MY AHRE= ‘~GRE FHCY, 172
S0 Mo AR ‘~0|UC, (be used to + SAE-ing)2 ‘~al= ol
°'”‘6H:r, (be used to + EAI-LJ%‘)O ‘~h= Ol AR EIEFEPE ojojolct,

>

* ' M7{X[5IcHE do the dishes, “~0| UUCHE= there used to be ~2
Sioict

2l

F

*~of| 2l23iC = (be used to + SAIRE-INg)Z EHEICH

> WB p.18

1) should  2) shouldn’t

1) shouldn’'t have scolded  2) may have quit
3) must have spread  4) can’t have chosen

3) must 4)can’t 5) may

1) should have worn  2) must have studied
3) can’t have made 4) may have forgotten

1) Rel= 19| 2& EX| YULo{of JH=C.
2) 252 Ul 312 RS0l S2ch
3) Hielo| L& 7|A%i2 2|7t gict.
4) 2= BAE AOHRISKIE 22Ct
1) They should have reported the stranger to the police.
2) He must have learned how to cook.
3) Someone may have witnessed the crime scene.
4) She cannot have taken apart the computer.

1) | should have visited grandmother in the hospital.
2) My cousin must have eaten the bread.

3) She may have stuck in traffic.

4) My sister can't have played volleyball.

1) a= x|£0| Ct Od=

2) 0| M= E2to|2z2ldg sh= Z0IQUnt Lie OZig
3) 7lgl2 0|okS Ok= A 2t O Foll 1S PhtSol S—igict
4) Lte| g2 2xHEB0| eict. J= EBlg 2|7t eict.

==
5) Tk Y=o oot Q= LSS HIAUSKI= ZECH

*should have p.p= 2ol orKI 242 Uof| CHSt ?—51% LtEtLHT, shouldn't
have p.p& k7ol 8t Yof chst L{EFHTE, must have p.pe 11742
oj| chgt At F52 LIEHNT, can't have p.p | O

2™ LIEIHH, may have p.pe 2t72] Yoi| T

SIE0i Ml H 0| SHUA0{0F =,
JZE EX| Ztojof =gl

O x{5
T AR

t=slg

*~BHR| Ztofof CHE shouldn't have p.p, ‘“~HSX|= 2ECHE may
have p.p, ~&20 S2IBICHE must have p.p, ~3HS 2|7t QichE can't

have p.p2 Zsisict,

r&"

1) 2= FEE UX| 20k &7 (ol ZRCE D= FES ARA0{0F HCt
2) 2= AlRoll ch|s SRE 5K 2t
ofzliEtol SRS Bl A0l 5%‘31'1
3) Li= el FollM Stl= M2 HRAXIR E2 22| Hotx| et a7t
A4S UEUS 217 elet
4) 42 0 2ol LI27|2 S[0fUX[2H 2X] tTt D= O 2AUS AoHRERE

* ZRE S| QSICkn AR B Wot

04

05

06

* 2 ZE| ATt =

£29| must have studied, 20l LI27 |2 $X|gt Lt
o{HHEX|= 22 at= 5£2| may have forgotten jﬂééﬂir.

should have PP pe~
can't have p.pe ‘~%
Bartek= ot

Flofo s
S 27 } °*Er may have p. p— ~RUEXE

report ~ to the police, ‘ZEEZ E5li5ICt = take
apart the computer® LIEHHLCY,

* ‘0| HBOKS JICHE visit ~ in the hospital, BEXHZ2= & Zsicte

stick in the traffico2 LiEpACE

Unit 10 » $SEHS| A|Z]]

01

02

03

04

05

06

01

02

Chpter 0

> WB p.20

1) designed  2) was designed  3) being killed
4) been arrested  5) chased 6) be found 7) founded
8) was founded 9) developed

1) Their cell phones are used everywhere by them.

2) The key was found under the bed by my father.

3) Animals and plants will be protected by us.

4) An English grammar book is being written by Brian.

5) Many kinds of coins have been collected by my nephew.

1) 2= 2 717 gholl XS €1 k.

2) 2dof| ofshAf S0l o] 71 tofl ‘Eoix| Uck.

3) 1 29| 2|oi7t 1 2YUS FHAMC

4) 1 zele 1 29| a|ciof olshM FHASIUCE

1) published, was published

2) be washed, wash

3) is fixing, is being fixed

1) The village was attacked by the enemy two days ago.

2) The big house is being guarded by two dogs.

3) The books will be moved to the library by my classmates.

4) Many kinds of art works have been exhibited in this gallery
for the past few years.

1) Some money was saved by her.

2) The newspaper is delivered by an old man every day.

3) This bench is being painted by my father.

4) She will be remembered by a lot of students.

) 1 [t Cixlo||7t f2| m=S CiXfRIFCE

) 1 33 EMR2 Y Zi=7to] 2lsf ololSS 2ish EAI=IUCE
3) w2 %%%OI AFES0 olall ZYUS ot AUk

) =2 oI 2 Mz =

se
SUSE A7 591 2EE 3

DEEE 2243
6) Li2] 22 OfEIvlolAf 2 Zolct.
252 19850 1 chate MR,

81 _J/\r— 2001 Hofl M=k

[ZE0| 0] B|ALOIIA JHL=IACH

*1)5) )4017%7%*2 & A= SEE2 M0 2) 8) 07t SEIS BLt EEt
AP +SEIR £01 3) B2 S2S0| ZUS Yot U= 20|22 SEE2
Mo} 101 SIS ~Seh= be being p. pE #rt 4)9) 2AZAH|
+SEi= have been p.pE £r}. 6) ¥L0| A= 20|22 SSEHZ Mot

5tof OJ2HAIR| +SEH= (will be + p.p)2 2L,

S2 159 FOHTSS ofC|MLE ARSI
9| OHHX|= ZIcH Of2HOIlA 1 HAE &
2le SAEES 258 Zo|ct,
BH0|HS B S 5+ M1 QIC}
o X7h= U2 EFC TS +EH Ak

S 282 OIS 1 sSEfe| 2X01S 0f Xf2|of EE=Lt SAks (beSA
+ UH2Ap.pHZ 5ta, olmf beSAte] AlMl= SSEH2| SAL AIMof SHEC
S8E2| F0o1S (by + EXZ)o= gHECt TS H| ~SEf= be being
p.p, A2 AH|2| £=SEf= have been p.p= 2Lt

M I’

BN e
_'T_III~IO_'ILI
J_rul

* 9
1o

>



03 * S&E= F0i7t SAR| A2 HWoh= 2S S£6lH, +SH= 017t SAte
SEE WL ok AE Kol

04 1) 1= 3d Mof| 0| Mg STCE /
o] M2 3t FHoj| o 2l EH=IUCE
2) 0| HAIS2 2 Lto| ois4of| ofs A74x| € Zolct. /
Lol oiSH= 2 HHXIE & Aolch
3) Lt| Ot X|= XIZ AtS #=2lsta Akt /
1 Ak= XIZ Lte] ot xlol| ofsh 42| =1 Uk,
* 3047t SAlC| SES #Moh= W2 SSEIZ, F0{7 SAte SAtS 2Lt
Hote A2 S+SElZ LD o2iAIMIe] +Selk= will be p.p, 2l
+SEl= be being p.pZ 2Ct

05 *attack2 ‘BZsiCY, guarde ‘XIZICF, exhibit2 ‘FAGICE, gallery=
‘Blai'e w50}

21

06 *3)2 TN S, 4)= D[2HAIX ~SEHZ B

Unit 11 » 4, 53Alo| »=E| > WB p.22
01 1) lent 2)arecalled 3)made 4)was made

5) were bought, for  6) were asked, of  7) asked

8) are asked 9) to open

1)

02 1) People are given much information by the Internet. /
Much information is given to people by the Internet.

2) Her mother will be told the truth by Bora. /

The truth will be told to her mother by Bora.

A glass of apple juice was bought for his brother by Terry.

The house was kept tidy by Jenny.

A thief was seen to enter the house by me.

People were made excited by the game.

She was advised to take this pill after meals by the doctor.

Mrs. Johnson’s son was made to practice the cello by her.

were shown, showed 2) teach, be taught, be taught
was Watched watched 4) named, was named

3)
4)
5)
6)
7)
8)
)
)
) = Aatol A = Jlel S AUIFACL
)
) 2
)
)
)
)
)
)

03

04
aeh= 2 o] STE 101 Qs ZAUIZUTE

= 7H2] S0 Tof| 2lal A2tofl Al ZUIFCE

2= T 0P FHAE 71X = XS B
0P |7H HHAE XD == 20 2(of 2la 2t

is called Mirinae by people

were heard to sing/singing in the forest

was written to my parents by me

was allowed to use the computer by his father

1
3
1
2
3
4
5

0

(%]

1
2
3
4

01 1) 2= 19| oiSMollA 20Hs ;
) 1 ZE2 A0 oJa $Zo|at 22t

3) Lto| otHX = 220 AH &2

4) 2 3AM2 Lto| ofoiLofl 2lsh R2|Z A BHS0iFICE

5) 11 v 7S 2 OHHE RUshAl 22k Mofl 2l TIZIRACE

6) 11 StM=0]| Qs O M olH B2 ZES0| Fo{FLt

7) &2 f |12 2=0]0iA 49| Lto|S 20f BTt

8) CHEE2| 0{HLIS2 152 00|50 fsh R 2SS gh=rt,

91 |-1‘— OMHRIZRE HES Hate 425 St

*1)3)7) F0{7H SALS| BEIS Sl A2 SSENR 2Lt 2) 4) 8) 017 At
=35 “’HLP gte 2S +SEZ £t 5) 6) 7Ho| ‘P Zo|1, Z20|
’(OW 0|22 SEENZ 20t 4FAMl|M ZES 0|2 +SEHE UHE o
makeE ZHI2X0{ ol TX|AF for2 M1 asks of 2 0t 9) 5842
SSEZ HEE O tello] SXZ 2010l toREARS ICHZ 20t

N

02 1) QIESI2 ARSI H2 FEE
2) Hek= 19| ofoiufofA| Tidls 2 Ziolct,
3) Hi2ls 10| gsdoliAl FA 8t T2 AP FUCE
4) M= 1o e 2Es o Ut
5 Li= =50 1 TS S0i7k= 22 B
)
)

=0t
a

6) 1 @7I= AldES SRR

7) 3 2Ak= JHol[AH| A0l 0] ofS Hoetm JHCE

8) & M= J142| ofS0l|A H=2E s 6} = Ak

*1)2) 48A| 2x0|| MO give, teII% 2M0{Q} ZIMEHM| DEE T0{2

10l Az H1PO| 2 2 31t 3 A8 300 sl buy= = siols
OIS SR tin it 467 S8 S0l 0l St Lo} SEAL
TOSEIAO|E S SEOH L L1 5) 8) SEA 20| Mol KZHSAILL
AleiSAfe] 252 Hojol SAIRIFR £SE) 20M toL AR bi#IC

== =

K
OQL

32 4 Workbook

03

04

05

Uni

01

02
03

04

05

06

01

02

03

1) 2z4El Z 7Ho| AFRIS0| OfX| Aztoll 2fsh ERFEITLlA 204t /
A2t OfFl EXEEF0lIA Z 7He| @HE AIRE 2oLt

2) Lto| ME2 shsoA SH=AE 7t23 Zolct. /
SIS 2 Lto| M=o ofsl SH=EALS Bl Zdolct. /
St2Ak= LEo| MEof| olsiAl SHES0lA 7I=XE Zdo|ct,

3) 8t AH0] 102 Hoil 2 &g §1 7h= 20| Ltol| 2lsh St /
Lh= 8t AlH0| 102 Xoll 2 &g S0 7k= HE E‘”Ef

4) 2 88= a59| "ol Efoikts o Ml2t2k= 0152 XIof FUct. /
59| D2 EfoitE o 1 220i 2lsh Mi2teks 0150] 04t

*1)2) 48A 22 7S X0{9 ZHSHM0IE 012 510 SSEIR HIEE 5
Qm, 3) 4) 5A 2EL SX0{E 0|2 510 SSER HEE 4= Tt F0{7t
SAte| S22 Hok=X| otL|H BHALL H5h=XIE melsto] SSENRL ~SEH
SAte| HEH=Z 220t

*hande ‘ZAUIFCY, be handeds ‘AY|EiCH AY|X|CHEHs 0|1, sees
2rt, be seen2 '=o|ct, HO{X|CH2Hs So|ct,

* ‘22|t be called, ‘S2ICH= be heard, ‘M0|cHE be written,
‘5|2t E be allowed to2 E3isiC)

it 12 » 032 73| —}|\— EH > WB p.24

was stolen  2) was turned off by  3) are produced
was introduced 5) introduce 6) be treated  7) treat
be punished

be hired 2) can be seen 3) satisfied with  4) known to
worried about

with 2)in 3)by 4)of 5)from 6)with/at/about
with

il
4
8

1
5
i
7

)

)

)

)

)

)

)

1) Our promise must be kept by us.

2) A new student was laughed at by some students.
3) An English man will be married to my friend soon.
4) The poor puppy should be looked after by Tommy.
5) A cat was run over by a truck.

)

)

)

)

)

)

)

Students’ cell phones must be turned off in the classroom.
This orphan has to be taken care of by someone.

A lot of stars can be seen in the countryside at night.

4) The teacher has been looked up to by students for many years.

1
2
3

All the paper should be recycled.
A lot of soldiers were killed in the Vietnam War.

[
2
3) All the people were surprised at the accident.

1317} Ol ralofoll M Ecteratc,
27+ stoll L] ol i ofsh 7zt
Solofl o AAREIC

=iz
OEH Holl et=0l =U=IAC
1= 42| S Liofl A 271sHE Ziolct
u}io [ R CHEEED SHCt
S 19| ORI MY Cisk= 240] SRRl

% [Z347] 2ol 2e HEX|= 2Ect
7t SAte| SE2 WE th= SSEIE 20} 2) SATE +SHE

SAE +SEiE H7a SAel e oz =2 Ho <by +
xS £r} 45 D2} SolsL HOIIS 2B, 1 Hv 25 OHE
‘AEFE 0|22 SSEHZ 20t 6) 7) Ho| FXIAY ‘TiF=' 20|22
SSH, AE0| HHS ek H0|22 SSEHZ 240t ZSAP U= 29
SEEH= (ESAH+ be + p.p)E £C}. 8) SHYS0| 'ES W' Zo|2z
TSEHZ o
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*‘~0f| BEESICHE be satisfied with, “~0flA &24x|cH= be known to, “~oll
A ZASICHE be worried about22 LIEHHCE

1) 2 gsol= 82 7ts 2t ek,
2) P AESS 751 o EHA0| ek

== AoE
0
0

| RHALS O] ALEOQ|| O|5H TFS0{RIC}
D

HEl= 2R2 THE0IRIC

6) Lt2| ot x|= 22| M=oil 7 |SHCt.

7) Ol 1 Zatol| Aysict

* be filled with(~2 715 &t L), be interested in(~0fl 0|7} Qich),

be made by(~oi 2Jai BHSO{%|Ct), be made of/from(~& THSO{X|Ch),
be pleased with/at/about(~oil 7|t5}CH), be disappointed with(~ofl
AlSIChHZ 20t be made of= 221X #3} be made from t&Hx
el mfj Molct

u b W

)
)
)
)
)
)
)



04 1) Rel= 2l U442 XIFHok St
2) 2 sHS0| M2 2 Sh¥s HIRACK
3) Lol Flt= 2 A= ERiet ZEE Zolct,
4) EDj= 11 245 ZOIXIE SElof Bick
5) gt E3do| o] §F Of2|E RIACE
* ZEAE UE BE | SEEH= (ZEAL+ be + p.p)ol YEHZ L0} SAI
Us B2 SAE £+SHIZ DX|0 SAHS| FEll= I0HE £0t marry2l
+EEl= be married toolct.
05 *‘BAMmS Yir)= be taken care of, ‘222 = be looked up to2

06 *‘~of s2ictE= be surprised atez EHSICH

Unit 13 » Dé}\l';i'll %HJ, Ql—E-Al' + tO—'f'—zo-ul' > WB p.26

01 1)study —tostudy 2)run—torun 3)to not— notto
4) visit — to visit 5)are —is 6) This — It

02 1)towrite 2)is interesting to explore 3) when to open

4) decided not to play

03 1)Itisgreat to hit 2)what I should do
3) when they should open  4) how he should handle
04 1) ZHZS sH= 242 ofFHLE (F0f)
2) 19| B2 2F0{aS Hasks Holck. (2of)
3) 1 HRls OHE ARED MRE 248 97 |2 23t (o)
4) 252 Zal=RE XTE Foks Y oot (2X0])
05 1) It is important to make a lot of effort.
2) His goal is to make a robot.
3) They expect to wait in line for an hour.
4) She knows where to travel during summer vacation.

06 1) It is interesting to make a music video.
2) His dream is to invent an invisible cloak.
3) They plan to study global warming.
4) She decided not to skip breakfast.

01 1) P3| S¥oh= A2 R0l
2) O= shis|Zol E0ksi7|2 A=t
3) dl4= O CHA| BHLEX| 2271E 3t
4) 252 N 7R]2 WEEX| ot
5) ZlTE3t olopr st 242 S0lECh
6) B2 52 M2 o= A2 FQ0it

*want, plan2 toREAIS SX0{2 F/6HH, toR T 0| A2 & A2
71301 ZIF0{ FEZ 220} toRFAR= Y B FFol toRFAL 282
T AL 20l notS 2L} Sl2ZAL Fofl toR A 2 A HLS ik

02 *toREA= ZA -2 M0|H F0f, 20{, 2X0f A&t2 it decide=
tORFAIE ZX{012 (oM, toFFAI| FE2 toR AL 40l notS 22Ch
‘OAx|| ~aH0F SH=XI'= (when + toREADE LIEHACE

03 1)of Z7I0IM ERS Rl= 22 HRICH
2) Lte] ofmL= Lol RS sof &
3) 252 ol 7IE 2X| 2l=3C

4) 2= 0| AERAS ChR= e HEE 2ol

(==
b 27| mi2ol 27 FHZ 2L gl F0
OEHANE (Ql2At+ F0{ + should +

04 *toRHALS| F0f AE2 '~ah= A2, BXl0] AER2 o= A, 2ol AE2
‘~ah= Z(0Ichojaks o2 siAlStt ¢how + toREARE ‘O{EA ~&X],

~Bi= e 0|2k SO sjAfBi

=

05 * ‘@2 22 5icl'= make a lot of effort, ‘& MA 7|ct2|ch= wait in
linecz T&isiCt

06 *'SHUE'= invisible cloakoln, ‘KIF2Ht3 = global warmingolct.

Unit 14 » YEAFA G2t BAP &5 > veoze

01 1) talk — talk to/with  2) in order — in order to  3) sit — sit on
4) telling — tell  5) write — write with  6) become — to become

02 1) a friend to travel with  2) to see dinosaurs
3) children to take care of  4) to say that
5) something to worry about
03 1) to see
04 1) 1= SEo=z zH 7ot ULk (HEAD
2) Q2|= 252 CHA| TILEN S=3HCE (SAD
3) O A2 @27| Hx| ULk, (KAD
4) O] 7152 of#lS Z ol Fo|UCt. (H2AD
1) He lived to be ninety-nine years old.
2) The movie is very difficult to understand.
3) We met at a restaurant to have lunch.
4) He was to fall in love with her.

2)in order to play 3)tofall 4) To get

0

(%]

06 1) She was sad to part from her friend.
2) The coffee is hot to drink.
3) He grew up to become a scientist.
4) They don’t have a house to live in.

01

EIXIE2 olop7 & MERITL UL

= AISES Z7| oA BAIE 3 ot

=2 42 Xt gick

A Usk= A 2L O= gl SR

QlLe?

6) 1 Ald= Xt2tM HS AP} AL

*1)3)5) HEAE o= MOl toRHALIA 2 talk to/with a
counselor, sit on a chair, write with a pen0|22 (to2 &AL+ HX|AH2)
SENZ MOF BiCE 2) 4) AR 8oz MO| toR ™A EXE S8 in
order to2 H0{ £ 4= 3o, to CH3olle SAHZE0| 2Lt 6) grow up
CHSoll toR-ARZE A0|H ZkS LiEHLH0] ‘Ki2bA ~0| =|cHak= S2o|ch

w
[N N
o

SRR
o rlo rir

o9

2
=

B2
G i©

02 *‘ofaist F1'= a friend to travel with, ‘S oto|E'2 children to take
care of, ‘22171 gt 2’2 something to worry aboutoz ZsisiCt

03 1) R2l= ofRES 27| /sl mhalof zich
2) 252 YES20|=S Ef HOIM AEnt=0 24
=52 YES20I=E B sl YEm=0) Zich
3) 2= Roioll A Hoix7| 2ol SR
== Sl M "oiM M gt
delaE Hn A7 t20| S5 S=etct
== YalEs 27| flstod S| SFstct

Ol HAY 28 & 2X2 in order toZ HI0{ £ 4= Ut

*
=
o
I
02
=

04 *toRHAD} SBAIE SHOR 10|B TANLL HYAE Al5H0] ~at,
~3Folatm sABICH toREADHEA SO Mol 25, 7ol ol
2l S8} $4], Hitto| E02 Moltt 22 ~3p7| Ystof, o] Hoie

‘~oliM, ~SIL, Bak= Bl ---SITE, FEAL AR ~517 ol 2t shAfstct

05 *‘~& 2Ho|t'= (be + toRHADZ LIEHLHH, ‘~2F AfZtof| tHX|CH= fall in
love with2 Z&si}.

06 *‘~2}35l|o{x|ch= part fromo|x “A Z'2 the house to live ino& ZsisiC,
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Unit 13 » Z|7_|I'%}\|', )\l'_:ll%j\l" > WB p.30
01 1)stop —tostop 2)do—todo 3)to laugh — laugh/laughing
4) going —go 5)ok 6)washing — (to) wash  7) ok

02 1)shake/shaking 2)dig 3)to forgive 4)light 5)ride
6) (to) look for  7) to catch  8) hide/hiding  9) to set
03 1) burning 2)asked 3)made 4)to help 5) helped

04 1) We didn't expect him to become a famous actor.
2) She saw her children riding a seesaw.
3) | listened to the popular rock star singing on the stage.
4) They made their enemy surrender.



05 1) saw them play/playing basketball.

2) My mother let me go to my friend’s birthday party.
3) They helped the old man (to) cross the street.

4) She heard someone call/calling her.

5) The teacher got us to clean the classroom.
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1) XS Ak SMEA S5
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helpolct.
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Unit 16 » toR XA L&
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01 1) enough brave — brave enough  2) finding — find
3)it — AH|  4) He — It
02 1)so, that, couldn't 2) so, that, can  3) beautiful enough for us

4) too, for her

sad that we couldn’t eat anything
clever that she can get a perfect score
too dark for us to see each other

1)

3)

)

)

03 1)

2)

3)

4) easy enough for them to read

5) seemed that he

04 1) 2= 4R FMYYM OfF 2 & -

2) O= Joju2l 7Hke 37|l S&s| 20| SUCL

3) 1 0lo|S2 LERS k= As § Fsh= 2 Zch.

4) M7t ol EHYIM R2l= 612 S siHolM & 4= UACH
) A Xes HS BRE0A J—SS #o= Jh= 22 32 4
) They seemed to make a mistake.

) The train was so crowded that | couldn’t find my friend.
) The glass is so fragile that we can easily break it.

4) The painting was beautiful enough to win the art contest.
1
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06 1) It seems that she lost her money.
2) He is brave enough to become a police officer.

3) They were too angry to forgive him.
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it 17 » toAJArS| O 2oL AR > wepse
1) of — for 2) them — of them 3) me — for me
4) had — have 5) have been — be 6) meet — have met
1) for him to teach  2) of her to show 3) for me to do
4) to be
1) seems to trust the players
2) seems to have learned Chinese
3) seemed to like going skiing in the Alps
4) seemed to have taken photos with the Olympic medalists
1) 152 SHIZ XIS MEE 28 2tk
2) 07t ZaE gtes A2 HX| ot
3) 7t K2 s A ECh| SHACL
4) 247t =iEofl 2F6HM ks ol 8 AlZ Z2ICk
1) The team captain seemed to be worried about the next game.
2) The singer seems to have forgotten the lyrics of the song.

3) It took five hours for us to paint the house.

4) It was kind of them to take him to the hospital.

1) The writer seemed to remember me.

2) It was foolish of him to cheat on the test.

3) It is impossible for her to run a marathon.

4) It is time for me to go home.
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1) doing 2) digging 3) Dreaming 4) informing
5) not wasting  6) cleaning

2) be — being  3) Don't — Not
5) are — is

1) invent — inventing
4) sleep — sleeping

1) organizing/to organize  2) not suffering  3) photographing
4) Making  5) wrapping  6) discussing
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Not making fun of others is important for them.

The girl enjoys imagining herself as a princess.

He was disappointed with not entering Harvard University.
She kept her son from driving her car.

1
2
3

4
1) They are proud of not giving up hope.

2) The purpose of this club is improving writing skills.

3) Not breaking the rule is important.

4) Kevin is looking forward to watching the final game.

5) Thank you for not telling my secret.
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> WB p.38

1) explain — explaining  2) improve — to improve
3) run — running  4) protect — to protect

5) express — expressing  6) behave — to behave

3) printing  4) to review
1) to interview  2) not to bother 3) to bring  4) to tell
5)eating 6)saving 7)calling 8) introducing

1) :1%8 A M| A0 Choll SFRE
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1) booking  2) to persuade
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3) Li= 7t azig ok UHE 2ig 3|5l
4) U7t HE =2 4 glctn 2shA| =lojM |Zto|ck
1) Suzie will never forget meeting her role model.
2) We promised not to be late for the concert.
3) | regret to tell you that your application isn’'t accepted.
4) The police gave up chasing the suspect.

1) We forgot to collect some information.
2) Harry finished exploring the Arctic.

3) They remembered surviving the crisis.
4) She regrets not treating him kindly.
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1) she — her 2) he — his/him  3) have — having
4) understand — understanding

1) having gotten a perfect score

2) doing the bungee jump

3) their/them having destroyed all the evidence
4) my/me using his laptop

5) not being elected as school president

6) having repeated the same mistakes

1) having told  2) his/him having hit  3) getting
4) our/us complaining  5) their/them having completed
FEsH 2
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1) We were fascinated with their having broken the code.
2) They were shocked at him supplying arms to the enemy.
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3) She is confused about his having changed his opinion.
4) | was surprised at his making excuses.
)

06 1) We are surprised at his/him having set the world record.

2) | am excited at her having accepted my proposal.

3) James was satisfied with their/them offering the best service.

4) They were proud of his/him having saved their country 1000
years ago.
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Unit 21 » SLAfo| 85

01 1)locked 2)lost 3)barking 4)wearing 5)sent
6) excited, exciting  7) shocked, shocking 8) standing
9) played  10) stolen

)

02 1)®boring @bored @ boring @ bored ® boring
® boring @ bored
2) @ disappointed @ disappointing @ disappointing
@ disappointed  ® disappointed
3) @ scolding/scold @ scolded
4) @ to carry @ carried

03 1)left 2)singing 3)surrounded, confused 4) arrested
5) leaving  6) planted
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1) interested — interesting  2) falling — fallen
surprising — surprised  4) test — tested  5) putting — put
6) publishing — published  7) satisfying — satisfied

8) satisfied — satisfying

Shelly watched them taking/take a bus.
Kate got her computer repaired.
4) | heard my nickname called.
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)
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1) There are a lot of interesting shops in Insa-dong.
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3)
)
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1
4
7

Playing 2)Being 3) Watching the movie
Catching a cold 5) Cooking food 6) Having no close friends
Not having enough money  8) eating

| walked 2) As/Because/Since he got
Although/Though we arrived  4) If you eat
As/Because/Since she didn’t know

Talking 2) Standing 3) Not having  4) Watching

Calling her sister’s name, Yuri ran into the house.
Having nothing to do, he took a nap.

Reading a book, my mother prepared dinner.

Not knowing how to drive, | don't want to buy a car.

1
3
5
1
1
2
3
4

Living alone, he didn't feel lonely.
Walking in the forest, | caught a dragonfly.
Going there, you will see many kinds of flowers.
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2
3
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) L= 202 10 3| 2247| T20) 85| A UAc

2340| ojnjoi W2 YL FAAIE M1, FHO| Foig 4 Fo] Kialof

43 S Fol ARl S

(&)

*

*BALE0| 2 W= F&AL 0|7t oI FEAE £ 27t it

iz}

*‘ZXt ATt live alone, ‘Fxf2IE EChE catch a dragonflyz E35ict

Unit 23 » —?—Ql'E"HOF 'EEI' —E—*l’—?——i— D >wspas

01

02

03

04

01

1) Studying  2) Having finished  3) Having cleaned the house
4) Never having met  5) Being invited, Invited

6) Having been born, Born  7) Compared

1) Written in French, the book is hard to read.
2) Not having been read for a long time, the book was covered
with dust.

3) Having gained the information last night, we will keep in
touch with him.

)
)
)
1) Having graduated 2) Tired  3) (Having been) Punished
4) Giving
1) Asking, Azk= H2|oflA| 1 71A10] AlR#e S0 74| 5t T2 ARICE
2) Asked, I A= = Alolx| 22g t.':’°*J<Im CHERSER] 24U
3) Painting, 1 37b= 1 &A1 O3S 0 90MIICt
4) Painted, 1 J2E2 QU 3710 —IoHH %7 2o & ZRcH
5) Seen, 1 RS2 I3[0 HRLS o Mk At HACt
6) Seeing, Lt= SH{LIE EXIOFK} Lol 24t
7) Spending, 11 A AHEE AYS o= O E AlZIS EH S0l SHIE ik
8) Having spent, 22|= ofxl| =2 2F 47| 20| S0l HE 47} gict.
1)
2)

1 S347| mh2oll 21 Aol g
2) O= ofdl SHIE o 7| W20l XiZ e7tstct.

) Hlzl= 25| 3

)

) = TS FAS 20l LR 2 RS AdCh
)

)

ZA3UCt

w

4) Li= Aets 2t Ho| @17 hiZofl ol thall X5 220

5) D= OEHES| M TiE|of] ZCHRIUS [ 0i< 78Tt

6) 2= =olA Eof5t7| ThE0l S0IS & 2= Ut
7) A= T1142] oft{L|9t bW RS mf TICHK| ol s x| gict

¥ BATEC AlMlE Hedat 20| ok 1) FEnH SEHO| ARIZH AL
0|29 A|H|0|22 HHES(SAHE +-ing)22 $0t, 2) ~ 4) ZLEHO| A7t
ZHECt ool AlF0|22 &2 8(having p.p)22 2Lt 5) ~ 7) &-SEl
EAS H3 I being p.p2 A0, 22 M= having been p.p2
MEL ol beingo|Lt having been2 Mest 4 Qi

02 *1)3) EAIEQ| AL FEE} OfHe| AHO|SR U2 EAREoE M,
2) 4) 70| Zofe} BP0l 2AP}HSSTALY Ghs SAH2AL ST
ah= BH2ADH 2T

03 *FT BAR2O EAPHSSTAY Gh= BAH2AL $SAL t=
TEAPH 20k 430 AFiet Fol AP} CI28 22 EATES0| 2t

04 *'~2 HoIUCH'= be covered with, “~2 H2f5ICt= keep in touch

Unit 24 » —T—Ql'ETHOI: i:TEI' —E—}\l'—?—vn_— @  >wspas

01 1) When going 2) It getting  3) The game being
4) There being 5) Frankly speaking  6) Judging from

02 1) Strictly speaking 2) It raining  3) Considering  4) taking
5) crying  6) crossed  7) locked
03 1) 2= chalE & 2 7Ixtofl etot AUACE
2) 1 3= sielSs FlmEA & M= Fas sofctict
3) ude| Lio|E mafsh BH s £5Sto SRQIc
04 1) Generally speaking 2) turned  3) playing  4) with, closed
05 1) After finishing her homework, Amy hung out with her friends.
2) The thief walked behind the police officer with his hands tied.
3) The sun having set, we arrived at Jeongdongjin.
4) The teacher entered the classroom with all the students

looking at her.

06 1) Frankly speaking, Kate told a lie.
2) My brother is memorizing a poem with the book closed.
3) It being hot and dry, we often drank water.

01 1) L= Zxi2lol & of et 5SS 2ot

2) EMI7} L2 27| 20l f2l= oflofzig Zick

3) E2|A2 7|7t Bt S0l MS2iM Tojl Zick

4) M20oll= % To| UKLt L= itz gict.

5) £2I5HAH| o7 [5HH W|7t BHE SAI2 Sto] gic.

6) 19| QB E Metsl HH Jld= ofui 2ol S2AUCE

* 1) &AL 9o|E ZE5H| flshM BAR20 HEAE O'g & 4= Urh 2)~
4) ZH0| 09t ZAHO| 07t MZ C2O2 BAIRR Y0l 012 M251X|
241 £t 5) 6) frankly speaking° ‘EE[5| 25t judging from2 ‘~o=2
TS 22'0|2k= 500 R21E = % }:rL'-O“:f

02 1) Lzt LstH o] LIF= X LISet Ch2ct,

2) H|7t 27| H20f 1 AZ2 FAEACE

3) 19| Mg Tafsh 2H 4= thtofl 2 4= Ck

4) 22l= A1 A= Sl ES otk

5) Hat2 M= 0P7IE 14 HolM 27 & &2 ZcHoll =ck.

6) 11 O{AH= TS 71 RHZ LY Fofl A QUiCt.

7) 20| 7l ;=2 o47|2 Woil =Xt FX| otzf,

* 1) 3) strictly speakinge ‘22451 L5, considering ~2 ‘~2 12431
2ripo| S£o 2 201F =7 BANLR0|C) 2) FEQ| —’F—Oi(the plChIC)aJ
A2 Fo{(It)7t EPEE AL H0l| [t MZE0{0F FiCt 4) | F0{2t
EAPHsEEA0|22 SRR 2L}, 5) ~ 7) (with + SX0] + EADOIA
SX0{2t A SSEAO|H SRHRAL +SEAO|H HUAHRAZL 2L,

03 *(with + 20| + BAH= ‘BX0{7t ~5t ;2 ~3IHA 2D

o

H

e

04 *'Utsioz LS 2017 =7 AR
| 2) 4) 2xjoje} SAF SEE(R0| FHR U,
SAP}SCE 3) 2j0jel #ADE SERI(1| 00| AlIS oie
AP} et

Ml

2l generally speaking22
‘ZH20| :h5|) =3
ol=2

el B
éirﬂ*

AT o
>—>r|

AL

06 * ‘&=/5| LslH'2 frankly speaking, &2 &M= with the book
closed, ‘AIZ &47[5lCHE memorize a poem22 E3isict
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01

02
03

04
05

06

01

02

03

04

06

Unit 26 » 20t H| 22

01

Chapter 08

S

> WB p.50

3) luckiest — lucky
6) more — most

2) more — At
5) of —in

S0 — as
shorter — short
much — more

2) cheaper 3) not as/so, as  4) higher than

not as/so smooth as  2) more fluently 3) less serious

4) the best

4) worse  5) more

January is the coldest of all months.
The baby is more adorable than the doll.
Her skill is improving faster than | expected.

He is not as/so negative as his brother.

This is the most wonderful temple in the world.
They are more sensitive than their cousin.

He is the strictest of all her teachers.

)

)

)

)

1)

4)

)

) The novel is not so boring as the movie.
)

)

)

)

)

)

)

) My friend has more books than | do.

1) J4d4= a8k ofto] lct.

2) M9l MQUAHCH O EES|C)

3) = 19| ARt -.-0| o =}

4) 19| Hal= a4e| M2|THE x| ot
5) 4= Stmol| A 74 EE5H SHo ot

6) = BE ITXIE S0l 74 FelFo|ct

7) 7Ale ZECt of Bl ¢t

*1)4) S2H|uE (as + HSA/EAR] g2 + as) Sat|uel 282 (not
as/so + SHEA/EALL| ¥F + as)2 £}, 2) 7) (H|2F + than)o= Mg|,
brighter7t BlmZ0[22 o more7} %'8 glom, muchol Blmze
moreo|C}, 3) YSH|wE (less + HAVEAR| ¥5 + than)22 £t
5)6) 2-32& 0|“°I £ho{o| *I“:‘o 2ol the mostZ £0[1, in Foli=
/g7t 21 of Folls HlmiAo| 2ct.

1) A0|E= FMiel=ct o Z&=o|ct = ot
2) XA = RISRIRHS HIMR] gCt,

Hek2 Ao|ERD € 2

= =

3) A2 E20t o prlisict =22 HIL
bl

O

RIE7HE KSR
012 BoksHR| etk
M2 Mottt et

h

4) MOIAIS BIRIAIDIE = X| 9t

CO T

faph
ET
=]
oh
=

*(Aisnotas &2 asBy=(Bis than A) E2 (A is less &3 than
B)2t 242 Z=o|ct, ‘BELCH A7t HIMX| it ‘A7 BECHMCHEH= S0 2 HiHY
£ 4= ot

*Ot= .= (ot + as/so + /2 + asy, ‘T K= more

fluentlyZ LIEFHTE goodel 4= the bestolct.

1) 22| oflAloli= 12| ofjfoleta St
2) 252 o] LiatolM 2{7e] FeSolct
3) 29| Hofi= L7} AZiRHE 2t of Bt
4) 10| 47)= T1ide] o1 |ict of it
5) 22|7} AbZiatE ZiEct o e RERt0| Uck

better, ZA4Z2 besto|H, bad2| B|mZ2 worseO|ct.
* Mol 7HE SIZL AR the most wonderful temple in the world,
‘Tl o] MMEE S0l 71 ‘.’:‘Hé 2 the strictest of all her teachers2

TSI

* goode| HlmZ2

9| of2f 7}A| FH> we 2

) more and more peaceful

) much/far/even/a lot/still more embarrassed
) as much as

)

1
I
2
4) three times as powerful

02 1) The faster we run, the earlier we get there.

03 1)we can

)
2) The clearer the sky is, the more stars you can see.
) 2) she could  3) more expensive than

38 4 Workbook

04

05

06

01

02

03

04

05

06

Unit 27 » 2|422| of2] 7f2| &4

01

02

03

04

05

06

01

02

1) H= 7700l #2| =2e+8 o 22 & 4 Aot
2) Lto| mal2 Jo| mAlErt i o SHict
3) o Ci2l= A C2|=ot 4th o Zct

P.Shug=ig 7-Io||:|.

==

)

)

)

4) Lio| Bt FIRE2 B= JkSEt 5 =0|
1) The more he walks, the healthier he will be.

2) My sister and | want to travel as far as possible.
3) Robots are getting more and more intelligent.

4) The old man is ten times as patient as the boy.
)

)

)

1) The painting is becomlng more and more valuable.

2) The harder the test is, the more nervous he will be.

3) Paul will solve the problem as quickly as possible.

* A O ~3P2 (H|mE + and + HIE)SZ Mer| 2-388 HEAK= (more
and more + %1%)\})°| SE|Z r} ‘~ECt - O 8P (Hig=AL + as +
2+ as)Lt (HilpAL+ HIZ + than)2& #rt HlwZS 28 ti= much,

=
far, even, a lot, still2 HImZ roll Ao “E4T0[2tD SHAISITY

KD 4= 001 71848 £ 0] Beich.
1) pale 2 SEAR 2470l f
2)8ts0| o HBA= L= o

* g O 32 (the + Hl@
]_

HZo|2Ct 46 o HIMCE

&= as p055|ble) =(as &3 as + F0{ + can/could)o|1, {tHs=At + as
(HH=A + HIE + than)olct,

* <a5
o=z as) =

Sict, even2 HIL‘:E
~ii o -

5}_'j f_-l
(His=AL+ as 22 as)y=
572k S=o|ct,

*(the + g, the + H|2F)2 ‘~
ZRsH= ez EM0|2km OHA i

(as ®3 as possible)2 ‘7tsst

r.°l

f
St~

*7kss ot Hal'e as far as possible, ‘&& o XIsHQI'2 more and more
intelligent= ESI5ICY,

o

* XA O 7kx| Q=2 more and more valuableZ E3$iCt

> WB p.54

1) composer — composers  2) strange — strangest
3) tall — as tall  4) happiest — the happiest

5) diligent — more diligent  6) most — more

1) more creative than

2) better than

3) other baby, as healthy as

4) other place, as noisy as

1) the most impressive masterpieces  2) the most fantastic

more useful, any other
xOt= o] HE=X| Ct.

EI o Ct2 ofE Exlotolz et
£ O SAIE O|NECH O FY7P7t SFoHX| 2Tt
e is one of the most skillful mechanics in this factory.
She is the most ambitious person that | have ever met.
No other painting in the gallery is as expensive as this.
He is more challenging than any other player in the team.

This is the most complicated problem (that) | have ever solved.
Van Gogh is one of the greatest painters in history.

She is the most curious scientist in the research center.
James is more generous than any other person in the club.
No other reporter in the magazine is busier than Kate.

)
)
)
)
)
)
)
1)
3)
1)
2t
HH
2)
3)
%)
)
)
)
)
)

1
2
3
4
5

1) Hig= MAIM 71 RS 217t & 8 Holck

2) 11 gxb= LH7t SR ARRES S0l 71 0t ARZto|ch

3) 22| gtof| CH2 ofE xtoto|= Z0HE 7|7t 3X| 2Ct

4) Jde O SMSEIM 71 #Est Aot

5) J= 22[stmof A CH2 o SHEC} of 2X|25i0)

6) 11 ALl L2 o ZEME MUALC} Of L 2A5HX| 4Lt

*{one of the + Z|&tg + B HAD, (the + Z|&F + (that) + 01 + have
ever p.p), (the + 2|43 + in/of), (HlnZ + than any other + &= HAD,
(No (other) + Tt4= HAL ~ B|mZ + than), (No (other) + === AL~ as +
HEA/ZALR &5 + as)E #Lt

1) a4d=
=34E=

f2|LtztolM 7H FelHel oilztolct.
2|Lt2te| CHE o of&7HE 0t o Folxo|ot.



2) 11 7hmjol| CH2 oft Hi2| AEHE si2|THE ESHR| 2h=Ch.
=1 7ol CH2 ofE dia|AEHE SH2lRCt o ZSHX| k=t
3) 2= el 020l 7He 7425t ot o]t
= 22| ok20f CH2 ofE op7|= 8t ZAZsHX| Utk
4) 0| &2 1 ZH20f|M CI2 ofH EALCH O] A|TEICE
=1 ZigOHH CH2 ofE FAE o] WoE AIIRX| 2t
*(the + &3 + in/of) = (|22 + than any other + =4 BAD =(No
(other) + £ BAL~ Hlg + than) = (No (other) + B4 BAt~ as +
AN/RALS] 22 +as)

03 *'7hzt ~5t ZY/ARIE B St (one of the + ZIAZ + 24 HAD, ‘XIZ7IX|
5t 24 S0f| 74 82 (the + 245 +(that) + 301 + have ever p.p),
el ---8I'2 (H|mZ + than any other + &= BARZ &Lt

o

one of the most skillful mechanics,
Al2t'2 the most ambitious person
Ch.

05 *7HE Il £2 7I71I3'~% sty
LHH”*'—tEM PéJOFE'J%
that | have ever met%

rl_rf

rEk

06 *'CtE HF7ECt= o #HsP2 more generous than any other
persono|, ‘Ti2 Of# 7|Xt= ~Eef o v x| oict= No other reporter
~ busier than ...22 F&IsiC}

= H NPT

A|' > WB p.56

Unit 28 » B=3-2 + and/or, At

01 1)notonly, butalso 2)both,and 3) neither, nor
4)not, but 5)and 6)or

02 1)like 2)want 3)am 4)has
03 1)and 2)or,Unless 3)notonly, but also
04 1)Both, and 2) neither, nor

05 1) Have a dream, and you will be able to achieve more things.
2) We as well as they can't understand what he says.
3) Neither he nor | expect praise from our teacher.
4) Not she but | am going to dive from the cliff.

06 1) Keep in touch with her, or you won't meet her again.
2) Recycle paper, and you can save a lot of trees.
3) Not only she but also her children protect the environment.
4) Neither we nor she likes playing games.

3) either, or

01 *‘A#ototL|2t B='= not only A but also B, ‘A%t B & CH'= both A
and B, ‘A= B= OF'2 neither A nor B, ‘A7t OtL|Z B'= not A but
B= mBISICE ‘~afiat, J2{H -8 Zdo|ch e (HHR + and), ~alizt 2Zx|
UOoH -5 Zo|CH = (HHE + onNZE HEFSICL

02 1) EntHIQI2 & Cf ofdlish= A2 Eotsict,
2) MB|= LIz Stmof ARMS 7HRE A
3) A|O|E20t ofL|2}t LI= 1 2 lol| &M
4) 1=0| ofL|at 7t 1 EIS 7t

*both A and BE &4 24 SAIZE &1

. neither A nor B, not only A but
also B, not A but BolM SAts = $

01| SHECh

-II'I
o

03 1) U= 1 Ziglofl XIFEICHH a2t 22
=1 xiofl XIsHzt, 22 b= O
2) W7t X3 HoiS HiRX| Y=rtH LIS £3/8
= X3 Yoi= izl 2X| 2o He= U
3) Ol =gt okt ARFE EHIRHCE
* XS LEHHE ifE2 (HHE + and)2 HR0{ £ 4= U3, if ~ not2
unless=o|Lt (BH2 + or)= HH20{ £ 4= ULt A as well as B not only
B but also Az uH20{ £ 4= it

04 1) Jld4= #ES 73 2o B
— ettt =

3) 152 18 sgadeR MEE ot = 252 O E sg3EeR
MEE Zo|ct,
— 82 I a|E sigsges MEE Zolct

*both A and B& ‘A%t B £ Ct, neither A nor B ‘A= B= of!’, either

A or Bi= ‘A0|7Lt BO|7{LI2k= S20|Tt,

05 *‘BZ 7IM2F= have a dream, ~ZE8E gae 7]
from, ‘~0ilAf Cto|YE Sttt dive frome

Hu
H
e =
rEk

06 * keep in touch with ‘~2t H2t5iCt, saves “Ar2|ch2k= So|ct,

Uit 29 » HAPES o| T H4AL

=
|';H_-|—|-—Ir_- > WB p.58
01 1)if —that 2)that — if/whether 3) Whether — That

4) What do you know— Do you know what

5) Do you believe who — Who do you believe

6) did he stay — he stayed 7) what — that  8) that — what

02 1) if/whether she is going to record her song
2) where he buried his dog
3) ifAwhether they will offer guided tours

03 1)that 2)That 3)if/whether
5) What do you think

04 1) 0llc&0| M7|S LHAMCh= 22 ARMO| OfL|C
2) Old= O50| 580 stofdtig 7h=X| 22Ct
3) He J7t RAS X2tA Y Sictn MZIsH|?
05 1) When do you believe he met her for the first time?
2) | asked her where the Olympic Games took place.
3) | wonder if he overheard what we talked about.
4) He doesn’'t know whether she invests her money in stocks.

06 1) We wonder if/iwhether the police chased the thief.
2) Who(m) do you think he fell in love with?
3) She knows what | borrowed from him.
4) That the driver saved the boy is true.

4) Do you know what

ot ofri= Zdo|ct

01 1) I§°J§¢—7}74 Syl
2) Lk= 17} 00| AF{LIE OHA=X| 2ELE

3) :LEOI ZEXIIRRI Blg 7EX| 1 QUCh= 242 ARAO| OFLICE,

4) Ui 27t 28 CIRIRIBHER] ofL?

5) He a7 75 QlX[stota 2iuf?

6) L‘I‘— 27t ofA| ofClof| Al HER=X] OFL?

7) Lk= a7t 7 |X2 0idlfshs g MY £0tsichs 2 YTt
8) l-‘I_ 7} RS XYooz MEHSH=X| OfL|?

*1)3)7) M&At that2 HARE 0|80 30, X0, Ho| &S 5t ~dhe
Z0|2k= S20|ct, 2) if= HAFRIOIA ~QIX| OFX[2H= 2|n|2 ALSEIH
whetherE B0 £ 4= QT 5) ZFHo|2 20| A ZZof believert 2 0”4
O|2AIZL 2% TH o= LERLY 4) 6) 8) QI2AI7t U= ZHHCIER9| 0l
(QJ2At+ (F01) + SAHOICE,

02 1) A: Ol Aplo| m2fE =38 HL?

B: Ltz Ou7h xple| Leals =3 8X| 2at

2) A: = 10| ZOHRIE ofElof 2UL?
B: Lt= 217t 19| Zotx|Z ofclofl 2U=X| 22t
3) A: 252 7tol=7t HE ofe MIEat?

B: L= 50| 710|=7t HEl of#S MiIZst=X| 22t
*1) 3)2d2At Sl ZHEeI2R2] ofa2 (if/whether + 0] + SARO| T,
2) QJ2AP} QU= ZHEOIR 0] ofe (QIZAF+ (F01) + SAROICE,

AFEIZ 0 B0} F0f, 250, Hof 282 540

3) Z&Al if/whethers HAFES 0120 ‘~QIX|
o) +

03 *1)2) ¥&Atthat2 &
‘~5h= Zd'0l2h= SE0|ck.
OFAX|'2k= SE0|ct 4) 5) SIZAPt U= ZHHOIZE 0| Ol (IZAL +
SADOIXIEE F=Hofl think7t 2 SIZAZ 24 M o2 LERCH

05 *'™z|ctE take place, ‘RECHE overhear, ‘=2 FAl0ll EXI5ICHE invest

her money in stocksz Zaisict,

06 *'ZOp7ICl'= chase, ‘~2F Alol| tehx|CHe= fall in love withZ ZESiSiCt



Unit 30 » EAPES O|T1& &AL

> WB p.60

01 1) while 2) while

so, that, can’t

3) Though/Although/Even though/Even if
5)so that  6) Now that

Though/Although/Even though/Even if ~ 2) As/Since/Because
3) Unless  4) After 5) because of

Jd= 2o B30 2&517| el Bls| mot=5
O AHE2 obF £EshM 1 0|AEZIE B 4 UUCL
Ti= QFHHUEES 37| W20l 3 X Aol YEJHCE
7t 39| Z2HS TISHK| =0t 22 ZukE K|

This painting is so modern that he can't understand it.
Although he was very patient, he could not tolerate it.
They walked carefully so that they wouldn’t slide on the ice.
4) If she persuades him, he will confess his crime.

02

03 1 A&stn ATk
7

3

4 =& Zojck.

04 1
2
3

05 1) Although he whispered something to her, she couldn’t hear it.
Unless he refuses her invitation, he will come to the party.
She was so nervous that she couldn’t do anything.

1)
4)
)
3)
)
)
)
)
)
)
)
)
)
)
)
) He dreamt about flying in the sky while he was sleeping.

1
2
3
4

01 *'~5l= SO} ~slhe= tedol'= while, ~IhE0l = now that, IS
ough/although/even though/even if2 £t ‘4L~ M
(so ~ that + F0{ + can't), ~sl=2'2 so thatoz #rt.

U
+
E_‘E
Fl'[f

02 1)Ia=x= ;
—HZE s XI =gt FERA’XI‘?J ze e
2) 1= 1 AEE
=43 i.%% SHF
3) O50| xR Ig ES6HR| °*5E+‘Pj 0} 58 ES5HK| &2 Zo|ct.
4) D4 sms E5HY| T 22 XH‘—EA 2 ict,
= Jl4E U2 XIIZAIE §F $of StnE St
5) L2l WE0| EERU7| 20| 047|0fl XISHEZ ATt
*if ~ not2 unlesset Z+2 2|0|0|H, because Floll= 2&0| Lt because
of Folls HAKT)7} L2Ct,

03 *sothat2 ‘~3t7| 215101, (so ~ that + F0{ + can)2 ‘T ~aHA & &
ATt now that2 ‘~317| 201’ unless= ‘BHef ~3}X| =CtH 02k
£eolct,

04 * '&2d0| U="2 patient, ‘Frt= tolerate, ‘DlnAX|CH= slide, ~2l 25
XI5ICHE confess one’s crimeS 2 ESIBIC

05 *‘Zafolchs
SAPEOIAS

Whlsper dream2| IAHS dreamtz £Ct x719|
STHAIRIZF DZHAIHIZ CHAISIC

Chapter 1 0

Unit 31 » HH|CHEHAF who, which, that > we .2

01 who 2)whom 3)whose 4)which 5)whose 6)that

02 1) Jenny supports the child who/that has no parents.

)
)
)
) He has two cats which/that are cute but fat.
)
)
)

traditional houses.
The tree whose leaves turn red and yellow looks very beautiful.

1) who/that  2) which/that  3) who(m)/that  4) which/that
5) whose  6) whose

6)
)
)
04 1)who/that 2) which/that 3) whose  4) that/who are
)
)
)

03

5) who wants  6) whose

05 1) Brian has not received the parcel which his girlfriend sent.
2) | know a poet whose name is known to many people.
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3) The teacher is scolding the student who threw garbage on the
floor.

4) The information that he found was very useful.

5) The foreigner lives in the house whose roof is made of
traditional Korean tiles.

1) | gave the beggar the coins which/that | had.
2) Sora has two friends who come from Mexico.
3) | know a woman whose eyes are big.

1) YlolEl= AlgollM Ush= AlZolct.

2) 7}t #ESH OfAl= ER2|AER M Ui

3) 712 ElX ol =2 1 04XP7} Lhel Fio|ck,

4) Edinl= 8412 4= 7|Alo|ck

5) 1= 55 7129 Ee H1 Q= %27t & 2 Ak

6) |2 2H|E CiR= QJAk= TRt olAfo|ct

7) ZHol| A= 22 Fo|et FijojMolc,

*1)~6) MALE AR 1 ZEACHHAF who/that, AlEY i which/thatg
ARSSHCE ML ARZI0| 1 2IAICHEAREO M Z20f &2 & tlhi= who/

that, 2892 g2 & o= whose, 20 92 & = whom/thatg
AL} MSAIZEALRBO|LE 520|101 ZHACHEANEOIM 301, 2X0f &2 &
= which/that, 272 982 & = whose/of whichE #ct. 7) =2
HACHEALZL O|Ti= & 2tol| U= SAk=s MEAte] ~0ff YX|AIZICH

1) A
2

HILK= 71 0fo|E $2ipict. 1= REHo| Y.
3 1Yo\ 5 Ol2]7h Uk, IHES AP/ S
L= 3t 3l e °'c+ o] M2 20140 ST

AR FACE Lio| 0fS40| 18 BT Aof Bict

aoige pe B mem 2ict. S xlctoB0) RS W
T LRE 0f ol BeICt, Te| YSS B0l S

DA E&ARRE CBA 2122 St who, which, thato] Sic
c

h

SEslct

vvv‘é’/vv

4

ul

6)

*

|

) 4) MBALTE ARZIO|22 who(F2), whose(AR2), whom(EXZ)2
. 2) 5) 6) M7 AFRO|LE E20|22 which(FH, S827), whose/of
ich(ARZ)S 2L} that2 MBADEARY, A, &
{7} SR Z0|OH MOIC}

= !

i3
1)
M
L 2
w EANEE NI
_7'<_

1) Qito] XHAIO] 3 B ot o] Akt

2) U F7 Hake 2 e Jise skt
3) H2/0[210] K|LtZR0) Bt MALS HAIE Fj2E(CY,
4) 2510 7hxe 24l mixfo|ct,

) e Zurol ofxjollA| e BT,

) Cl2l7t 22kl ojxISS taf FH2.

1)3) 5) M3A} ARZI0|22 HACHHAL= who/thats A0, 1)2 —’F—%
32 =X, Si= ARASE 20t 2)4) 6) MEAZL SS0|Lt AIZ0(=
tH¥Ak= which/thate @ 0t 2)= 4, 4= 262, 6)2 _).\_%E.QE

o U

*

f %l
=g
1) L 7IME 2 7|Xk= oflHof| MM o|Uct
2) 17t i OFRl0fl EF= 11 H{AL BHAOERIO|CE
3) L= =7{2|7t X258t 1 slof £0|7} Qict,
4) 2ol M 2 1 Q= 0l0|S2 oiY Eolct
5) ofcl2nt 22 Msixpt 712 Blehs AH0| 8 E Qlct,
6) ARFI} U FTQl O Tl= TS SR 9| AKS T
* 1) M#AIL Al2K(the reporter)o|m Z=2{o|c}. 2) ME#AL7} Ak=(the bus)olz
2xZo|c}, 3) 6) MEAZE ALZ(the movie, the Shop)Olﬂ ASZ0|C}, 4) 5)
Z27{ B HEAR} O|T1= | SAH= MEHALO| Z:0f 2URIAIZIC

* A= parcel, “~of| A Z2{X|ckE be known to, ‘OFgt
7|4L traditional tiles= Zsisict,

X|CHE scold, ‘TS

> WB p.64
1) that 2)that 3)whom 4)What 5)that 6)what
7) which
1) (that)  2) (which) 3) (whom) 4) (whois) 5) (which is)

2) that — what  3) that — which

4) which — that

The boy who is delivering milk every morning is an orphan.
2) The pen which/that Terry lent me yesterday looked very
expensive.

1) that/which, what

2) who(m)/that, of, of whom
3) which/that, in, in which

)
)
)
1) what — which/that
)
)
)
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72 AZ|=OlEL

/d% LHZ 0|2X] of2t.

7t &2 217|50| of 2R
0| RHLET 40f sh= T AL49] 012

What | want is a glass of water.

My mother bought me what | needed most.

This is the last train that leaves for Seoul.

Brian is the very student (that) Suzie hung out with.

o g7
1
2
3
4

1) Qo= 71 Of2AR 2XIE B

2) 0| ATEl= L7t HO 2 H B il%* I%ﬁ

3) HlLl= W7 BXI1E 2YE momr.

4) 471 b =St A2 1| =30|ct

5) 0| HiFst= LH7H Al 442 Zdo|ct

6) Mol Al gle] FHLU &0 U= ZE EoFMIR.

7) J= 7t 30 Qle 1015 BX| 234ct

* 1) 2) ML t0fl the veryLt ZMF0| U™ thatth 2Lt 3) 7) S5
TACHHAL 2of| FX|AZE JASH whomO|Lt whichgh 2L} 4) ~ 6) &0
MSHAP} Q1O ™ MIHALS Totsh= BHAICHEAL whato| @11, M3AZ| Qo

whato| & 4= gict.
1) ®ILI7t ZE5k0 20{ Sk ARl CHHAT Lof| A sl .
2) 227t ES5toF & BEI7|0f XMah Us SES0| %ol ULk
3) HI27t ZAFAE 1 =012 Lo] Fxof| At
4) M MEs 1 Qe 1 HXke Le] O XX 221t
5) gfoll Z=Xt=l0f Q= 1 Xk= Lie] Zdo|ct
* 287 pAthEA (whom, which, that)2} (24 ZACHEAL+ beSAh=
AEESE 4 QI
1) Lk= olslistz| #12 =o| =it
2) Jl4= E2to[0] LA 25t Zig 21 4= qlct
3) 152 ofx| 22|17t oh7 IJHEH 2XE ER5k= S0Ict
Hzs EEP } 2e|m Q= AED) IS Hotat,

xtoj| MaiAL7E Qo™ whichLt thato] 1, MalAZt gloH™ A-l:.HME
ZACHEAL whato| 2Lt 3) 4) MX|A} Foll= BAICHHEAL thato| &
o, MAHAR + S2)Y M= thatah 20t

1 Ae zojolct,
e

1) 0 Ok RRE st U

2) H|2|7} of x| Liof A LaiE H2 0

1) 0|2 117t Lto] MAMEZ AL F Zi0]ct,

2) §l2 09| %27} XA sk= 2717t Uk

3) Q1FI7t Lh= BXIZET}EfOt EAIS WEEt Zio]ct,

*1) the thing which/that2 ZZAICHEAL whatat HH0{ £ 4= QlCt. 2) 3)
TAHHAE HRIALS] 2X0] Aste 8 nf MRS BACHHAL 2ol £ 5
QUCk. SHRIBt that FXIAF Slofl 2 4 gict.

=T m

* postpone2 ‘OIELY, be sold out2 ‘Ct Ha|ctak= S=o|ct

*~2 S5l M MLITHE leave for, ‘~@t 0i22|CHE hang out with2

> WEB p.66

1) where 3)why 4)how 5)which 6) which

Bora didn’t say the reason why she was late.

She remembers the day when her son got married.
The town where we arrived is very small.

| don't know the way/how | download the program.

1) which/that, in which, where  2) at which, which/that, when
3) why, for which 4) Whlch the way, how

2) when
1
2
3

4

1) why — when  2) which — where/in which
3) the way how — how/the way  4) where — which

5 which — when/in which  6) for why — why/for which

The reason why my sister quit the job is not clear.

It snowed heavily on the day when my nephew was born.

| want to know the way | can get rid of the virus on my computer.
We are looking for a restaurant in which there is a parking lot.

1
2
3
4
The gallery is the place where we can see many kinds of pictures.
| can't forget the day when we met for the first time.

This is the way/how we can use the machine.
There is no reason why we are scolded.

1
2
3

4
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*

AlZ= Lo] 0|27} A= =Al0|C
OiE2 2|7t HiTtoll M e =+ U=
L= F2lo] mlof= K= & J2HE OIR
L7t =2 & 2= U= Y-S o7l .
EU= LH7E 47 ol 7HX| 242 0IRE 22Ut
27t ATS ok T Fml&2 Zot 2ol
HRARE M EAY
H

A=olct.
= 227t

o where, Azt o when, 0|R¥ ©f why,
2 mf hows 2Lt J2{Lt howss M3AL the wayet S & =10 &
PLIZH 220 BAR A= (FRIAL+ EACHEADZ HHRO]

ok

EH
=
= M A
] £ 5k

O 0!

1) Hak= 1 0|RE Lstx| 2T 1H= 1 0IRE X123t
2) Old= Odg 7I9Sitt 40 ofs2 ol ZEHC
3) 1 0i22 iR At 2 | 11 oksof =ERC
4 Lh=Ows B0 Lo Yo D o2 “*EEP.
¥ TASARS TSR AL A8tS Sio, where(Z4), when(AIZH)
how(&&)7t °'Et. ﬁ%“*} EHOI 2 off the wayLt how % & ottt
the way hows
1) 012 Lto] ofoiL|7} 71dke 2lofl Z&lo|ct,
2) th & 7IXP7} mLbs ARNS f01I71| LHFML.
3) L= Lio| oM7L HHiE B2 0IRES elch
4) U7t T3S DHE wiHs %IEH‘—J.
¥ EAHEA HXIAS] ZX0] HEs
ATk (FX|AL + ZAHEAD= BARAR H0]

B 0f HAAE BACHA 2o B 4+

& % qlct.

g2 e 20| 1js Aol
07| 2217t 5= Q218 248 4 UL Aol
SUSOI 1 BHIE B 4 U WHe 2

)
)
)
4) 017|= Lt2| 7150] ofTof| &tH ofmtEo|ct,
)
)

E

U= 7t Zo2 S0k aiE 716t ?
6 |-1|7}:lfJ°|01| EAMGIX| 42 olR= glct

* MeliALTL 1) 5) ARZKthe season, the year)o|22 when, 2
restaurant)OIDE where, 6) Olw(reason)OIDE why7t
giol o= the wayLt how £ & GILIE 2L} 4) HX|AL
04%‘2 ata2 EACHHAL Whlch7r 2} 6) TRIAL] ZZ{o]
A iAol

a
b, 3) MEHAL
| 2xi0]

)&
tec
ne|
SHELE

2

FIF
FIO

*aBkRCHE quit, ‘MIZASHEHE get rid of, 'FXIE2 parking lotolct,

* 'OfEttCH = be scoldedz &SBIC

> WB p.68

1)who 2)which 3)who 4)which 5)whose 6)where
7) which  8) when 9) which  10) whom

1) 2& A=0| §t Y =, = oM 8Hg 712

):Li Stuol|l M +3t2 7t2Xl= MZ0| 5t H Ut

3) Lio| oisMe2 = otz| 207t led, Lot a%ES
4) Lto| o{SM2 L7 A ZE 7H7t S Of2] QUCh

5) $t=2 20020l =S A=, O SH=EER 4
6) 20022 st=at =0 =S JHEISt s{olch
7) LY Lol 2= P=o= mid 21|, 2320 a2 Zo| Al
8) Lte| 2= Tl4o| Ho| A1 Q= Liztol|A Am Aof St
1) which  2) whose 3) where 4)which, and it
5) who, and he

6) when, and then
1) that — which  2) which — who  3) who — which
4) it — and it === which  5) which — where
1) The child often bites his fingernails, which is his bad habit.
2) My nephew has just entered Harvard University, where he

studies economics.
3) | have two close friends, who attend university.

At =it

r)— 1'||'

Tt BF of22l=tl, 2= Lhof Sl Aot
TYER AEMA 2=, T2 ﬁ*w‘ =
E A2t DEIM=L, THTHHOE

[H0l= 1 AlRoll EA3t=d, Zl7*°
to] 7 HREL= A7} =01M OFF 2= K| ¢4 f
I'—foHOH L= @7t2loll Zk=tl, A7IM L= T
Z0I5IX| =t 3t=d], Zl7*° 1 SlZo| At
OfM| TEIS =, 2 2H=
AU, 22 LH7HEROILET | "*Oil Xloiﬁtf.

MM

w N

Y
)0
) 21
4Hx
5L
6)
7) llil Ll EUE

) L]

) =M
oIS

9 Oil’SOiI =37o|
10) 2= Ml Eel ofsMo] k=t Z22l7t 252 e ohejof| ZoiRict

*1)2) 3) 9) MBAZF ALY M= BACHZA who/that, Al20ILt 52 Th=
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which/thato| 2ct 8tX[2t that2 AlEXQl ol M0|X| =Lt 4) 7)
TACHEAF whichi= 9to| L RS MBHALR 8 4= Urt 5) MBAL SSE(My
dog)o|z tWIM"*Oﬂkl i%’—‘. SR =t Whose7} 20t 6) 8) MBALT}

=
AlZHY = ZAEA when, BAY ti= ZASAL whereZt 2Lt

tel ojojs

*EAMC] AEE Y2 B e M2 siAS 5HH, 0]
{5H = aiiAfpit.

Z01M SiABICE Ao 82 BAIERE siAst

TESESN
SHE| 2 = MEAE
1) 2= 1 Fo2 S0izk=d| H|0] UL
2) Hi2le Jue| it Eatet S| Ab=d|, LSt el 2aEHo] S22 47|
mj2o|ct,
3) LIe| 7152 QI=2 0i3lE Zk=0l 77|M R2l= AlRtolM HELS Rich
4)J. K. Rowling2 ‘sla|=Ef'E M=r|, 2712 7Ho= TA=0f Qct,
5) ToZ 7t= 50| ML= 2210|212 PHgter|, s BACE O|AHZ 2t
LML
6) Lto| EottXl= 1950 0i| EHO{LH=E, 1 o SH=2740] Loict.
("*—*—A I+ CHEADE BAHBALR, (F&EAH+ BADE SASAIZ HH20] £ 2

l_

Ch BRf=0l, 228 +8l0] ol SUCH
HI'_%E |, L7t gIHS| 222 §47| mi2o|ch
|th & Jackeld|, 7{71= mxiz Rsict,

Qt=tl, azd0] 22|15 =2t 3t
Eoc= IE’EIOI— El,*—Ev— ‘—l'-il H7IM J= dg s U= AHES ,
i) that% ALZQ HolIM £ 2 gln, 2) 3) MEATL ARRHKaren)Y T=
A CHHAF who, AF2(Smith & Jack)Y = whichg £ct 4

whiche ol FLt B MALZ & 4 Q1 5) MAZE ZA(taly)
A2 whereZt Silif.

ol rES S = bite one’s fingernails2 Zaisict.

1) Whoever
5) wherever

3) whoever
7) whichever

4) However
8) whomever

2) whatever
6) whenever
1—7} Shof| XIZHER2tE O= He dhe Zdo|ot
s %4° A2 =7 EX| E20f &7k 2 QlCt
Dil-l 2 010|S0| Edt= A2 HEX| ot = Ao| UCt.
Z|Mg Clatiof stct

1
2)0
3

SIMS2 FAS SX2t=

N

Jor

2) whomever — whoever
4) Whatever — However
6) Whenever — However

4) Whatever

)

)

)

)0

) of

)

1) Whomever — Whatever
3) whenever — wherever
5) wherever — whenever
1) whoever 2) whatever 3) whenever
)
)
)
)
1)
2)
)

5) No matter how

1) Whoever doesn’t follow this rule will be punished.

2) Wherever you are, you can use your smartphone for the Internet.
3) However early we get up, we can't arrive there by five o'clock.
1) Jinsu does whatever pleases Inha.

2) Whoever likes soccer can join this club.

3) You may take whichever you want.

1) £10{ A0 Snfet A2 L=REX| S8 Zofl hE Bct,
2) o] Test 22 AEX Lol i FAIL.
3) LI A HH) 95 MRS FREX| ARIS FAC

4) ot |7t HAIS| LB EIX|2tE 1AIZE Bhofl 1 Y BLHX| 28 2ot
5) Lto| oLz B 21t LRIt = 22 0{CIEX| A1 A0 SHACE
6) L= u|7t OFZ miotct FAIZ F{sHok Stk
7) Ol RHAlo| MEfSH 242 o= ZI0|EX| BHEEE 0|k
8) Lk= LH Ojo|7} Eo2 2|1 2& AR S7EX| 2t Zo|ct
% —%—-‘r’riltwhoever(—’.(—li), whomever(ExZ), ‘2U0|EX|, SALX|2t=

= whatever, ‘ot22| ~&x[2t="= however, ‘AHEX[= whenever,

‘0{C|EXI'= whereverz £c},

*whoevere ‘= |, FRX|2tE
A

STEX ', whatevere ‘2S10|EX|,
FAUX|EIE 2= Lo SHAMSITY.

-|r

1) di7k 20| 2k of7 [EX|2ts Jld= 0k3S HHRA| @42 Zo|ct,
2) = Ho| AREE AR5 Hloh= A2 FT0IAIEX] Yalf s &0t
= L7t ofcloll #EX] 42| FHEof I & Zojct,
= S0} 2ttt
FCERIAICY,
O & = gl
SAZE2Ct

3) Lk

4)ZMI°40I OFF2| ofSXI2tE HEIS2 Al
5) Lio| HEHo| AH3lzS & miotct 0}H1XI= ago0
6) |-1I7} OrFE| B2 =2 7K1 JUSKRE ZE HE

*2) whomever Holl= (01 + SAH7t 211, whoever Folls &

42 Workbook

> WB p.70

05

1) HEXIE Ztdsk= A2 ST0AL 0] ZEES HUE 7o,
) 152 W1 N2 A2 HEX| 027 ATk

3) L= 222 mle= 1HI‘:XI Ltofl Al Hstsie St

4) R Uo| Yoidx|at= 22| BF= 047]of A2 Holct
5) olR2| FFER|tE ’éM Z2 X2 it
* anyone who = whoever, anything that = whatevero|t, {no matter
+ BAAD = SEFAARAAL + -ever)o|ct.

* g Al

=

= be punished2 Esisirt.
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> WB p.72

is 2)are 3)is 4)is 5)is 8) are

10) has

2) Most, are
6) A ride 7) Three weeks is

2)is 3)likes 4) have

6)are 7) wears

4) The number, is
8) All is

5) is

Politics is
are

3) Each, is

consists 6) were 7) was

)

)

)

)

)

) Two thirds of the foreigners visit this palace every year.
) The number of people participating in the meeting is seven.
) The blind are able to read books using Braille.

)

)

)

)

)

Every soldier tends to like girl groups.
Physics is hard to understand.
Most of us have to look for a job.

EZo=Z FYslct
50| 35 EXEECH o =it
S0 S5t
7*° Hi7t 1 HekE 270 S235ict
S I'=°I 7t $H=2olM 7tk ‘A’AEP.
Oll= 22 AtS0| Ut
7_[!28 7}7;|. HHI_}Q L_'L OI|:|.
A °|0I 2 Aes B2 RS0l 2lshM ¢i5lm et
1 SHME S0l EZE CH2 Lzt Sdlo|ch
t"o"‘a‘S SHMSS AlZfshor st
f2} OIZ, M=HL B4 FF3n, 2) (the + YBAHE ~5i=
AL OIEPE SO 24 FFSITh 4) AIZES BiLtel Hdoz UEt mi= T
F= O}Eﬂ 5) 6) (the number of + 24 AL+t AP, (a number of +
24 HAL+ 24 SAHE #£ct 7) 10) eacht everys B4 F35k0,
8) Z0i(the poems)7t H4~0|22 E4= SAPt 20, 9) some of CHSol =4
AL 2H 24 SAUt 2L

*2) 5) 8) (most/24+/all + of + =4 HARO|H
all + of + == HARO|H Tha= SAL 2L,

BT O

_jOII ;-olI rru

ﬂ‘:* o=
PN
te 3t
2 8l

o

7pct
241
M
ol &
G
)2

)

* =

0
1

|— F|r|

3

m

SAZH 1, {(most/24

0= 50712 &2
st2 147} Alofsie T=olct,
S AHS 27 07|2 BOlBiC)

A

" R

2=

2 MHE2 252 XI2|E LEahof Bl
a

o

=S

|0 Qict,

Z0|2| =gto| o] Axt Qtofl UC.

2| gt ZI7E 25 1 miE|of] ZHAIZHCE

W =2l thE2ES S| gHFUCL

)2) L2t OlE 1t M= T 51, 3
T SAZL 2L 4) The young2 ‘&2 A
5)~ 7) half of, most of, all ofe fooil e
S SAZLRH 24 IS

o i

<
. ®

* ol EAISHARIE'2 people participating in, XIS 0/83t0{'= using
Braille, ‘~2 Atz Hl 25K 222 not enough to buyz ZEsisict,

= Zgo| ke tend to, ‘0I5 | 012422 hard to understand,
x|ei2 A= look for a joboz HEisict,
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was 2)would 3)had 4)discovered 5)run 6)is
7) consists  8) had left 9) couldn’t

1)
7)
1) he wouldn’t be late for school
2) my brother was lying
3) Karen had already finished the work
4) the Industrial Revolution began in Britain in the 19th century
)
1)
6)
1)
2)

5) if she were you, she would not go there

1) would come  2) took 3)is 4) had been 5) might pass
was

1) Jennifer said she always goes to work at seven in the morning.
My sister promised me that she would not be absent from
school at all.

3) Did you know that the Gulf War broke out in 1991?

4) | heard that your family had been to Africa before.

5) The teacher taught us that orange juice contains a lot of
vitamin C.

6) A kind woman said that we had to transfer from subway to
bus.

1) Brian said that he takes a walk every morning.

2) Rachel told me that my mother was waiting for me.

3) The foreigner didn't know that the Japanese invaded Korea in
1592.

4) My family thought that my sister would win first prize.

5) My grandfather always said that blood is thicker than water.

6) Kate said that she had been in Korea for three years.

1) ELlE A2t7F 19| Xt Qtof| QUCHn ALY,
2) Hi2ls 9| ofmLI7H 2 =2f5t {2tm MZigict,
3) Lo oHHX|= Liol|A| MHAS 27| Fofl KIS sHot Shot LashAlct
4) 2= SHMATL 1492501 0|2 LZA3HCHD BRI
5) Lto| StHLIE 123t 20| ZA SE2Ctn g AL
6) 152 H|0|Zlo| =22 +E2k= ZE UQUTH
7) 2 ML 20| AtAQL £AZ 0|20{X QlCtn 7t XL
8) a4 J149| HRIxIFIF Q2| AR mHEtckn SUCT
9) E0|= 0h TZaHA 11 3]Qfof| &AMEH 4= iUCt,
* ZEO| A7 UAY T BSLEEO| AMlE qp7{LE A AR LS 4 Aok a2t
lfow AR, BiRHol HHEE S, B ZIZ|LE AL At SIXfAIRIZ M1,
APE AME2 EHAF A2 MEL
1) 2= stmol| X|ZI5HK| 42 S 2f4ict,
— 1= Smof| XIZ6HK| 22 2 A3t
2) Lto| OMHX|= Lto| HE40] ARSI Q= ZiS otblct,
— Lto| OHHX|= LiQ| HES0| ARSI U ZS 20 AN
) 22le Ho| 2 Y olo| opxctn gh=ct
— 23|= 742i0| 1 22 olo| OFECHT YUCH
4) SIS M HO| 19M17|ofl F=20lM AIRBHCED BHRCE,
— SHME2 AMeiSiTHo| 194170l F=0llM AIZHCHT BY AL
5) a7} H2tH dldE H7| 71X 48 Z0l2kD e Mzt
— 47} L2t JdE 47| 7HX| 42 Z0(2H T Mgt
* Sixile 1=, oot SxttEE nm%i HHEECH SIARE AR, 7P
ZHo| AFI7} HHHOI = BI5HK| Q=L
1) Lto| o{H{LI= OFHRI7} 2 Tz 22 Hizkalct
2) 2210|912 Liof| Al ZRA ChS{H0| 178901 Uoq kTt Lh3irt,
3) Lto| EotHRli= 2AA0| s|AA0|2tT et LS
4) 2= a9 ofo{L|7t Y3 S0t ot NCh=E Zig UYL
5) AOIEE Aol &Z517| HshM Lals| Z2UC
6) ML= 170| 27ts3ictn MZigict
* ZEO| A7 UAY T BLEEL| ANlE q7{LE 2RI S 4 Aok, a2t
Z{o12 Shak SIRHAIR, AR AR SHA DA IRIZ 220t
* M2 ~ClE not ~ at all, ‘Yo{LicHE break out, HEOA HAZ

ZotEICHE transfer from subway to busz ESICt
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01 1)tells 2)that 3)said 4)told 5)then

)
02 1) Tony often says that he is lonely.

2) She told her parents that she wanted to live with them.

3) Mr. Lee told his students that they had to do their best.

4) My grandfather told me that that was for me.

5) He told me that he was looking for his dog then.

6) The woman told him that she had entered the building the
day before.

7) Suzie told her mother that she would clean her room the next
day.

03 1) lwill 2)Youare 3)lreached, yesterday

04 1) tomorrow — the next/following day  2) my — his
3) may — might 4) sent — had sent  5) you — she

05 1) The famous singer told the reporter that he would get married
soon.
2) My nephew said that he wanted to learn how to drive.
3) My sister said that she planned to take a trip with her friends.

06 1) Ken told Penny that he would buy a ring for her.
2) My grandmother told me that | resembled my father.
3) Bora said to us, “I have never been to a foreign country before.”
4) Kate said that she was reading comic books then.

01 1) Lte] ofpfLl= Lh7t R & 4= UCtn B4 Tasathict
2) 2= ROiHAET} ¥7te|o| ~Eatn B3ct
3) 19| 0|2= 7t LIS WEE Hatn 23ch
4) Bet2 MAHS sHSolA| XHilo| S MMEo 2t RiC)
5) 1 AHE2 O 015 7|cH2 | AACHT THCE
1) g LBk = L0122 dxH*IHIﬂ%’“*H Z)N 5

thatg £Ct 2At now — thenez HF’.EEP

02 1) ELl= &5 “Li= 229 2t Ysict
2) D= KM= 22D 3 AT HoiR "atn 0| S LR
3) & M2 19| SHS0A| “of2tEe £[ME CheHoF BiLIC. 2t 2eEsHAlCE
4) Lto| EottX|= Liol|A “0|Z2 HE |5 7ok atn ehstpct
5) O= HollA “Li= XIg Liel HE 3o o] a2t 23ict
6) 11 0fZk= Z10i|A| “Li= ofxll 1 Zi=0fl S0izf0f. 2t LRCE
)

7) Xl 249 oftiL|ofl A “Lh= LY Lte] g HAS Jol|R. "2t 23HCt

* ZiYaiS Za o2 BB 1 MYE A} says — says, said — said, said
to — told2 HHRLE QIZES(“ )= thato2 BT thatEo| AlMls FE2
AlHlol| LXIAIZICE QISES(* ") ote| QIEICHYAL XIAHBE AR L5h= Al2tol
Qo w2t uhm, 2AF now — then, yesterday — the day before,
tomorrow — the next day2 HEEC.

03 1)1 Ald= 1 2ol 7HUE Hatn 23ct
— 3 A= L= O S-ol| 71ie ot 2t R
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— = o3t ’Edd e 72t 23k

2) O= Lol|A| “Ltel T ool XESXH 8t 7t Ql01. 2t RAc
— = LollA 22] & oll XESAt o 7t UL,

3) I AP LiollA| “ghl2 L I AISsi= Zote. a2t LRt
— T AFE2 LioilA| 29| HiS ArEsh= Ertu 23Hct
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01

02
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04
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1)if 2)asked 3)told 4)not 6) to read

7) it was 8) she went

5) tall she was

1)
7)
1) A girl asked me where the cosmetics shop was.
2) The woman asked him what time it was.
3) She asked me how long it took for her to go there.
4) | asked John where | could take a bus.
5) My mom asked me what | was doing then.
6) My dad asked me who had planted the tree.
7) A woman asked the librarian if she might borrow that book.
8) | asked Sumi if she had ever been to Italy.
9) Ms Brown asked her son if he had done his homework.
10) The teacher asked his students if they had a pet.
) He told me to help myself.

) She told Brian not to be absent.

) A girl asked her father to buy her an umbrella.
4) The doctor advised John to take the medicine three times a day.
)
)
)
)
)

1

2

3

1) When will you leave  2) Do you know  3) Memorize

4) Don't drink

1) My friend asked me how often | took piano lessons.

2) Brian asked me if | had been to Jejudo before.

3) Kate asked her brother to feed the dog.

1) 2= 11 AR0| ARMRIXIZE EQICt

2) 19| AE LI A £27t off O SH=X| B

3) Lt| ot X|= RaloflAl 7EEC 2 2Estatn LEstalct.
4) A0l= :101I71I J1140] 0|52 WX| Yt fERiCt

5) ELl= Lto| oiS ol Al 717+ Zelx| SRUch

61 W‘"‘-' 2 ShesSo|A 22 Mg eatn Zuct

7) Dltks EollA| 22i0] HofeIx| St

8) =2 OI?JS Hatof| A | &tmofl 7k=X| 2Uct.

* O|2E0| SEATEI2 o|2At QIS I (ask +(E’“01)+ OlZAL+

S o (ask + (5&01) + if/whether + 01 + SADC| HEelZ At
HHR| SHFSH2 (tell/ask/advise + SX0] + (not) + to + SALRE)2

1) 8t A7} LIof|A| “SFSE 717} ofC| UE?"2tD
2) 11 O4xH= 20 A " Aloil 2?72t ZRiCt,

3) a4 LolA “Li7E 710l 7H= o Lokt Z2|x?"2tm LMot
4) Lk= Z0iA “Li7H ofC| M HAS B 4= QIL|?"2tm L3iCY

5) Lo ofHLI= Ltol|A| “L XI1Z H5tD UL|?"2tn L3HCt,
6) Lt2| OtHX|= LIOIA| “5=7t 11 LIRS AULI?"2tD 3K
7) Bt O4XE7F =B ALMOIIA| A7} O] S W= Ene?”
8) LH= 4=0|0jA| “LAi= o|Z2|otof| 7} & Eo| UL|?"2tm ULt

9) Eat2 M= JL42| otS0l|A ‘L £HIS FLI? 2t T3,

10) 1 MMES SHS0|H “02I252 OHJASES 0 ULIQ? 2t LiCE
SIHFE2 o|2 ALt 42 W (ask + (B2X01) +
OIZ ALt i2 I (ask + (BX0) + if whether + Z0{ +

EruE

* o|2R9
SAhe| FEi=

J= Lol “OS EMIR. 2k 3L
1‘— Hato| oA “Z25HK| DML 2t T3HCH
|-17}:U-1°I OHHXIOII A “Kol|H| LS AL FMIL. 2t LZHCE
At Z0llA| ‘IR0l M| 1 1 2kg HoMQ "atn L3t
I EPEL*’S%FS (tell/ask/advise + 2X0{ + to + SAIE) | HEf2
X HHR20| S TE2 (tell/ask/advise + 2X{0{ + not + to +
>°I FENZ £20}

LJ r°l'
J_ >

1) 1 7I%Hs 2 7ke0f) O1F BR02 2| 2t
— Z7IRKE 7K1 ‘AR Ol BROR 2 747 am BT
2) eflali= LiolA| AZo|o| FekHSE 2Un UK BUCH
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3) 1 MMe SISO 1 23S Isktn 2,
D42 SISO ) 22E lskel'ekm 2,
4) 71 2JAt= Lo OFHRIONZ £ L= 80| ORAIK| Z2kn S
- 2 oAt L] ORI £ LIS B0l DIAIK| DHALR "2k Z3ick
* ZEBHIOIA] (U2 AL + 0] + SADE SIHEHIOIA (I2A} + ZSAYbeSAL
+ 0] + SALIE ~), (if + F0f + SADE ZFHBRI0IM (ESAVbeSAF
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SARUEOR, ZFESIHOIM (not + t0 + SARIENS ZIERH0IA (Don't +
SAIE)OR L,
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> WB p.80
1) had scored 2) would be 3) snows 4) would have been
5) became  6) receives
1) (If) a traffic accident had not occurred, the road wouldn’t have

been jammed

2) (If) she liked travelling, she would be here with us

3) (If) | hadn’t lost contact with him, | could have talked to him
again

4) (If) he were an architect, he could design a nice building

)

1) believes, will pray

2) were, would be

3) had seen, would have regretted

4) had obeyed, wouldn't have been punished

) A7 =S HHIsHR| L/UCRIH =S waX| LU Hid.

) 1E0| & Yaliskx| =rtH O= 19 ol FEE 4= U ©id|.

) 7t st 2alelzols =t wtsks o & olsiE Zdo|ct

) If he made a lot of effort, he would succeed.

) Had he not struggled with poverty, he would have gone to

university.

3) If he had not hesitated, he would have taken the chance.

4) If he makes an excuse, he will be scolded.
)
)

1
2
3
il
2

If he met the actor, he would interview him.

2) If we had witnessed the crime, we would have reported it to
the police.

3) If she doesn't refuse his invitation, he will be happy.

4) If they had fought for independence, they would have gained

their freedom.

1) 27} 8t 22 o S0t MVP7t IS Hidl.

2) 1147} Apilg Bh=riH Zapt ohs i),

3) L =0| 2ot 158 AJ|IEER 2 71OIEP

4) 21471 29| AlntE RI0FS0|X| §RtratH 2= AYRS Hid.

5) 217t CHA| Hdo| EctH o %’e!ol 358 E“Eﬂ

6) 1 2147} OH{L| 226 T3S Eh=rtH Jld= ZA| Fofl Z 2ol

* 7P SRl Cif + 301 + SALS °4XH Z0{ + will/can + SAFE), 718

A= Gf + 7<01 + EAte| 243/ were, %01 + would/could + SATRE),

ﬁ; A= E (if + 301 + had p.p, &0{ + would/could + have p.p)2

1) EA D7} Lo5t7| whZof Zo| 2Rt

Ql

=

%% Z0I5HX| 47| W20l R2|et &l 017] UX| g4 Zo|ok.
42f0| Z7M 9 CHA| 0jop7 | 4= IICt.

RSN
-
il
n|
Lg

4) = 7AE7Pt otL|2tM HZ HES KIg 4 QiCh

* A éﬂ 7P T2 HHRO] £ 2= U1, R = TPEY
UAAZZ HIF0{ & 5 UCH

* 7P Sixlle ‘e ~0 -3 ZdoIck, 7P = 'piek ~H .- SHEI),
7P I AR e T ~FHCHH ---3S BIG'R SHAISICE

* = make an excuse2

* ' Hz|Z SAHSICFE witness a crime, ‘A20f| ~2 AlD3icHE report ~ to
the police, ‘S&lg ¢Iai MCh= fight for |ndependence§ IFisict,
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01 1)were 2)hadwon 3)had not been 4)could live
5) Without  6) had followed

02 1)had fought 2)were 3)hadn't hurt 4) could have played
5) would run away

03 1) it had not been, Had it not been  2) it were not, Were it not
3) as if he had explored  4) | remembered

04 1) Lh7t 9| ZNE wHteatH 2 i),
2) J4= Okx| 2 A Ok= XY #SHICE
3) =Zo| ozt L= —’.‘—9"01 s 2 Hidl,

4) AZo| Ot |2{ElH OS2 ZE5HK| US Hibl.

| wish | were a leading character in the movie.

)
05 1)
) They act as if they had won Olympic medals.
)
)

1
2
3) But for friends, | would feel lonely.

1) Without her encouragement, he wouldn’t have completed his
novel.

2) If it were not for a lot of effort, they wouldn’t succeed.

3) | wish she had agreed with my suggestion.

4) He acts as if he didn’t envy them.

06

01 1)ZLE Hez2ct a7t Fxj2istH £2 Hidl.

2) 2= HEe | RIX|TE 0| HiES BE A

3) 20| AUAHEIH U= Mopdx| R3S Hidl.

4) 20| °‘E HARSS O Q0 A Hid),

5 7t YACH 252 O HES FX| RFS Hidl.

6) U7t Lto| 315 miciatH £5 Hid),

*{ wish + Z0{ + 7S Alhad p.p), (O + SAt+ as if + 301 + AHSAY
had p.p», (If it were not for + AL Z0{ + would/could + SAFIE),
(without/but for + BAL, 301 + would /could have p.p) =(if it had
not been for + @At 01 + would/could have p.p)Z £ct.

o

Bssict.

02 1)3Hal= ool 7kX| 2AXITH OEX| HZollA MRIE Zdx2 25t
2) Jld= o6l 7+ ORI X|2F OFX| 02! Z4AE %‘%iﬂik
3) 2= =Yk St et 117} COhRIX| &
) Je= 242 g0k O 240] ez O= %ﬁ'% s i,
*1) 3) 4) 2k AbMof| tht BHHS LIEEHHS 2 1) 3)2 had p.p2 41, 4)=
{could have + p.p)= L}, 2) SxH AtAO| HIHE LIEHLHDZ wereZ X},

N

=

03 1) 19| 17t icletH Ji= M5 S Hid.
2) M8 MM QICHH L= 1 MMS ZEE 4 Qis Hidl.

3) A MY A= ofokES EEHR| YUCH

= HYA= OIX| OlOFES BT ZIXE L5ict,

4) L= 1 AFSEe| HIUHS S 7|26HX| ZaliA RZ0ICt

= Li7t 2 A SRl HIUHMS S 7| AT £ Hid|,

*{without/but for + BA}, Z0{ + would/could + SAFIE) =(If it were
not for + BAL 301 + would/could + SAHEE) = (Were it were not
for + AL Z0{ + would/could + SAtEE)0| 1, {without/but for +
HA}, F0f + would /could have p.p) = if it had not been for + HAL,
Z0{ + would/could have p.p) =<had it not been for + HAL Z0{ +
would/could have p.p)o|ctt. as ifet | wishi= 7F0f M1 SIxH AFAD
Ui El= s e o AAAINIE A1, T4 Aot B sl= e 2E ol
UAAZAIRIS £LL,

04 *(l wish +%0{ + had p.py= ‘~ACtH Z2 HIGl', (F0{ + SAt+as if +
30{ + HSAH= DiXI ~Ql XY ---3iCt ks SO 2 siAsict (If it were
not for + HAL 20{ + would/could + SAIHE)S ‘~7t QictH ---& ||,
(If it had not been for + WA}, F0{ + Would/could have p.p)= ~7t
QUAUCHH S Hl'2h= SO SHAMSICL

06 *‘Za{'= encouragement, ‘MQF'2 suggestion, ‘~0il S2/5iCt = agree
with ~2 Zsisict,
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01 1) is Brian that/who likes Jenny
2) is the lost ring that my mom has been looking for
3) was at an orphanage that/where Penny did volunteer work
4) was last weekend that/when my sister baked a cheesecake

02 1) did write

03 1)onearth 2)you that
4) at the bank that/where

04 1) 2E ZH0| Cf ARES0A S22 22 otch
2) WASO| 2E ZS Cf Ok= Z2 Ok
3) 1 A2 Y AFH AlJS dh= 22 ohck

05 1) Neither

06 1) Both of the books are not interesting.
2) It was Somi that got a perfect score.
3) It was 10 years ago thatAvhen my father planted this pine tree.
4) We did discuss air pollution last Friday.
5) Every girl doesn’t like to wear a skirt.
6) None of the students solved the problem.

2) does play  3) do welcome

3) socks that
5) does love

2)none 3)all

01 1) E20[2 ILIE Z0i},
2) Lto| ofH{LlE Sloftl EEXIZ &t Qct
3) H|L|i= 10FIol|l A RIZEALS 3HCE
4) Lto| ois e x|t F2of| X|= #H|0|22 TR

* 2xEHE BEE It is/waset that Atojoll £ LIHX| 222 that Foil =Ct

02 1)1 =7p7t 1 g Ak
2) 1 A= j O mop=2 FIC)
3) 1 R AlZE0| 250| Tl 2= s SAE,
* SAE 2z 3913 $xf B4 Z0foll= does,
AAFO= didS 2Lt

=2 Z0{ofl= do,

SR, SAE Z&sh= do/do

03 *9o|228 A=xsH= on earthe oe
o 7*"-‘#—5—8 ~5t A2 HI2

‘HMUR2'2k= %o|ct (it is/was ~ that ..
--0|Ck2k= £20|ct,
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04 *not alllevery= ‘25 Ct ~5t 242
OfL|ClEH= Eoz 28 2xe | |EIHCE,

05 1) Lto| 22HE 5 oH 2= 1 sAoilM
2)7HE2 08 S 0tRE =2t
3) 2 ME2 & 2 UXITHCIE ME2 & 2 Ch
=ZEMS0l Y —”.‘— Q= Zig otct,

USHAIX| ef=ct.

others L= .
all2 vpo] £ 4= .
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5)ystand  6) will |
10) did

01 1)are 2)hecomes 3)are 4)was
7) did Kate study  8) is her sister  9) neither

2) is a small restaurant
4) have | been 5) did she dream

4) Neither was she.

02 1) comes your bus
3) were my new hats

03 1)Soam|l. 2)So does Sumi.
5) Neither has he.  6) So did I.

04 1)are 2)was 3)doeshe tell 4)Sois her daughter.
5) Neither will his brother.  6) So does my mom.
7) Neither does her sister.
05 1) (that) Al2tE2 70| 80| 2xlatn 2i=c},
2) (Who is) Ljf AFEIZ &l Q= LiXp= Q@H5H AFRIALO|CY,
3) When (she was) 1 0{ei2&= & AQIX| 22 kS mf HES SHX| &
ol1:|-_

3)Socan l.
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4) (that) Li7} StMSOIA| 1 A2 = 7kX| =910] 07| UCk
5) (which was) x|tsl sz 2280z ntulE 1 mals X[HHFo| Mzs]
Act,
1) Hardly does Karen know.
2) | practice the viola every day and so does my sister.
3) Somi didn’t submit her report and neither did Bora.

1) & 7IX| =210] 047| ULk,

2) o{7|=2 7} 2ct,

3) EiXt Yol = of2| o7t ULk,

4) eigjof| @aE Mol Uct,

5) 2 & Yoll= Ml 2o 2 LIR It Ut

6) L= 73 Stmof ZAM5HX| 222 Zo|C

7) 91I0IE‘: 2512 719| BEEIK| LUCE

8) FH=2 of|euct, 2|1 T149| o{SM=

9) :U—i AHRINE Foict J2|m a=

10) O SMME2 ofFl E712 AlZie Bt El MEEE 5t O™

*1) ~ 5) FALLabsko| HARTL EX|E|H (FA RARL + SAH+ F0{)2
ofz=o2 £r} 0|m =017} CHHEALO|TH (FAEAIT + 0| + SAPH2| 0{20|
Elct, 6) 7) BHEATE EX|E|H (HEEAL + ZEA/beSAF+ 0| +
SAFE)O| ofmo = Lt 8) ~ 10) SHR0 thst S2/9| EH2 (So + SA+
Z0f), BH20| thst 52l0| EH2 (Neither + SAL+ F0{)2 £t
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1) 047] 42| AT} 2Lt

2) FQA Fofi= =09t Algto| Qlct,

3) L‘I—I Zoll= A 2XHS0] QUCH

4) Li= Z3 MIx=0f 7t =2 =o| gict.

5) :u_ﬂ7} 771 28 SHd Aol2tnes BE 1X| 2t

*EALE B0 EAIL EX|E/H (B BARE + SAH+ 02| 0jo2

M BT EX|E|H (FEHEA + ZEA/DeSAL+ 0] + SAIRE)2

Olmo= #rt

1) A: Lk= vzt oo},

2) A: Lt EQnict Zojl 22 F.

3) A: B2t ATIE © 4 0],

4) A: 1= ofRlighof| HEBX| 4404,

5) A: JldE 1 AES Bt Fo| §lod,

6) A: Hi2l= oA 5230,

* SHR20l| chst S2|o| EH2 (So + SAL+ F0), FE20f st S2|o| ES2
(Neither + SA} + Z0{)= £},

1) Zci ool 2 Zajof Agto] Uc.
2) S Aoloi| F=xFEo| Ak
) ;
) A

3) 3 23 RS SRl QL.
4 A: Lio| ofpjLis AaHolor  B:alfel e st gy,

5) A3 OSSRl Qg 7ok B: ol HEME wat 1 ok
6) A: ORI BLE XIM, B: OfoiLI et .

)A- 4= 7nlE ZE0}51K| ot B: 1149 oi=s A= 5t el

*1) 2) (A RAIR + B SAL+ B 0D, (HARAT + 24 SA+ 24
FOf)Z 201, 3) (LHEA + ZSA beSAL+ 70| + SAIE)O = Ac,
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